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§111.4. Grade 2, Adopted 2012.

		2.Intro.1
	The desire to achieve educational excellence is the driving force behind the Texas essential knowledge and skills for mathematics, guided by the college and career readiness standards. By embedding statistics, probability, and finance, while focusing on computational thinking, mathematical fluency, and solid understanding, Texas will lead the way in mathematics education and prepare all Texas students for the challenges they will face in the 21st century.




		2.Intro.2
	The process standards describe ways in which students are expected to engage in the content. The placement of the process standards at the beginning of the knowledge and skills listed for each grade and course is intentional. The process standards weave the other knowledge and skills together so that students may be successful problem solvers and use mathematics efficiently and effectively in daily life. The process standards are integrated at every grade level and course. When possible, students will apply mathematics to problems arising in everyday life, society, and the workplace. Students will use a problem-solving model that incorporates analyzing given information, formulating a plan or strategy, determining a solution, justifying the solution, and evaluating the problem-solving process and the reasonableness of the solution. Students will select appropriate tools such as real objects, manipulatives, algorithms, paper and pencil, and technology and techniques such as mental math, estimation, number sense, and generalization and abstraction to solve problems. Students will effectively communicate mathematical ideas, reasoning, and their implications using multiple representations such as symbols, diagrams, graphs, computer programs, and language. Students will use mathematical relationships to generate solutions and make connections and predictions. Students will analyze mathematical relationships to connect and communicate mathematical ideas. Students will display, explain, or justify mathematical ideas and arguments using precise mathematical language in written or oral communication.




		2.Intro.3
	For students to become fluent in mathematics, students must develop a robust sense of number. The National Research Council's report, "Adding It Up," defines procedural fluency as "skill in carrying out procedures flexibly, accurately, efficiently, and appropriately." As students develop procedural fluency, they must also realize that true problem solving may take time, effort, and perseverance. Students in Grade 2 are expected to perform their work without the use of calculators.




		2.Intro.4
	The primary focal areas in Grade 2 are making comparisons within the base-10 place value system, solving problems with addition and subtraction within 1,000, and building foundations for multiplication.




		2.Intro.4A
	Students develop an understanding of the base-10 place value system and place value concepts. The students' understanding of base-10 place value includes ideas of counting in units and multiples of thousands, hundreds, tens, and ones and a grasp of number relationships, which students demonstrate in a variety of ways.




		2.Intro.4B
	Students identify situations in which addition and subtraction are useful to solve problems. Students develop a variety of strategies to use efficient, accurate, and generalizable methods to add and subtract multi-digit whole numbers.




		2.Intro.4C
	Students use the relationship between skip counting and equal groups of objects to represent the addition or subtraction of equivalent sets, which builds a strong foundation for multiplication and division.




		2.Intro.5
	Statements that contain the word "including" reference content that must be mastered, while those containing the phrase "such as" are intended as possible illustrative examples.




	2.1
	Mathematical process standards. The student uses mathematical processes to acquire and demonstrate mathematical understanding. The student is expected to:

	2.1A
	Apply mathematics to problems arising in everyday life, society, and the workplace.
Apply mathematics to problems arising in everyday life, society, and the workplace.
Apply
MATHEMATICS TO PROBLEMS ARISING IN EVERYDAY LIFE, SOCIETY, AND THE WORKPLACE

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. X. Connections


	2.1B
	Use a problem-solving model that incorporates analyzing given information, formulating a plan or strategy, determining a solution, justifying the solution, and evaluating the problem-solving process and the reasonableness of the solution.
Use a problem-solving model that incorporates analyzing given information, formulating a plan or strategy, determining a solution, justifying the solution, and evaluating the problem-solving process and the reasonableness of the solution.
Use
A PROBLEM-SOLVING MODEL THAT INCORPORATES ANALYZING GIVEN INFORMATION, FORMULATING A PLAN OR STRATEGY, DETERMINING A SOLUTION, JUSTIFYING THE SOLUTION, AND EVALUATING THE PROBLEM-SOLVING PROCESS AND THE REASONABLENESS OF THE SOLUTION

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. VIII. Problem Solving and Reasoning


	2.1C
	Select tools, including real objects, manipulatives, paper and pencil, and technology as appropriate, and techniques, including mental math, estimation, and number sense as appropriate, to solve problems.
Select tools, including real objects, manipulatives, paper and pencil, and technology as appropriate, and techniques, including mental math, estimation, and number sense as appropriate, to solve problems.
Select
TOOLS, INCLUDING REAL OBJECTS, MANIPULATIVES, PAPER AND PENCIL, AND TECHNOLOGY AS APPROPRIATE, TO SOLVE PROBLEMS

Select
TECHNIQUES, INCLUDING MENTAL MATH, ESTIMATION, AND NUMBER SENSE AS APPROPRIATE, TO SOLVE PROBLEMS

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. VIII. Problem Solving and Reasoning


	2.1D
	Communicate mathematical ideas, reasoning, and their implications using multiple representations, including symbols, diagrams, graphs, and language as appropriate.
Communicate mathematical ideas, reasoning, and their implications using multiple representations, including symbols, diagrams, graphs, and language as appropriate.
Communicate
MATHEMATICAL IDEAS, REASONING, AND THEIR IMPLICATIONS USING MULTIPLE REPRESENTATIONS, INCLUDING SYMBOLS, DIAGRAMS, GRAPHS, AND LANGUAGE AS APPROPRIATE

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. IX. Communication and Representation


	2.1E
	Create and use representations to organize, record, and communicate mathematical ideas.
Create and use representations to organize, record, and communicate mathematical ideas.
Create, Use
REPRESENTATIONS TO ORGANIZE, RECORD, AND COMMUNICATE MATHEMATICAL IDEAS

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. IX. Communication and Representation


	2.1F
	Analyze mathematical relationships to connect and communicate mathematical ideas.
Analyze mathematical relationships to connect and communicate mathematical ideas.
Analyze
MATHEMATICAL RELATIONSHIPS TO CONNECT AND COMMUNICATE MATHEMATICAL IDEAS

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. X. Connections


	2.1G
	Display, explain, and justify mathematical ideas and arguments using precise mathematical language in written or oral communication.
Display, explain, and justify mathematical ideas and arguments using precise mathematical language in written or oral communication.
Display, Explain, Justify
MATHEMATICAL IDEAS AND ARGUMENTS USING PRECISE MATHEMATICAL LANGUAGE IN WRITTEN OR ORAL COMMUNICATION

Note(s):    
· The mathematical process standards may be applied to all content standards as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· Measuring length
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS:
. IX. Communication and Representation


	2.2
	Number and operations. The student applies mathematical process standards to understand how to represent and compare whole numbers, the relative position and magnitude of whole numbers, and relationships within the numeration system related to place value. The student is expected to:

	2.2A
	Use concrete and pictorial models to compose and decompose numbers up to 1,200 in more than one way as a sum of so many thousands, hundreds, tens, and ones.
Use concrete and pictorial models to compose and decompose numbers up to 1,200 in more than one way as a sum of so many thousands, hundreds, tens, and ones.
Use
CONCRETE AND PICTORIAL MODELS OF NUMBERS UP TO 1,200
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Numeral – a symbol used to name a number
· Digit – any numeral from 0 – 9
· Place value – the value of a digit as determined by its location in a number such as ones, tens, hundreds, one thousands, etc. 
· One thousands place
· Hundreds place
· Tens place
· Ones place
· Base-10 place value system 
· A number system using ten digits 0 – 9
· Relationships between places are based on multiples of 10.
· The magnitude (relative size) of one thousand 
· Ex: 1,000 can be represented as 10 hundreds.
· Ex: 1,000 can be represented as 100 tens.
· Ex: 1,000 can be represented as 1,000 ones.
· Concrete models 
· Proportional models – a visual representation that demonstrates the relative size of each place value using models with proportional dimensions, meaning the model of each place value is exactly 10 times larger than the place value model to the right (e.g., the base-10 long is exactly 10 times as big as the unit showing that one 10 is equal to ten ones) 
1. Bundled sticks (proportional representation of the magnitude of a number with 1-to-10 relationship)
[image: http://files5.teksresourcesystem.net/247018107058073248106020216196167250165128075023/Download.ashx?hash=2.2] 
1. Base-10 blocks (proportional representation of the magnitude of a number with 1-to-10 relationship)
[image: http://files5.teksresourcesystem.net/081100110154148038106073090112031018170119203113/Download.ashx?hash=2.2] 
. Non-proportional models – a visual representation that does not maintain the proportional relationship of size, meaning the size of each place value model is not 10 times larger than the place value model to the right (e.g., the value of each place value disk is indicated by the numerical label and color but does not change in size) 
. Place value disks (non-proportional representation with a 1-to-10 relationship)
[image: http://files5.teksresourcesystem.net/228037135007230083067185208048121028010213176191/Download.ashx?hash=2.2] 
· Pictorial  models 
· Base-10 block representations
[image: http://files5.teksresourcesystem.net/052110091192103127243110052009144203012095024216/Download.ashx?hash=2.2] 
. Place value disk representations
[image: http://files5.teksresourcesystem.net/167035182115110098173242242251135095209018013176/Download.ashx?hash=2.2] 
. Open number line – an empty number line where tick marks are added to represent landmarks of numbers, often indicated with arcs above the number line (referred to as jumps) demonstrating approximate proportional distances
[image: http://files5.teksresourcesystem.net/107157072107028222195194214027130229071233096015/Download.ashx?hash=2.2] 

To Compose, To Decompose
NUMBERS UP TO 1,200 IN MORE THAN ONE WAY AS A SUM OF SO MANY THOUSANDS, HUNDREDS, TENS, AND ONES
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Compose numbers – to combine parts or smaller values to form a number
· Decompose numbers – to break a number into parts or smaller values
· Compose a number in more than one way using concrete and pictorial models. 
· As a sum of so many thousands, hundreds, tens, and ones
· Ex:
[image: http://files5.teksresourcesystem.net/024066060208158088033132122155058236188176114246/Download.ashx?hash=2.2] 
· Decompose a number in more than one way using concrete and pictorial models. 
· As a sum of so many thousands, hundreds, tens, and ones
· Ex:
[image: http://files5.teksresourcesystem.net/222142123195109007205074043103155078219043125006/Download.ashx?hash=2.2&w=716] 

Note(s):
· Grade Level(s): 
· Grade 1 used concrete and pictorial models to compose and decompose numbers up to 120 and used objects, pictures and expanded and standard forms to represent numbers.
· Grade 3 will compose and decompose numbers up to 100,000 using objects, pictorial models, and numbers, including expanded notation as appropriate.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.2B
	Use standard, word, and expanded forms to represent numbers up to 1,200.
Use standard, word, and expanded forms to represent numbers up to 1,200.
Use
STANDARD, WORD, AND EXPANDED FORMS TO REPRESENT NUMBERS UP TO 1,200
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Place value – the value of a digit as determined by its location in a number, such as ones, tens, hundreds, one thousands, etc.
· Standard form – the representation of a number using digits (e.g., 1,200) 
· Period – a three-digit grouping of whole numbers where each grouping is composed of a ones place, a tens place, and a hundreds place, and each grouping is separated by a comma 
1. Thousands period is composed of the one thousands place, ten thousands place, and hundred thousands place.
1. Units period is composed of the ones place, tens place, and hundreds place.
. The word “thousand” after the numerical value of the thousands period is stated when read.
. A comma between the thousands period and the units period is recorded when written but not stated when read.
. The word “unit” after the numerical value of the units period is not stated when read.
. The word “hundred” in each period is stated when read.
. The words “ten” and “one” in each period are not stated when read.
. The tens place digit and ones place digit in each period are stated as a two-digit number when read.
. Zeros are used as place holders between digits as needed to maintain the value of each digit (e.g., 1,075).
. Leading zeros in a whole number are not commonly used in standard form, but are not incorrect and do not change the value of the number (e.g., 037 equals 37).
. Ex:
[image: http://files5.teksresourcesystem.net/132135199087142109099093050000194143231057242133/Download.ashx?hash=2.2&w=716]
· Word form – the representation of a number using written words (e.g., 1,152 as one thousand, one hundred fifty-two) 
· The word “thousand” after the numerical value of the thousands period is stated when read and recorded when written.
· A comma between the thousands period and the units period is not stated when read but is recorded when written.
· The word “unit” after the numerical value of the units period is not stated when read and not recorded when written.
· The word “hundred” in each period is stated when read and recorded when written.
· The words “ten” and “one” in each period are not stated when read and not recorded when written.
· The tens place digit and ones place digit in each period are stated as a two-digit number when read and recorded using a hyphen, where appropriate, when written (e.g., twenty-three, thirteen, etc.).
· The zeros in a whole number are not stated when read and are not recorded when written (e.g., 1,005 in standard form is read and written as one thousand, five in word form).
· Ex:
[image: http://files5.teksresourcesystem.net/192168242149215162098231095114014101144015234142/Download.ashx?hash=2.2&w=716]
· Expanded form – the representation of a number as a sum of place values (e.g., 1,189 as 1,000 + 100 + 80 + 9) 
· Zero may or may not be written as an addend to represent the digit 0 in a number (e.g., 1,075 as 1,000 + 0 + 70 + 5 or 1,000 + 70 + 5).
· Multiple representations 
· Ex:
[image: http://files5.teksresourcesystem.net/147121002040156062101135107238092084066146177034/Download.ashx?hash=2.2&w=716]
· Place values presented out of order
. Ex:
[image: http://files5.teksresourcesystem.net/046110133184076196016059038168255120091077188133/Download.ashx?hash=2.2&w=716]
· Equivalent compositions/decompositions of numbers with the same value
. Ex: 
[image: http://files5.teksresourcesystem.net/026049115253117094198159153120073105070103241136/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 1 used objects, pictures, and expanded and standard forms to represent numbers up to 120.           
· Grade 3 will compose and decompose numbers up to 100,000 using objects, pictorial models, and numbers, including expanded notation as appropriate.
· Grades 1 and 2 student expectations refer to expanded, standard, and word form, whereas Grades 3, 4, and 5 student expectations refer to expanded notation.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.2C
	Generate a number that is greater than or less than a given whole number up to 1,200.
Generate a number that is greater than or less than a given whole number up to 1,200.
Generate
A NUMBER THAT IS GREATER THAN OR LESS THAN A GIVEN WHOLE NUMBER UP TO 1,200
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Comparative language 
· Inequality language 
1. Greater than, more than
1. Less than, fewer than
· Place value relationships 
. 1 more or 1 less 
1. Adding 1 in the ones place will generate a number that is 1 more than the original number. 
1. Ex: 1,165 + 1 = 1,166
. Subtracting 1 in the ones place will generate a number that is 1 less than the original number. 
2. Ex: 1,165 – 1 = 1,164
· 10 more or 10 less 
. Adding 1 in the tens place will generate a number that is 10 more than the original number. 
1. Ex: 1,165 + 10 = 1,175
. Subtracting 1 in the tens place will generate a number that is 10 less than the original number. 
2. Ex: 1,165 – 10 = 1,155
· 100 more or 100 less 
. Adding 1 in the hundreds place will generate a number that is 100 more than the original number. 
1. Ex: 1,165 + 100 = 1,265
. Subtracting 1 in the hundreds place will generate a number that is 100 less than the original number. 
2. Ex: 1,165 – 100 = 1,065
· Numerical relationships 
· Counting order
· Skip counting
· Doubles
· Concrete and pictorial models 
· Hundreds chart 
. Moving one place to the right will generate a number that is 1 more than the original number.
. Moving one place to the left will generate a number that is 1 less than the original number.
. Moving one row down will generate a number that is 10 more than the original number.
. Moving one row up will generate a number that is 10 less than the original number.
· Base-10 blocks 
. Adding unit cubes will increase a number by increments of 1.
. Removing unit cubes will decrease a number by increments of 1.
. Adding longs will increase a number by increments of 10.
. Removing longs will decrease a number by increments of 10.
. Adding flats will increase a number by increments of 100.
. Removing flats will decrease a number by increments of 100.
· Number line 
. Numbers increase from left to right.
. Numbers decrease from right to left.

Note(s):
· Grade Level(s): 
· Grade 1 generated a number that is greater than or less than a given whole number up to 120.
· Grade 1 used relationships to determine the number that is 10 more and 10 less than a given number up to 120.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.2D
	Use place value to compare and order whole numbers up to 1,200 using comparative language, numbers, and symbols (>, <, or =).
Use place value to compare and order whole numbers up to 1,200 using comparative language, numbers, and symbols (>, <, or =).
Use
PLACE VALUE FOR WHOLE NUMBERS UP TO 1,200
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Place value – the value of a digit as determined by its location in a number, such as ones, tens, hundreds, one thousands, etc. 
· One thousands place
· Hundreds place
· Tens place
· Ones place
· Period – a three-digit grouping of whole numbers where each grouping is composed of a ones place, a tens place, and a hundreds place, and each grouping is separated by a comma 
5. Thousands period is composed of the one thousands place, ten thousands place, and hundred thousands place.
5. Units period is composed of the ones place, tens place, and hundreds place.

To Compare, To Order
WHOLE NUMBERS UP TO 1,200 USING COMPARATIVE LANGUAGE, NUMBERS, AND SYMBOLS (>, <, OR =)
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Place value – the value of a digit as determined by its location in a number such as ones, tens, hundreds, one thousands, etc.
· Comparative language and symbols 
· Inequality words and symbols 
1. Greater than (>)
1. Less than (<)
. Equality words and symbol 
2. Equal to (=)
· Compare numbers – to consider the value of two numbers to determine which number is greater or less or if the numbers are equal in value 
. Relative magnitude of a number describes the size of a number and its relationship to another number. 
1. Ex: 1,050 is closer to 0 on a number line than 1,200, so 1,050 < 1,200 and 1,200 > 1,050.
[image: http://files5.teksresourcesystem.net/020050026001170064114118234081105097020000077192/Download.ashx?hash=2.2]
1. Ex: 750 is further from 0 on a number line than 175, so 750 > 175 and 175 < 750.
[image: http://files5.teksresourcesystem.net/162069157083132059130033197093109028031020119015/Download.ashx?hash=2.2]
· Compare two numbers using place value charts. 
· Compare digits in the same place value position beginning with the greatest place value. 
1. If these digits are the same, continue to the next smallest place until the digits are different. 
1. Ex:
[image: http://files5.teksresourcesystem.net/035037098085143244032200196048134128227053186205/Download.ashx?hash=2.2]
1. Numbers that have common digits but are not equal in value (different place values) 
1. Ex:
[image: http://files5.teksresourcesystem.net/188103034125124133162171222193107070038063181060/Download.ashx?hash=2.2]
1. Numbers that have a different number of digits 
1. Ex:
[image: http://files5.teksresourcesystem.net/180079136228125183209146192251120148176208070053/Download.ashx?hash=2.2]
· Compare two numbers using a number line. 
· Number lines (horizontal/vertical) 
1. Proportional number lines (pre-determined intervals with at least two labeled numbers)
[image: http://files5.teksresourcesystem.net/109040163167109147031237068154175237041181204133/Download.ashx?hash=2.2]
1. Open number lines (no marked intervals)
[image: http://files5.teksresourcesystem.net/065033205085019113174230191211012158093184086104/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/000095042173173255207137034084248137170161044057/Download.ashx?hash=2.2]
· Order numbers – to arrange a set of numbers based on their numerical value 
· Numbers increase from left to right on a horizontal number line and from bottom to top on a vertical number line. 
1. Points to the left of a specified point on a horizontal number line are less than points to the right.
1. Points to the right of a specified point on a horizontal number line are greater than points to the left.
1. Points below a specified point on a vertical number line are less than points above.
1. Points above a specified point on a vertical number line are greater than points below.
. Order a set of numbers on a number line. 
2. Ex:
[image: http://files5.teksresourcesystem.net/079212023150242012144228067005141098227242225092/Download.ashx?hash=2.2]
. Order a set of numbers on an open number line. 
. Ex:
[image: http://files5.teksresourcesystem.net/061130066192096116196013078086006074124022159062/Download.ashx?hash=2.2]
. Quantifying descriptors (e.g., between two given numbers, greatest/least, ascending/descending, tallest/shortest, warmest/coldest, fastest/slowest, longest/shortest, heaviest/lightest, closest/farthest, oldest/youngest, etc.) 
. Ex:
[image: http://files5.teksresourcesystem.net/249250042127029120057126057183073208174076079177/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/012197071167016112103157217204106192049166201059/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 used place value to compare numbers up to 120 and represented the comparison of two numbers to 100 using the symbols >, <, or =.
· Grade 3 will use compare and order whole numbers up to 100,000 and represent the comparisons using the symbols >, <, or =.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.2E
	Locate the position of a given whole number on an open number line.
Locate the position of a given whole number on an open number line.
Locate
THE POSITION OF A GIVEN WHOLE NUMBER ON AN OPEN NUMBER LINE
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Characteristics of an open number line 
· An open number line begins as a line with no intervals (or tick marks) and no positions/numbers labeled.
· Numbers/positions are placed on the empty number line only as they are needed.
· When reasoning on an open number line, the position of zero is often not placed. 
· When working with larger numbers, an open number line without the constraint of distance from zero allows the ability to “zoom-in” on the relevant section of the number line.
· The placement of the first two numbers on an open number line determines the scale of the number line. 
5. Once the scale of the number line has been established by the placement of the first two numbers, intervals between additional numbers placed are approximately proportional.
. The differences between numbers are approximated by the distance between the positions on the number line.
. Open number lines extend infinitely in both directions (arrows indicate the number line continues infinitely).
. Numbers increase from left to right on a horizontal number line and from bottom to top on a vertical number line. 
8. Points to the left of a specified point on a horizontal number line are less than points to the right.
8. Points to the right of a specified point on a horizontal number line are greater than points to the left.
8. Points below a specified point on a vertical number line are less than points above.
8. Points above a specified point on a vertical number line are greater than points below.
. Landmark (or anchor) numbers may be placed on the open number line to help locate other numbers.
· Open number line given 
. Ex:
[image: http://files5.teksresourcesystem.net/196188161220162174088218218099062066226117070034/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/247100233190139231231087174181024090032084050057/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 ordered whole numbers up to 120 using place value and open number lines.
· Grade 3 will represent a number on a number line as being between two consecutive multiples of 10; 100; 1,000; or 10,000 and use words to describe relative size of numbers in order to round whole numbers.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.2F
	Name the whole number that corresponds to a specific point on a number line.
Name the whole number that corresponds to a specific point on a number line.
Name
THE WHOLE NUMBER THAT CORRESPONDS TO A SPECIFIC POINT ON A NUMBER LINE
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Characteristics of a number line 
· A number line begins as a line with predetermined intervals (or tick marks) with positions/numbers labeled. 
1. A minimum of two positions/numbers should be labeled.
. Numbers on a number line represent the distance from zero.
. The distance between the tick marks is counted rather than the tick marks themselves.
. The placement of the labeled positions/numbers on a number line determines the scale of the number line. 
4. Intervals between position/numbers are proportional.
. When reasoning on a number line, the position of zero may or may not be placed. 
. When working with larger numbers, a number line without the constraint of distance from zero allows the ability to “zoom-in” on the relevant section of the number line.
. Number lines extend infinitely in both directions (arrows indicate the number line continues infinitely).
. Numbers increase from left to right on a horizontal number line and from bottom to top on a vertical number line. 
8. Points to the left of a specified point on a horizontal number line are less than points to the right.
8. Points to the right of a specified point on a horizontal number line are greater than points to the left.
8. Points below a specified point on a vertical number line are less than points above.
8. Points above a specified point on a vertical number line are greater than points below.
. Number lines can be horizontal, vertical, or circular. 
9. Ex: Some thermometers are a vertical number line; analog clocks are a circular number line; etc.
· Intervals and partial labels given 
. Ex:
[image: http://files5.teksresourcesystem.net/255132194013136086008244183129033010089049150136/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/157252036016129125093090149084109248047189238054/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/255070249014023009021121095187244187231053180042/Download.ashx?hash=2.2]
· Partial intervals and labels given 
· Ex:
[image: http://files5.teksresourcesystem.net/246008058044003157105145142041172141055207043120/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 2 will name the whole number that corresponds to a specific point on a number line.
· Grade 3 will determine the corresponding fraction greater than zero and less than or equal to one with denominators of 2, 3, 4, 6, and 8 given a specified point on a number line.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.3
	Number and operations. The student applies mathematical process standards to recognize and represent fractional units and communicates how they are used to name parts of a whole. The student is expected to:

	2.3A
	Partition objects into equal parts and name the parts, including halves, fourths, and eighths, using words.
Partition objects into equal parts and name the parts, including halves, fourths, and eighths, using words.
Partition
OBJECTS INTO EQUAL PARTS, INCLUDING HALVES, FOURTHS, AND EIGHTHS
Including, but not limited to:
· Fraction – a number that can be used to name part of an object or part of a set of objects
· Partition – separation or division of an object into parts
· Whole divided into two, four, or eight equal parts 
· Each equal part of an object is the same size and the same shape. 
1. Ex:
[image: http://files5.teksresourcesystem.net/241067242035246146188225109100054033136012244201/Download.ashx?hash=2.2]
. Equal parts of identical wholes may not be the same shape. 
. Ex:
[image: http://files5.teksresourcesystem.net/157026220068216201098249208114032017203184108054/Download.ashx?hash=2.2]
. Equal parts of non-identical wholes may not be equal in size or shape. 
. Ex:
[image: http://files5.teksresourcesystem.net/071182000078075040073109237250151021249209238085/Download.ashx?hash=2.2]
· Concrete models of whole objects 
· Linear models 
1. Cuisenaire rods, fraction bars, linking cube trains, folded paper strips, etc. 
1. Ex: Cuisenaire rods
[image: http://files5.teksresourcesystem.net/088175118246033179149028239185175190016097139175/Download.ashx?hash=2.2]
1. Ex: Fraction bars
[image: http://files5.teksresourcesystem.net/014189158033161068112188049088231098099216146195/Download.ashx?hash=2.2&w=716]
1. Ex: Linking cube trains
[image: http://files5.teksresourcesystem.net/017195162177221187222069070142141204127113224009/Download.ashx?hash=2.2&w=716]
1. Ex: Folded paper strip
[image: http://files5.teksresourcesystem.net/169153126038142078227220000002035230043238061236/Download.ashx?hash=2.2]
. Area models 
. Fractions circles or squares, pattern blocks, geoboards, etc. 
. Ex: Fractions circles or squares
[image: http://files5.teksresourcesystem.net/129101101226037041225060189244100143213005163084/Download.ashx?hash=2.2&w=716]
1. Ex: Pattern blocks
[image: http://files5.teksresourcesystem.net/074208094045219086157134050137098250236179203252/Download.ashx?hash=2.2]
1. Ex: Geoboards
[image: http://files5.teksresourcesystem.net/215151096250067077025224127072239112094084067035/Download.ashx?hash=2.2]

Name
THE EQUAL PARTS OF PARTITIONED OBJECTS, INCLUDING HALVES, FOURTHS, AND EIGHTHS, USING WORDS
Including, but not limited to:
· Appropriate oral and written mathematical language to name equal parts
· Hyphen used to separate the number of parts being considered from the total number of parts 
· Number of parts being considered written before the hyphen and said first
· Total number of parts written after the hyphen and said last
· Two equal parts 
· One-half, two-halves or one whole
· Four equal parts 
· One-fourth, two-fourths, three-fourths, four-fourths or one whole
· One-quarter, two-quarters, three-quarters, four-quarters or one whole
· Eight equal parts 
· One-eighth, two-eighths, three-eighths, four-eighths, five-eighths, six-eighths, seven-eighths, eight-eighths or one whole
· Relationship between ordinal numbers and the number of parts named in a fraction

Note(s):
· Grade Level(s): 
· Grade 1 partitioned two-dimensional figures into two and four fair shares or equal parts and described the parts using words.
· Grade 2 is not expected to identify the relationship between equivalent fractions (e.g., two-fourths is the same as one-half, etc.).
· Grade 3 will introduce pictorial models of fractions, fractional parts of a set of objects, and fraction symbols.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.3B
	Explain that the more fractional parts used to make a whole, the smaller the part; and the fewer the fractional parts, the larger the part.
Explain that the more fractional parts used to make a whole, the smaller the part; and the fewer the fractional parts, the larger the part.
Explain
THE MORE FRACTIONAL PARTS USED TO MAKE A WHOLE, THE SMALLER THE PART; AND THE FEWER THE FRACTIONAL PARTS, THE LARGER THE PART
Including, but not limited to:
· Fraction – a number that can be used to name part of an object or part of a set of objects
· Inverse relationship between the size of the fractional part and the number of equal parts in the whole when given the same size whole 
· The greater the number of parts, the smaller the size of the parts
· The smaller the number of parts, the greater the size of the parts
· Whole divided into two, four, or eight equal parts
· Concrete models of whole objects 
· Linear models 
1. Cuisenaire rods, fraction bars, linking cube trains, folded paper strips, etc.
. Area models 
2. Fractions circles or squares, pattern blocks, geoboards, etc.
. Ex:
[image: http://files5.teksresourcesystem.net/212218138219049199115204225150200104097178159238/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 partitioned two-dimensional figures into two and four fair shares or equal parts and described the parts using words.
· Grade 3 will introduce pictorial models of fractions, fractional parts of a set of objects, and fraction symbols.
· Grade 3 will explain that the unit fraction [image: http://files5.teksresourcesystem.net/060100019128131225046032208136049076245038124125/Download.ashx?hash=2.2] represents the quantity formed by one part of a whole that has been partitioned into b equal parts where b is a non-zero whole number.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.3C
	Use concrete models to count fractional parts beyond one whole using words and recognize how many parts it takes to equal one whole.
Use concrete models to count fractional parts beyond one whole using words and recognize how many parts it takes to equal one whole.
Use
CONCRETE MODELS TO COUNT FRACTIONAL PARTS BEYOND ONE WHOLE USING WORDS
Including, but not limited to:
· Fraction – a number that can be used to name part of an object or part of a set of objects
· Relationship between counting whole numbers and counting fractional parts of a whole 
· Hierarchical inclusion – concept of nested numbers, meaning each prior number in the counting sequence is included in the set as the set increases (e.g., 18 is 17 increased by 1; 18 decreased by 1 is 17; etc.)
· Ex:
[image: http://files5.teksresourcesystem.net/101092047225078135197235018012042152031090003178/Download.ashx?hash=2.2]
· Appropriate oral and written mathematical language
· Wholes divided into two, four, or eight equal parts
· Concrete models of whole objects 
· Linear models 
1. Cuisenaire rods, fraction bars, linking cube trains, folded paper strips, etc.
. Area models 
2. Fractions circles or squares, pattern blocks, geoboards, etc.
· Count fractional parts up to one whole using concrete models 
. Determination of the number of parts that equal one whole 
1. Two-halves equal one whole; four-fourths equal one whole; eight-eighths equal one whole
. Determination of the number of parts being counted
. Correct sequence of fractional names 
3. Two equal parts 
1. One-half, two-halves or one whole
1. Ex:
[image: http://files5.teksresourcesystem.net/181024222068057149203198061228015170131172100244/Download.ashx?hash=2.2]
1. Four equal parts 
1. One-fourth, two-fourths, three-fourths, four-fourths or one whole
1. One-quarter, two-quarters, three-quarters, four-quarters or one whole
1. Ex:
[image: http://files5.teksresourcesystem.net/196235200055004028042092037005189249222212140168/Download.ashx?hash=2.2]
1. Eight equal parts 
1. One-eighth, two-eighths, three-eighths, four-eighths, five-eighths, six-eighths, seven-eighths, eight-eighths or one whole
1. Ex:
[image: http://files5.teksresourcesystem.net/131086181185204246187197049103042197218135060247/Download.ashx?hash=2.2&w=716]
· Count fractional parts beyond one whole using concrete models 
· Determination of the number of parts that equal one whole 
1. Two-halves equal one whole; four-fourths equal one whole; eight-eighths equal one whole
. Determination of the number of parts being counted
. Correct sequence of fractional names 
3. Two equal parts 
1. One-half, two-halves, three-halves, four-halves, five-halves, etc.
1. One-half, one whole, one and one-half, two wholes, two and one-half, etc.
1. Ex:
[image: http://files5.teksresourcesystem.net/211222030235202080097121060011085244131115039178/Download.ashx?hash=2.2&w=716]
1. Four equal parts 
1. One-fourth, two-fourths, three-fourths, four-fourths, five-fourths, six-fourths, seven-fourths, eight-fourths, nine-fourths, etc.
1. One-fourth, two-fourths, three-fourths, one whole, one and one-fourth, one and two-fourths, one and three-fourths, two wholes, two and one-fourth, etc.
1. One-quarter, two-quarters, three-quarters, four-quarters, five-quarters, six-quarters, seven-quarters, eight-quarters, nine-quarters, etc.
1. One-quarter, two-quarters, three-quarters, one whole, one and one-quarter, one and two-quarters, one and three-quarters, two wholes, two and one-quarter, etc.
1. Ex:
[image: http://files5.teksresourcesystem.net/245085149193216100186239092210094228187206163021/Download.ashx?hash=2.2&w=716]
1. Eight equal parts 
1. One-eighth, two-eighths, three-eighths, four-eighths, five-eighths, six-eighths, seven-eighths, eight-eighths, nine-eighths, ten-eighths, eleven-eighths, twelve-eighths, thirteen-eighths, fourteen-eighths, fifteen-eighths, sixteen-eighths, seventeen-eighths, etc.
1. One-eighth, two-eighths, three-eighths, four-eighths, five-eighths, six-eighths, seven-eighths, one whole, one and one-eighth, one and two-eighths, one and three-eighths, one and four-eighths, one and five-eighths, one and six-eighths, one and seven-eighths, two wholes, two and one-eighth, etc.
1. Ex:
[image: http://files5.teksresourcesystem.net/099163100030159054130087083154172115201155185123/Download.ashx?hash=2.2&w=716]

Recognize
HOW MANY PARTS IT TAKES TO EQUAL ONE WHOLE
Including, but not limited to:
· Recognition of the whole 
· Recognition of the number of parts that equal one whole 
1. Two-halves equal one whole; four-fourths equal one whole; eight-eighths equal one whole
. Recognition of the number of parts being considered 
2. Number of parts being considered within one whole 
1. Ex:
[image: http://files5.teksresourcesystem.net/214046055213157235134199162126102049190178169202/Download.ashx?hash=2.2&w=716]
1. Number of parts being considered beyond one whole 
1. Ex:
[image: http://files5.teksresourcesystem.net/183032026145104095216144005029238227041246033000/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 3 will represent fractions greater than zero and less than or equal to one with denominators of 2, 3, 4, 6, and 8 using concrete objects and pictorial models, including strip diagrams and number lines.
· Grade 3 will solve problems involving partitioning an object or a set of objects among two or more recipients using pictorial representations of fractions with denominators of 2, 3, 4, 6, and 8.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.3D
	Identify examples and non-examples of halves, fourths, and eighths.
Identify examples and non-examples of halves, fourths, and eighths.
Identify
EXAMPLES AND NON-EXAMPLES OF HALVES, FOURTHS, AND EIGHTHS
Including, but not limited to: 
· Fraction – a number that can be used to name part of an object or part of a set of objects
· Whole divided into two, four, or eight equal parts
· Examples of halves, fourths, and eighths 
· Equal parts or fair shares that equal the given one whole 
1. Ex:
[image: http://files5.teksresourcesystem.net/023110176098029082209163105251029195193002213222/Download.ashx?hash=2.2]
· Non-examples of halves, fourths, and eighths 
· Unequal parts that equal the given one whole 
1. Ex:
[image: http://files5.teksresourcesystem.net/203230045099044167136035156027153188049175003230/Download.ashx?hash=2.2]
. Equal or unequal parts that are less than the given one whole 
. Ex:
[image: http://files5.teksresourcesystem.net/052128171147159047190168081110192133077175113107/Download.ashx?hash=2.2]
. Equal or unequal parts that are more than the given one whole 
. Ex:
[image: http://files5.teksresourcesystem.net/009175192249072229185003110244151179132217124251/Download.ashx?hash=2.2]
· Concrete models of whole objects 
· Linear models 
1. Cuisenaire rods, fraction bars, linking cube trains, folded paper strips, etc.
. Area models 
2. Fractions circles or squares, pattern blocks, geoboards, etc.

Note(s):
· Grade Level(s): 
· Grade 3 will represent fractions greater than zero and less than or equal to one with denominators of 2, 3, 4, 6, and 8 using concrete objects and pictorial models, including strip diagrams and number lines.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.4
	Number and operations. The student applies mathematical process standards to develop and use strategies and methods for whole number computations in order to solve addition and subtraction problems with efficiency and accuracy. The student is expected to:

	2.4A
	Recall basic facts to add and subtract within 20 with automaticity.
Recall basic facts to add and subtract within 20 with automaticity.
Recall With Automaticity
BASIC FACTS TO ADD WITHIN 20
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Automaticity – executing a basic fact with little or no conscious effort
· Addition 
· Sum – the total when two or more addends are joined
· Addend – a number being added or joined together with another number(s)
· Addition of whole numbers within 20
· Solutions recorded with a number sentence 
· Number sentence – a mathematical statement composed of numbers, and/or an unknown(s), and/or an operator(s), and an equality or inequality symbol
· Equal sign at beginning or end 
2. Ex: 10 = 6 + 4; 6 + 4 = 10
· Decompose numbers – to break a number into parts or smaller values
· Compose numbers – to combine parts or smaller values to form a number
· Basic fact strategies for addition 
. Making 10 
1. Composing two addends to form a sum of 10 
1. Ex: 0 + 10 = 10; 1 + 9 = 10; 2 + 8 = 10; etc.
1. Ex: 10 = 0 + 10; 10 = 1 + 9; 10 = 2 + 8; etc.
· Hidden tens 
. Decomposing a number leading to a 10 
1. Ex:
[image: http://files5.teksresourcesystem.net/089235101139159178096058005105121175199159115247/Download.ashx?hash=2.2]
. Plus 9 
. Adding 9 is equivalent to adding 10 and subtracting 1. 
. Ex:
[image: http://files5.teksresourcesystem.net/046066219148175231188080225120037226025008143093/Download.ashx?hash=2.2]
. Plus 10 
. Add 1 ten in the tens place and add 0 in the ones place. 
. Ex:
[image: http://files5.teksresourcesystem.net/235126175118046079112219160007157090027220014246/Download.ashx?hash=2.2]
. Doubles 
. Adding doubles always results in an even sum, regardless of whether the addends are even or odd. 
. Ex:
[image: http://files5.teksresourcesystem.net/161066179165130237125090025152016228071020174146/Download.ashx?hash=2.2]
. Double plus/minus 1 
. Consecutive addends
. Double the smaller addend and add 1, or double the larger addend and subtract 1. 
. Ex:
[image: http://files5.teksresourcesystem.net/232158252060153009161140020178123229143030216095/Download.ashx?hash=2.2]
1. Adding doubles plus/minus 1 always results in an odd sum. 
1. Ex:
[image: http://files5.teksresourcesystem.net/131141234090138209131165133190241245101192109250/Download.ashx?hash=2.2]
. Hidden doubles 
. Decompose an addend to form a doubles fact. 
. Ex:
[image: http://files5.teksresourcesystem.net/025138085221105071062011001108141009177116088088/Download.ashx?hash=2.2]
. In-betweens 
. Addends have exactly one number between them consecutively.
. Double the number between the addends. 
. Ex:
[image: http://files5.teksresourcesystem.net/111119207217017111186098055025134096048206167062/Download.ashx?hash=2.2]
. Fact families – related number sentences using the same set of numbers 
. Recognition of addition and subtraction as inverse operations 
. Ex:
[image: http://files5.teksresourcesystem.net/110213164179133060157020212013200001104239063183/Download.ashx?hash=2.2]
1. Commutative property 
1.  Sum does not change when the order of the addends are switched. 
1. Ex:
[image: http://files5.teksresourcesystem.net/229031203065055251215080020186107187253059072253/Download.ashx?hash=2.2]
1. Plus 0 (additive identity) 
1. Adding zero to a number does not affect the total. 
1. Ex: 1 + 0 = 1; 2 + 0 = 2; 3 + 0 = 3; etc.
1. Ex: 1 = 1 + 0; 2 = 2 + 0; 3 = 3 + 0; etc.
· Plus 1 
. Adding 1 related to sequential counting 
1. Ex: 9 + 1 = 10 or 10 = 9 + 1
· Counting on 
. Begin with one addend and count on the amount of the other addend. 
1. Ex:
[image: http://files5.teksresourcesystem.net/239241008134124185037118146030014017147080069046/Download.ashx?hash=2.2]

Recall With Automaticity
BASIC FACTS TO SUBTRACT WITHIN 20
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Automaticity – executing a basic fact with little or no conscious effort
· Subtraction 
· Difference – the remaining amount after the subtrahend has been subtracted from the minuend
· Minuend – a number from which another number will be subtracted
· Subtrahend – a number to be subtracted from a minuend
· Subtraction of whole numbers within 20
· Solutions recorded with a number sentence 
· Number sentence – a mathematical statement composed of numbers, and/or an unknown(s), and/or an operator(s), and an equality or inequality symbol
· Equal sign at beginning or end 
2. Ex: 6 = 10 – 4; 10 – 4 = 6
· Decompose numbers – to break a number into parts or smaller values
· Basic fact subtraction strategies leading to automaticity 
. Counting back 
1. Begin with the minuend and count back the amount of the subtrahend. 
1. Ex:
[image: http://files5.teksresourcesystem.net/203179203078199250207231178087226098082040074089/Download.ashx?hash=2.2]
. Counting up 
. Begin with the subtrahend and count up to the minuend. 
. Ex:
[image: http://files5.teksresourcesystem.net/056046129185211119169144238092079012253240181225/Download.ashx?hash=2.2]
. Fact families – related number sentences using the same set of numbers 
. Recognition of addition and subtraction as inverse operations 
. Ex:
[image: http://files5.teksresourcesystem.net/010000225164052177061115229182118203155192192047/Download.ashx?hash=2.2]
1. Inverse doubles 
1. The minuend will be even, and the subtrahend and difference will either both be even or both be odd. 
1.  Ex:
[image: http://files5.teksresourcesystem.net/098109003080121067253036102226110184039238003087/Download.ashx?hash=2.2]
1. Inverse double plus/minus 1 
1. The minuend will be odd, and if the subtrahend is even, then the difference will be odd.
1. The minuend will be odd, and if the subtrahend is odd, then the difference will be even. 
2. Ex:
[image: http://files5.teksresourcesystem.net/196176127057069036174078097222013039184024115017/Download.ashx?hash=2.2]
. Minus 0 (additive identity) 
. Subtracting 0 from a number does not affect the total. 
. Ex: 9 – 0 = 9 or 9 = 9 – 0
· Minus 1 
· Subtracting 1 related to sequentially counting backward once 
. Ex: 9 – 1 = 8 or 8 = 9 – 1; counted 9, 8
· Minus 2 
· Subtracting 2 related to sequentially counting backward twice 
. Ex: 9 – 2 = 7 or 7 = 9 – 2; counted 9, 8, 7
· Minus 9 
· Subtracting 9 is equivalent to subtracting 10 and adding 1. 
. Ex:
[image: http://files5.teksresourcesystem.net/013225113192169075205099049183014194207105068131/Download.ashx?hash=2.2]
. Decompose the subtrahend 
. Decompose the subtrahend to form a known fact. 
. Ex:
[image: http://files5.teksresourcesystem.net/121116131197126163177029083179214055045162070221/Download.ashx?hash=2.2]
. Decompose the minuend 
. Decompose the minuend to form a known fact. 
. Ex:
[image: http://files5.teksresourcesystem.net/162085096145177171024143031117154217004187129047/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 applied basic fact strategies to add and subtract within 20, including making 10 and decomposing a number leading to a 10.
· Grade 2 is accountable for recalling addition and subtraction facts within 20 with automaticity.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation


	2.4B
	Add up to four two-digit numbers and subtract two-digit numbers using mental strategies and algorithms based on knowledge of place value and properties of operations.
Add up to four two-digit numbers and subtract two-digit numbers using mental strategies and algorithms based on knowledge of place value and properties of operations.
Add
UP TO FOUR TWO-DIGIT NUMBERS USING MENTAL STRATEGIES AND ALGORITHMS BASED ON KNOWLEDGE OF PLACE VALUE AND PROPERTIES OF OPERATIONS
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Addition 
· Sum – the total when two or more addends are joined
· Addend – a number being added or joined together with another number(s)
· Sums of up to four two-digit whole numbers 
· With and without regrouping
· Mental strategies based on place value 
· Application of basic facts within each place value 
1. Ex:
[image: http://files5.teksresourcesystem.net/089161169248089122188223237115019020243025128223/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/091154191006215163248187017123153208070075185004/Download.ashx?hash=2.2]
. Composition/decomposition of numbers to form friendly numbers 
. Ex:
[image: http://files5.teksresourcesystem.net/000231151046140239021216252171055100035113003077/Download.ashx?hash=2.2]
· Algorithms based on place value 
· With and without regrouping
· Partial sums 
2. Addition of numbers in expanded form 
1. Ex:
[image: http://files5.teksresourcesystem.net/242007123008022097162235148053157166148235136015/Download.ashx?hash=2.2]
1. Partial sums recorded vertically 
1. Ex:
[image: http://files5.teksresourcesystem.net/034034003030110247182184194138170211082179142200/Download.ashx?hash=2.2]
. Traditional algorithm 
. Ex:
[image: http://files5.teksresourcesystem.net/182019239056213187202087249035043015171253158128/Download.ashx?hash=2.2]
· Properties of operations 
· Addends may be added in any order to produce the same sum. 
1. Ex: 53 + 71 + 16 will produce the same sum as 71 + 53 + 16, etc.
. Addends may be decomposed and grouped in any order to produce the same sum. 
2. Ex:
[image: http://files5.teksresourcesystem.net/116087007085144206120069041139205055112224219040/Download.ashx?hash=2.2] 
· Relationships between addition using mental strategies, algorithms, and properties of operations to addition using concrete models 
· Ex:
[image: http://files5.teksresourcesystem.net/027099255062031026022240073026109004113243229150/Download.ashx?hash=2.2&w=716]
· Relationships between addition using mental strategies, algorithms, and properties of operations to addition using open number lines 
· Ex:
[image: http://files5.teksresourcesystem.net/025139010239043047112191143113215082147195183027/Download.ashx?hash=2.2&w=716]

Subtract
TWO-DIGIT NUMBERS USING MENTAL STRATEGIES AND ALGORITHMS BASED ON KNOWLEDGE OF PLACE VALUE AND PROPERTIES OF OPERATIONS
Including, but not limited to:
· Whole numbers (0 – 1,000) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Subtraction 
· Difference – the remaining amount after the subtrahend has been subtracted from the minuend
· Minuend – a number from which another number will be subtracted
· Subtrahend – a number to be subtracted from a minuend
· Difference of two-digit whole numbers
· With and without regrouping
· Mental strategies based on place value 
· Application of basic facts within each place value 
1. Ex:
[image: http://files5.teksresourcesystem.net/059105008219180085133051161189100005145087021125/Download.ashx?hash=2.2]
. Composition/decomposition of numbers to form friendly numbers 
. Ex:
[image: http://files5.teksresourcesystem.net/202192054148011138038255043199250035207216092008/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/060035099210249098213219041058125077213012169207/Download.ashx?hash=2.2&w=716]
· Algorithms based on place value 
· With and without regrouping
· Partial differences 
2. Subtraction of numbers in expanded form
2. Ex:
[image: http://files5.teksresourcesystem.net/188063131231162206099196201201185101075208129082/Download.ashx?hash=2.2]
. Traditional algorithm 
. Ex:
[image: http://files5.teksresourcesystem.net/165215026187128111100045225147129247214030195009/Download.ashx?hash=2.2]
· Properties of operations 
· Minuend and/or subtrahend may be decomposed to produce friendly numbers. 
1. Ex:
[image: http://files5.teksresourcesystem.net/085177120240085046003028096200216149074076167188/Download.ashx?hash=2.2]
· Relationships between subtraction using mental strategies, algorithms, and properties of operations to subtraction using concrete models
. Ex:
[image: http://files5.teksresourcesystem.net/206024208118122018214103002066181215235076119171/Download.ashx?hash=2.2]
· Relationships between subtraction using mental strategies, algorithms, and properties of operations to subtraction using open number lines 
· Ex:
[image: http://files5.teksresourcesystem.net/234154104087175238020174220114073041227039148245/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s):
. Grade 1 explained strategies used to solve addition and subtraction problems up to 20 using spoken words, objects, pictorial models, and number sentences.
. Grade 2 will solve one-step and multi-step word problems involving addition and subtraction within 1,000 using a variety of strategies based on place value, including algorithms.
. Grade 3 will solve with fluency one-step and two-step problems involving addition and subtraction within 1,000 using strategies based on place value, properties of operations, and the relationship between addition and subtraction.
. Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
. Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
. I. Numeric Reasoning
. IX. Communication and Representation


	2.4C
	Solve one-step and multi-step word problems involving addition and subtraction within 1,000 using a variety of strategies based on place value, including algorithms.
Solve one-step and multi-step word problems involving addition and subtraction within 1,000 using a variety of strategies based on place value, including algorithms.
Solve
ONE-STEP AND MULTI-STEP WORD PROBLEMS INVOLVING ADDITION AND SUBTRACTION WITHIN 1,000 USING A VARIETY OF STRATEGIES BASED ON PLACE VALUE, INCLUDING ALGORITHMS
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Mathematical and real-world problem situations 
· One-step and multi-step problems
· Addition 
· Sum – the total when two or more addends are joined
· Addend – a number being added or joined together with another number(s)
· Addition of whole numbers within 1,000
· Sums of up to four two-digit whole numbers
· Sums of two three-digit whole numbers
· With or without regrouping
· Subtraction 
· Difference – the remaining amount after the subtrahend has been subtracted from the minuend
· Minuend – a number from which another number will be subtracted
· Subtrahend – a number to be subtracted from a minuend
· Subtraction of whole numbers within 1,000
· Differences of two- or three-digit whole numbers
· With or without regrouping
· Strategies based on place value and properties of operations in mathematical and real-world problem situations 
· With or without concrete models
· With or without pictorial models or open number lines
· Ex:
[image: http://files5.teksresourcesystem.net/007060087049159183219118084041219098152160129156/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/200123109099075190013152136101195227054075012153/Download.ashx?hash=2.2&w=716]
. One-step and multi-step problems 
. Ex:
[image: http://files5.teksresourcesystem.net/031143044206167141130083081132058115159008111005/Download.ashx?hash=2.2&w=716]
· Algorithms based on place value in mathematical and real-world problem situations 
· Partial sums 
1. Addition of numbers in expanded form 
1. Ex:
[image: http://files5.teksresourcesystem.net/197156166096235141230107076152147071208068128033/Download.ashx?hash=2.2]
1. Partial sums recorded vertically 
1. Ex:
[image: http://files5.teksresourcesystem.net/142242025025126120025027059001136225229019186211/Download.ashx?hash=2.2]
. Traditional addition algorithm 
. Ex:
[image: http://files5.teksresourcesystem.net/092048126185229000152016200038155109161081194138/Download.ashx?hash=2.2]
. Partial differences 
. Subtraction of numbers in expanded form
. Ex:
[image: http://files5.teksresourcesystem.net/190187253170070218013246246208003098011077050135/Download.ashx?hash=2.2]
. Traditional subtraction algorithm 
. Ex:
[image: http://files5.teksresourcesystem.net/100150137049215219190079229160178212232186162041/Download.ashx?hash=2.2]
. One-step and multi-step problems 
. Ex:
[image: http://files5.teksresourcesystem.net/240103031184031175215130117181252172135231253128/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 explained strategies used to solve addition and subtraction problems up to 20 using spoken words, objects, pictorial models, and number sentences.
· Grade 2 introduces the standard algorithm for addition and subtraction.
· Grade 2 introduces regrouping.
· Grade 2 will solve one-step and multi-step word problems involving addition and subtraction within 1,000 using a variety of strategies based on place value, including algorithms.
· Grade 3 will solve with fluency one-step and two-step problems involving addition and subtraction within 1,000 using strategies based on place value, properties of operations, and the relationship between addition and subtraction.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
· I. Numeric Reasoning
· VIII. Problem Solving and Reasoning
· IX. Communication and Representation
· X. Connections


	2.4D
	Generate and solve problem situations for a given mathematical number sentence involving addition and subtraction of whole numbers within 1,000.
Generate and solve problem situations for a given mathematical number sentence involving addition and subtraction of whole numbers within 1,000.
Generate, Solve
PROBLEM SITUATIONS FOR A GIVEN MATHEMATICAL NUMBER SENTENCE INVOLVING ADDITION AND SUBTRACTION OF WHOLE NUMBERS WITHIN 1,000
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Addition 
· Sum – the total when two or more addends are joined
· Addend – a number being added or joined together with another number(s)
· Addition of whole numbers within 1,000
· Sums of up to four two-digit whole numbers
· Sums of two three-digit whole numbers
· With or without regrouping
· Subtraction 
· Difference – the remaining amount after the subtrahend has been subtracted from the minuend
· Minuend – a number from which another number will be subtracted
· Subtrahend – a number to be subtracted from a minuend
· Subtraction of whole numbers within 1,000
· Differences of two- or three-digit whole numbers
· With or without regrouping
· Number sentence – a mathematical statement composed of numbers, and/or an unknown(s), and/or an operator(s), and an equality or inequality symbol 
· Number sentences, or equations, with an equal sign at the beginning or end 
1. Ex: 10 = 6 + 4; 6 + 4 = 10
1. Ex: 6 = 10 – 4; 10 – 4 = 6
. Unknown in any position 
2. Ex: a + b = __; a + __ = c; __ + b = c; a – b = __; a – __= c; __ – b = c
· Generate and solve mathematical and real-world problem situations when given an addition number sentence. 
. One-step problems
. Appropriate mathematical language
. Connection between information in the problem and problem type 
3. Addition situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/064002032255210186207048157032141111200220217188/Download.ashx?hash=2.2] 
1. Part-part-whole situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/208143111208063109049134132001165070228126007145/Download.ashx?hash=2.2]
1. Comparison situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/033045015175237034039130098162219113016155029231/Download.ashx?hash=2.2]
1. Start unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/250043223157111089242132194091250090239082182071/Download.ashx?hash=2.2]
1. Change unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/124085115050200069228206253025013133125200133197/Download.ashx?hash=2.2]
1. Result unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/061125157070166198136034000167080018179049146157/Download.ashx?hash=2.2]
· Generate and solve problem mathematical and real-world situations when given a subtraction number sentence 
· One-step problems
· Appropriate mathematical language
· Connection between information in the problem and problem type 
3. Subtraction situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/033238231042165178092250232154142055210229104114/Download.ashx?hash=2.2]
1. Part-part-whole situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/140152189006240082008030126025130049104231074126/Download.ashx?hash=2.2]
1. Comparison situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/178192222135247081089155236009006150050050077110/Download.ashx?hash=2.2]
1. Start unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/123133092131130237091179035133207031208202182250/Download.ashx?hash=2.2]
1. Change unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/007139219034253083055071019221100090047156060113/Download.ashx?hash=2.2]
1. Result unknown situations 
1. Ex:
[image: http://files5.teksresourcesystem.net/085109096053089231190093119212175194083253159060/Download.ashx?hash=2.2]
· Generate and solve problem mathematical and real-world situations when given a multi-operation number sentence 
· Multi-step problems
· Appropriate mathematical language
· Ex:
[image: http://files5.teksresourcesystem.net/129223203224129001149117098089230067234221047135/Download.ashx?hash=2.2] 

Note(s):
· Grade Level(s):
. Grade 1 generated and solved problem situations when given a number sentence involving addition or subtraction of numbers within 20.
. Grade 2 will solve one-step and multi-step word problems involving addition and subtraction within 1,000 using a variety of strategies based on place value, including algorithms.
. Grade 3 will solve with fluency one-step and two-step problems involving addition and subtraction within 1,000 using strategies based on place value, properties of operations, and the relationship between addition and subtraction.
. Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
. Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
. I. Numeric Reasoning
. VIII. Problem Solving and Reasoning
. IX. Communication and Representation
. X. Connections


	2.5
	Number and operations. The student applies mathematical process standards to determine the value of coins in order to solve monetary transactions. The student is expected to:

	2.5A
	Determine the value of a collection of coins up to one dollar.
Determine the value of a collection of coins up to one dollar.
Determine
THE VALUE OF A COLLECTION OF COINS UP TO ONE DOLLAR
Including, but not limited to:
· Coins 
· Penny: 1¢
· Nickel: 5¢
· Dime: 10¢
· Quarter: 25¢
· Half-dollar: 50¢
· Concrete and pictorial models 
· Traditional and newly released designs
· Views of both sides of coins
· Relationships by value
. Penny to nickel, dime, quarter, half-dollar 
. 5 pennies = 1 nickel; 10 pennies = 1 dime; 25 pennies = 1 quarter; 50 pennies = 1 half-dollar
. 1 penny < 1 nickel; 1 penny < 1 dime; 1 penny < 1 quarter; 1 penny < 1 half-dollar
· Nickel to penny, dime, quarter, half-dollar 
. 1 nickel = 5 pennies; 2 nickels = 1 dime; 5 nickels = 1 quarter; 10 nickels = 1 half-dollar
. 1 nickel > 1 penny; 1 nickel < 1 dime; 1 nickel < 1 quarter; 1 nickel < 1 half-dollar
· Dime to penny, nickel, quarter, half-dollar 
. 1 dime = 10 pennies; 1 dime = 2 nickels; 5 dimes = 2 quarters; 5 dimes = 1 half-dollar
. 1 dime > 1 penny; 1 dime > 1 nickel; 1 dime < 1 quarter; 1 dime < 1 half-dollar
· Quarter to penny, nickel, dime, half-dollar 
. 1 quarter = 25 pennies; 1 quarter = 5 nickels; 2 quarters = 5 dimes; 2 quarters = 1 half-dollar
. 1 quarter > 1 penny; 1 quarter > 1 nickel; 1 quarter > 1 dime; 1 quarter < 1 half-dollar
· Half-dollar to penny, nickel, dime, quarter 
. 1 half-dollar = 50 pennies; 1 half-dollar = 10 nickels; 1 half-dollar = 5 dimes; 1 half-dollar = 2 quarters
. 1 half-dollar > 1 penny; 1 half-dollar > 1 nickel; 1 half-dollar > 1 dime; 1 half-dollar > 1 quarter
· Skip counting to determine the value of a collection of mixed coins up to one dollar 
· Coins in like groups (e.g., half-dollars, quarters, dimes, nickels, pennies) 
. By ones or twos to determine the value of a collection of pennies 
. 1¢, 2¢, 3¢, 4¢, …, 97¢, 98¢, 99¢, 100¢
. 2¢, 4¢, 6¢, 8¢, …, 94¢, 96¢, 98¢, 100¢
· By fives to determine the value of a collection of nickels 
. 5¢, 10¢, 15¢, 20¢, 25¢, 30¢, …, 95¢, 100¢
· By tens to determine the value of a collection of dimes 
. 10¢, 20¢, 30¢, 40¢, 50¢, …, 80¢, 90¢, 100¢
· By twenty-fives to determine the value of a collection of quarters 
. 25¢, 50¢, 75¢, $1.00
· By fifties to determine the value of a collection of half-dollars 
. 50¢, $1.00
· Compound counting to determine the value of a collection of mixed coins up to one dollar 
· Separate coins into like groups prior to counting (e.g., half-dollars, quarters, dimes, nickels, pennies).
· Begin by counting the largest denomination of coins and then count on each denomination of coins in order from largest to smallest. 
· Count half-dollars by fifties, count on quarters by twenty-fives, count on dimes by tens, count on nickels by fives, count on pennies by twos or ones.
· Ex:
[image: http://files5.teksresourcesystem.net/047047148212102024110106093175241020200066218229/Download.ashx?hash=2.2]
· Exchange of coins to other denominations based on relationships between values 
· Ex: 2 dimes and 1 nickel can be exchanged for 1 quarter.
· Ex: 5 dimes can be exchanged for 2 quarters.
· Create a collection of coins for a given value. 
· Comparison of the values of two collections of coins 
1. Number of coins may not be proportional to the value of the collection. 
1. Ex: 2 quarters have a greater value than 5 nickels, even though 2 quarters are fewer coins than 5 nickels.
· Multiple combinations of the same value 
. Ex:
[image: http://files5.teksresourcesystem.net/122066236151003163118004043217158173236049084141/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/124232049167135086225208089207005086252116105060/Download.ashx?hash=2.2]
. Minimal set 
. Least number of coins to equal a given value 
. Ex:
[image: http://files5.teksresourcesystem.net/232175214159215061171030135060136161156109027207/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 used relationships to count by twos, fives, and tens to determine the value of a collection of pennies, nickels, and/or dimes.
· Grade 3 will determine the value of a collection of coins and bills.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.5B
	Use the cent symbol, dollar sign, and the decimal point to name the value of a collection of coins.
Use the cent symbol, dollar sign, and the decimal point to name the value of a collection of coins.
Use
THE CENT SYMBOL, DOLLAR SIGN, AND THE DECIMAL POINT TO NAME THE VALUE OF A COLLECTION OF COINS
Including, but not limited to:
· Value of a collection of coins named with numbers and symbols 
· Cent symbol not used in conjunction with dollar symbol and decimal
· Cent symbol (¢) 
2. Cent symbol written to the right of the numerical value
2. Cent label read and written after numerical value 
2. Ex: Fifty-two cents is written 52¢ and read 52 cents.
. Values equal to or greater than 100 written with cent symbol not customary, but acceptable 
3. Ex: 100¢
· Dollar symbol ($) and decimal 
. Dollar symbol written to the left of the dollar amount
. Decimal separates whole dollar amount from cent amount, or part of a dollar amount
. Dollar label read after dollar amount
. Decimal read as “and”
. Zero written for the dollar amount, but not read, if value is less than one dollar 
5. Ex: $0.79 is read seventy-nine cents.
· Multiple representations of the same value 
. Ex: $0.94, 94¢, 94 cents

Note(s):
· Grade Level(s): 
· Grade 1 wrote a number with the cent symbol to describe the value of a coin.
· Grade 2 introduces the dollar sign and decimal point to name the value of a collection of coins.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.6
	Number and operations. The student applies mathematical process standards to connect repeated addition and subtraction to multiplication and division situations that involve equal groupings and shares. The student is expected to:

	2.6A
	Model, create, and describe contextual multiplication situations in which equivalent sets of concrete objects are joined.
Model, create, and describe contextual multiplication situations in which equivalent sets of concrete objects are joined.
Model, Create, Describe
CONTEXTUAL MULTIPLICATION SITUATIONS IN WHICH EQUIVALENT SETS OF CONCRETE OBJECTS ARE JOINED
Including, but not limited to:
· Recognition of combining equivalent sets of objects in contextual situations
· Recognition of repeated addition of sets of objects in contextual situations
· Model and describe contextual multiplication situations using concrete objects. 
· Organized to represent equal sized groups
· Sets up to 10 equal groups of 10
· Oral description 
3. Appropriate labels for number of groups and amount in each group
3. Stated as: “___ equal groups of ___”
3. Ex: 3 tables with 8 plates on each table equals 24 plates, or 3 equal groups of 8 equals 24.
. Written description 
4. Recorded as: ____ equal groups of ___
4. Recorded as repeated addition
. Ex:
[image: http://files5.teksresourcesystem.net/120056195190243221040157200222164052171153020235/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/209016034068098234042148125110134168153100127038/Download.ashx?hash=2.2]
· Create and describe contextual multiplication situations. 
· Combination of equally-sized groups
· Sets up to 10 equal groups of 10
· Oral description 
3. Appropriate labels for number of groups and amount in each group
3. Stated as: “___ equal groups of ___”
3. Ex: 3 tables with 8 plates on each table equals 24 plates, or 3 equal groups of 8 equals 24.
. Written description 
4. Recorded as: ____ equal groups of ___
4. Recorded as repeated addition
. Ex:
[image: http://files5.teksresourcesystem.net/130222216253149068035175140131057171024114123177/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/141037084046044135002211027104164116165024234227/Download.ashx?hash=2.2]
. Connection between skip counting (by 2s, 3s, etc.) and counting equivalent sets of objects
. Comparisons of different equivalent groupings 
. Same number of groups with different amounts in each group 
. Ex: 4 equal groups of 5 compared to 4 equal groups of 7
· Different number of groups with same amount in each group 
. Ex: 5 equal groups of 3 compared to 4 equal groups of 3
· Different number of groups and/or different amount in each group, but same total number of objects 
. Ex: 4 bags with 3 marbles in each bag equals 12 marbles, and 2 bags with 6 marbles in each equals 12 marbles.

Note(s):
· Grade Level(s): 
· Grade 2 introduces contextual multiplication situations.
· Grade 3 will determine the total number of objects when equally-sized groups of objects are combined or arranged in arrays up to 10 x 10.
· Grade 3 will introduce the multiplication symbol.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Grade Level Connections (reinforces previous learning and/or provides development for future learning)
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation
· X. Connections


	2.6B
	Model, create, and describe contextual division situations in which a set of concrete objects is separated into equivalent sets.
Model, create, and describe contextual division situations in which a set of concrete objects is separated into equivalent sets.
Model, Create, Describe
CONTEXTUAL DIVISION SITUATIONS IN WHICH A SET OF CONCRETE OBJECTS IS SEPARATED INTO EQUIVALENT SETS
Including, but not limited to:
· Recognition of separating or sharing a set of objects into equivalent sets in contextual situations 
· Partitive division 
1. Total amount known
1. Number of groups known
1. Size or measure of each group unknown
. Quotative division (also known as Measurement division) 
2. Total amount known
2. Size or measure of each group known
2. Number of groups unknown
· Recognition of repeated subtraction of sets of objects in contextual situations
· Model and describe contextual division situations using concrete objects. 
. Organized to represent equal sized groups
. Sets up to 10 equal groups of 10
. Oral description 
3. Appropriate labels for number of groups and amount in each group
3. Stated as: “___ separated into ___ equal groups equals groups of ___,” or “___ separated into groups of ___ equals ___ equal groups”
3. Ex: 24 plates placed on 3 tables equals 8 plates on each table, or 24 separated into 3 equal groups equals groups of 8.
3. Ex: 24 plates placed with 8 plates on a table equals 3 tables, or 24 separated into groups of 8 equals 3 equal groups.
. Written description 
4. Recorded as: ___ separated into ____ equal groups of ___, or ___ separated into groups of ___ equals ___ equal groups
4. Recorded as repeated subtraction
. Ex: Partitive division
[image: http://files5.teksresourcesystem.net/185243203213140178047110106009158100092110193161/Download.ashx?hash=2.2]
. Ex: Quotative division (also known as Measurement division)
[image: http://files5.teksresourcesystem.net/123090152208168028204120069182229166186253156050/Download.ashx?hash=2.2]
· Create and describe contextual division situations. 
· Separation into equally-sized groups
· Sets of up to 10 equal groups of 10
· Oral description 
3. Appropriate labels for number of groups and amount in each group
3. Stated as: “___ separated into ___ equal groups equals groups of ___,” or “___ separated into groups of ___ equals ___ equal groups”
3. Ex: 24 plates placed on 3 tables equals 8 plates on each table, or 24 separated into 3 equal groups equals groups of 8.
3. Ex: 24 plates placed with 8 plates on a table equals 3 tables, or 24 separated into groups of 8 equals 3 equal groups.
. Written description 
4. Recorded as: ___ separated into ____ equal groups of ___, or ___ separated into groups of ___ equals ___ equal groups
4. Recorded as repeated subtraction
· Ex:
[image: http://files5.teksresourcesystem.net/109005057108004042212121107132023174222184082016/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 2 introduces contextual division situations.
· Grade 3 will determine the number of objects in each group when a set of objects is partitioned into equal shares or a set of objects is shared equally.
· Grade 3 will introduce the division symbol.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Grade Level Connections (reinforces previous learning and/or provides development for future learning)
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation
· X. Connections


	2.7
	Algebraic reasoning. The student applies mathematical process standards to identify and apply number patterns within properties of numbers and operations in order to describe relationships. The student is expected to:

	2.7A
	Determine whether a number up to 40 is even or odd using pairings of objects to represent the number.
Determine whether a number up to 40 is even or odd using pairings of objects to represent the number.
Determine
WHETHER A NUMBER UP TO 40 IS EVEN OR ODD USING PAIRINGS OF OBJECTS TO REPRESENT THE NUMBER
Including, but not limited to:
· Whole numbers (0 – 40) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Concrete objects organized in pairs to represent a number 
· Ex:
[image: http://files5.teksresourcesystem.net/168173249070024162224026226228095002157143051023/Download.ashx?hash=2.2]
. Ex:
 [image: http://files5.teksresourcesystem.net/157188173124000248040109217139253241111145098013/Download.ashx?hash=2.2]
· Even number – a number represented by objects that when paired have zero left over
. If a number of objects are paired with zero left over, the number represented by the objects is even.
. Zero is not considered odd or even.
· Odd number – a number represented by objects that when paired have one left over  
. If the number of objects are paired with one left over, the number represented by the objects is odd.
· Relationships in addition and subtraction 
. Relationship between doubles facts and even numbers 
. Ex:
[image: http://files5.teksresourcesystem.net/197029166184218174010051126183043016043009150201/Download.ashx?hash=2.2]
1. Adding doubles always results in an even sum, regardless of whether the addends are even or odd 
1.  Ex:
[image: http://files5.teksresourcesystem.net/242118150188161199237115216080223029224248125070/Download.ashx?hash=2.2]
1. Inverse doubles 
1. The minuend will be even, and the subtrahend and difference will either both be even or both be odd. 
1.  Ex:
[image: http://files5.teksresourcesystem.net/177208106186090186016182161166035249067190056066/Download.ashx?hash=2.2]
. Relationship between doubles plus/minus 1 facts and odd numbers 
. Ex:
[image: http://files5.teksresourcesystem.net/254212194142172163072188244097142055088056100130/Download.ashx?hash=2.2]
1. Adding doubles plus/minus 1 always results in an odd sum. 
1. Ex:
[image: http://files5.teksresourcesystem.net/147025091216097242188032037028065154222227236096/Download.ashx?hash=2.2]
1. Inverse doubles plus/minus 1 
1. The minuend will be odd, and if the subtrahend is even, then the difference will be odd.
1. The minuend will be odd, and if the subtrahend is odd, then the difference will be even. 
2. Ex:
[image: http://files5.teksresourcesystem.net/193043028006222167222005033216124108241133150099/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 skip counted by twos, fives, and tens to determine the total number of objects up to 120 in a set.
· Grade 2 introduces determining whether a number up to 40 is even or odd using pairings of objects to represent the number.
· Grade 3 will determine if a number is even or odd using divisibility rules.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Grade Level Connections (reinforces previous learning and/or provides development for future learning)
· TxCCRS:
· IX. Communication and Representation


	2.7B
	Use an understanding of place value to determine the number that is 10 or 100 more or less than a given number up to 1,200.
Use an understanding of place value to determine the number that is 10 or 100 more or less than a given number up to 1,200.
Use
AN UNDERSTANDING OF PLACE VALUE TO DETERMINE THE NUMBER THAT IS 10 OR 100 MORE OR LESS THAN A GIVEN NUMBER UP TO 1,200
Including, but not limited to:
· Whole numbers (0 – 1,200) 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Place value – the value of a digit as determined by its location in a number such as ones, tens, hundreds, one thousands, etc. 
· One thousands place
· Hundreds place
· Tens place
· Ones place
· Comparative language 
· Greater than, more than
· Less than, fewer than
· Relationships based on place value 
· 10 more or 10 less 
1. Adding 1 in the tens place will generate a number that is 10 more than the original number. 
1. Ex:
[image: http://files5.teksresourcesystem.net/046137204085127061211255008051236198090249107159/Download.ashx?hash=2.2]
. Subtracting 1 in the tens place will generate a number that is 10 less than the original number. 
. Ex:
[image: http://files5.teksresourcesystem.net/232165184097244128225022083072219192054254033051/Download.ashx?hash=2.2]
· 100 more or 100 less 
· Adding 1 in the hundreds place will generate a number that is 100 more than the original number. 
1. Ex:
[image: http://files5.teksresourcesystem.net/092087124111050239046181125230182118172016125247/Download.ashx?hash=2.2]
. Subtracting 1 in the hundreds place will generate a number that is 100 less than the original number. 
. Ex:
[image: http://files5.teksresourcesystem.net/014007143197229030063181109111251205080202236091/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 used relationships to determine the number that is 10 more and 10 less than a given number up to 120.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
· I. Numeric Reasoning
· IX. Communication and Representation
· X. Connections


	2.7C
	Represent and solve addition and subtraction word problems where unknowns may be any one of the terms in the problem.
Represent and solve addition and subtraction word problems where unknowns may be any one of the terms in the problem.
Represent, Solve
ADDITION AND SUBTRACTION WORD PROBLEMS WHERE UNKNOWNS MAY BE ANY ONE OF THE TERMS IN THE PROBLEM
Including, but not limited to:
· Whole numbers 
· Counting (natural) numbers – the set of positive numbers that begins at one and increases by increments of one each time {1, 2, 3, ..., n}
· Whole numbers – the set of counting (natural) numbers and zero {0, 1, 2, 3, ..., n}
· Addition 
· Sum – the total when two or more addends are joined
· Addend – a number being added or joined together with another number(s)
· Addition of whole numbers within 1,000
· With or without regrouping
· Subtraction 
· Difference – the remaining amount after the subtrahend has been subtracted from the minuend
· Minuend – a number from which another number will be subtracted
· Subtrahend – a number to be subtracted from a minuend
· Subtraction of whole numbers within 1,000
· With or without regrouping
· Term – a number and/or an unknown in an expression separated by an operation symbol(s)
· Expression – a mathematical phrase, with no equal sign, that may contain a number(s), an unknown(s), and/or an operator(s)
· Number sentence – a mathematical statement composed of numbers, and/or an unknown(s), and/or an operator(s), and an equality or inequality symbol 
· Number sentences, or equations, with an equal sign at the beginning or end 
1. Ex: 10 = 6 + 4; 6 + 4 = 10
1. Ex: 6 = 10 – 4; 10 – 4 = 6
· Represent mathematical and real-world problem situations 
. Concrete models 
1. Objects represent the quantities described in the problem situation.
1. Base-10 blocks, place value disks, etc.
. Pictorial models 
2. Pictures drawn represent the quantities described in the problem situation.  
2. Base-10 pictorials, number lines, strip diagrams, etc.
. Numbers 
3. Numbers represent the quantities described in the problem situation.
. Oral and written descriptions 
4. Explanation of relationship between objects, pictorials, and numbers and the information in the problem situation
· Solve mathematical and real-world problem situations with the result unknown. 
. One-step problems
. Connection between information in the problem and problem type 
2. Addition result unknown 
1. a + b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/061040090043207233168207126041193107027134110107/Download.ashx?hash=2.2]
1. Part-part-whole whole unknown 
1. a + b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/231211036114223123031179228165160201057152072111/Download.ashx?hash=2.2]
1. Comparison larger quantity unknown 
1. a + b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/001192073061057137214220189154096192019142080074/Download.ashx?hash=2.2]
1. Subtraction result unknown 
1. a – b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/003232067153225113142223000088231242221032091038/Download.ashx?hash=2.2]
1. Part-part-whole part unknown 
1. a – b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/105110196067144027089251141016200104033128141213/Download.ashx?hash=2.2]
1. Comparison difference unknown 
1. a – b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/111145068063218248096007155202236188157255019167/Download.ashx?hash=2.2]
1. Comparison smaller part unknown 
1. a – b = __
1. Ex:
[image: http://files5.teksresourcesystem.net/207014175088137155122018044055220163203143164094/Download.ashx?hash=2.2]
· Solve mathematical and real-world problem situations with the change unknown. 
· One-step problems
· Connection between information in the problem and problem type
· Connection between solution strategies for similar problem types 
3. Addition change unknown 
1. a + __ = c 
1. Can be solved as c – a = __
. Ex:
[image: http://files5.teksresourcesystem.net/009076068069175165170061005236244146153088032115/Download.ashx?hash=2.2]
1. Part-part-whole part unknown 
1. a + __ = c 
1. Can be solved as c – a = __
. Ex:
[image: http://files5.teksresourcesystem.net/104042146151159012006222244179172091225035076060/Download.ashx?hash=2.2]
1. Comparison difference unknown 
1. a + __ = c 
1. Can be solved as c – a = __
. Ex:
[image: http://files5.teksresourcesystem.net/140220180090178172123107054223210017135048237031/Download.ashx?hash=2.2]
1. Subtraction change unknown 
1. a – __ = c 
1. Can be solved as c – a = __
. Ex:
[image: http://files5.teksresourcesystem.net/083056151164195098159136012155108069160254088218/Download.ashx?hash=2.2]
· Solve mathematical and real-world problem situations with the start unknown. 
· One-step problems
· Connection between information in the problem and problem type
· Connection between solution strategies for similar problem types 
3. Addition start unknown 
1. __ + b = c 
1. Can be solved as c – b = __
. Ex:
[image: http://files5.teksresourcesystem.net/227056134219018150248092046208213209215069086091/Download.ashx?hash=2.2]
1. Subtraction start unknown 
1. __ – b = c 
1. Can be solved as c + b = __
. Ex:
[image: http://files5.teksresourcesystem.net/210180207148020159073124173017065172182233203233/Download.ashx?hash=2.2]
· Solve mathematical and real-world problem situations with multiple operations.
. Multi-step problem situations 
. Ex:
[image: http://files5.teksresourcesystem.net/058073056077112234078208052187186164002113043218/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s):
. Grade 1 determined the unknown whole number in an addition or subtraction equation when the unknown may be any one of the three or four terms in the equation.
. Grade 3 will represent one and two-step problems involving addition and subtraction of whole numbers to 1,000 using pictorial models, number lines, and equations.
. Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
. Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
. I. Numeric Reasoning
. II.D. Algebraic Reasoning – Representations
. VIII. Problem Solving and Reasoning
. IX. Communication and Representation
. X. Connections


	2.8
	Geometry and measurement. The student applies mathematical process standards to analyze attributes of two-dimensional shapes and three-dimensional solids to develop generalizations about their properties. The student is expected to:

	2.8A
	Create two-dimensional shapes based on given attributes, including number of sides and vertices.
Create two-dimensional shapes based on given attributes, including number of sides and vertices.
Create
TWO-DIMENSIONAL SHAPES BASED ON GIVEN ATTRIBUTES, INCLUDING NUMBER OF SIDES AND VERTICES
Including, but not limited to:
· Variety of materials and drawings 
· Computer programs
· Art materials 
2. Ex: crayons, chenille sticks, toothpicks, yarn, paint, geoboard, cutting paper, dot paper, grid paper, etc.
· Two-dimensional figure – a figure with two basic units of measure, usually length and width
· Polygon – a closed figure with at least 3 sides, where all sides are straight (no curves) 
. Ex:
[image: http://files5.teksresourcesystem.net/119037058105184005080150132071172034176101185224/Download.ashx?hash=2.2]
· Spatial visualization – creation and manipulation of mental representations of shapes
· Attributes of two-dimensional figures – characteristics that define a geometric figure (e.g., sides, vertices, etc.)
· Attributes of two-dimensional figures 
· Side – a straight outer boundary between two vertices (line segment) of a two-dimensional figure 
1. Number of sides
1. Length of sides
. Vertex (vertices) in a two-dimensional figure – the point (corner) where two sides of a two-dimensional figure meet 
2. Number of vertices
. Types of corners 
3. Square corners 
1. Square corners can be determined using the corner of a known square or rectangle (e.g., sticky note, sheet of paper, etc.). 
1. Ex:
[image: http://files5.teksresourcesystem.net/083253048203107183069213230055052239161041136096/Download.ashx?hash=2.2]
1. May have a box in corner to represent square corner 
1. Ex:
[image: http://files5.teksresourcesystem.net/241059069163255027197009004055014041077012151097/Download.ashx?hash=2.2]
1. Not square corners
1. Opposite corners
· Attributes that do not identify two-dimensional figures 
. Orientation
. Size
. Color
. Texture
· Regular figure – a polygon with all side lengths and corners equal
· Irregular figure – a polygon with side lengths and/or corners that are not all equal
· Create regular and irregular two-dimensional figures based on attributes. 
. Circle 
1. A figure formed by a closed curve with all points equal distance from the center
1. No straight sides
1. No vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/179049016200020128205236176203013077211252195158/Download.ashx?hash=2.2]
. Triangle 
. 3 sides
. 3 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/163245004079225032234030225098121064233175239112/Download.ashx?hash=2.2]
. Rectangle 
. 4 sides
. 4 vertices
. Opposite sides equal in length
. 4 square corners
. Ex:
[image: http://files5.teksresourcesystem.net/243028189060060131136054155140241089133145177013/Download.ashx?hash=2.2]
. Rhombus 
. 4 sides
. 4 vertices
. All sides equal in length
. Opposite corners equal
. Ex:
[image: http://files5.teksresourcesystem.net/231007022131193210142231094163065073022042158086/Download.ashx?hash=2.2]
. Square (a special type of rectangle and a special type of rhombus) 
. 4 sides
. 4 vertices
. All sides equal in length
. Opposite sides equal in length
. 4 square corners
. Opposite corners equal
. Ex:
[image: http://files5.teksresourcesystem.net/121087113210105052230026213008175023158093143241/Download.ashx?hash=2.2]
. Pentagon 
. 5 sides
. 5 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/061174011182208128080059139003072044255211168108/Download.ashx?hash=2.2]
. Hexagon 
. 6 sides
. 6 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/164207102200162068204046097021019255080091081181/Download.ashx?hash=2.2]
. Heptagon or septagon 
. 7 sides
. 7 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/013023107018217212205045076198007211064117040082/Download.ashx?hash=2.2]
. Octagon 
. 8 sides
. 8 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/089150183181190082213217090084034189235234023119/Download.ashx?hash=2.2]
. Nonagon or enneagon 
. 9 sides
. 9 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/146116248170046002177249051178050028186054212001/Download.ashx?hash=2.2]
. Decagon 
. 10 sides
. 10 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/060040111221035157123086250053255129177133242028/Download.ashx?hash=2.2]
. Undecagon or hendecagon 
. 11 sides
. 11 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/075159159168201237053076093062075218065089084098/Download.ashx?hash=2.2]
. Dodecagon 
. 12 sides
. 12 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/024254218052230088098151155163152154061062039247/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s):
. Grade 1 created two-dimensional figures, including circles, triangles, rectangles, and squares, as special rectangles, rhombuses, and hexagons.
. Grade 1 identified two-dimensional shapes, including circles, triangles, rectangles, and squares, as special rectangles, rhombuses, and hexagons and describe their attributes using formal geometric language.
. Grade 3 will use attributes to recognize rhombuses, parallelograms, trapezoids, rectangles, and squares as examples of quadrilaterals and draw examples of quadrilaterals that do not belong to any of these subcategories.
. Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
. Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
. III.A. Geometric Reasoning – Figures and their properties
. IX. Communication and Representation


	2.8B
	Classify and sort three-dimensional solids, including spheres, cones, cylinders, rectangular prisms (including cubes as special rectangular prisms), and triangular prisms, based on attributes using formal geometric language.
Classify and sort three-dimensional solids, including spheres, cones, cylinders, rectangular prisms (including cubes as special rectangular prisms), and triangular prisms, based on attributes using formal geometric language.
Classify, Sort
THREE-DIMENSIONAL SOLIDS, INCLUDING SPHERES, CONES, CYLINDERS, RECTANGULAR PRISMS (INCLUDING CUBES AS SPECIAL RECTANGULAR PRISMS), AND TRIANGULAR PRISMS, BASED ON ATTRIBUTES USING FORMAL GEOMETRIC LANGUAGE
Including, but not limited to:
· Three-dimensional figure – a figure that has measurements including length, width (depth), and height
· Sort – grouping objects or figures by a shared characteristic or attribute
· Classify – applying an attribute to categorize a sorted group
· Attributes of three-dimensional figures – characteristics that define a geometric figure (e.g., faces, curved surfaces, edges, vertices, etc.)
· Properties of three-dimensional figures – relationship of attributes within a geometric figure (e.g., a rectangular prism has 6 faces and each pair of opposite faces are the same size and shape, etc.) and between a group of geometric figures (e.g., a cube and a rectangular prism both have 6 faces with opposite faces equal in size and shape; however, a cube has only square faces but a rectangular prism can have square or rectangular faces; etc.)
· Attributes of three-dimensional figures 
· Surfaces 
1. Curved surface
1. Flat surface
. Face of a prism – a polygon that forms a surface of a prism 
2. Number of faces
2. Shape of faces
. Edge – where the sides of two faces meet on a three-dimensional figure 
3. Number of edges
. Vertex (vertices) in a three-dimensional figure – the point (corner) where three or more edges of a three-dimensional figure meet 
4. Number of vertices
. Curved surface three-dimensional figures 
5. Cone 
1. 1 flat surface shaped like a circle
1. 1 curved surface
1. 1 vertex
1. Ex:
[image: http://files5.teksresourcesystem.net/133136029119232010022035097108042127066133028147/Download.ashx?hash=2.2]
1. Cylinder 
1. 2 equal, opposite, flat surfaces shaped like circles
1. 1 curved surface
1. Ex:
[image: http://files5.teksresourcesystem.net/150121124204193247082159101034155114214080150185/Download.ashx?hash=2.2]
1. Sphere 
1. 1 curved surface with all points on the surface equal distance from the center
1. Ex:
[image: http://files5.teksresourcesystem.net/091180246139088124196169053081131206240201226114/Download.ashx?hash=2.2]
. Prisms 
. Triangular prism 
. 5 faces (2 triangular faces, 3 rectangular faces)
. 9 edges
. 6 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/108091070237109158098057196051197119234194195108/Download.ashx?hash=2.2]
1. Rectangular prism 
1. 6 rectangular faces
1. 12 edges
1. 8 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/069144132226146173012229121250043227255223145142/Download.ashx?hash=2.2]
1. Cube (special rectangular prism) 
1. 6 square faces
1. 12 edges
1. 8 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/169130148035057005099105136172089000185196197251/Download.ashx?hash=2.2] 
· Concrete models (e.g., wood or plastic figures, etc.), real-world objects (e.g., a cereal box, can of beans, etc.), and pictorial models (e.g., drawings, images, etc.)
· Collection of three-dimensional figures 
· Sort and justify 
1. Rule used for sorting expressed
1. Attributes and properties of geometric figures expressed 
2. Existence (have) and absence (do not have) of attributes and properties expressed (e.g., figures that have “a common attribute” and figures that do not have “a common attribute”)
. Ex:
[image: http://files5.teksresourcesystem.net/007145044181176133199058054198194095030075118100/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 1 classified and sorted regular and irregular two-dimensional shapes based on attributes using informal geometric language.
· Grade 3 will classify and sort two- and three-dimensional figures, including cones, cylinders, spheres, triangular and rectangular prisms, and cubes, based on attributes using formal geometric language.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· III.A. Geometric Reasoning – Figures and their properties
· IX. Communication and Representation


	2.8C
	Classify and sort polygons with 12 or fewer sides according to attributes, including identifying the number of sides and number of vertices.
Classify and sort polygons with 12 or fewer sides according to attributes, including identifying the number of sides and number of vertices.
Classify, Sort
POLYGONS WITH 12 OR FEWER SIDES ACCORDING TO ATTRIBUTES, INCLUDING IDENTIFYING THE NUMBER OF SIDES AND NUMBER OF VERTICES
Including, but not limited to:
· Two-dimensional figure – a figure with two basic units of measure, usually length and width
· Sort – grouping objects or figures by a shared characteristic or attribute
· Classify – applying an attribute to categorize a sorted group
· Attributes of two-dimensional figures – characteristics that define a geometric figure (e.g., sides, vertices, etc.)
· Properties of two-dimensional figures – relationship of attributes within a geometric figure (e.g., a square has 4 sides equal in length and 4 square corners, etc.) and between a group of geometric figures (e.g., a square and a rectangle both have 4 sides and 4 square corners; however, a square has 4 sides equal in length but a rectangle has only opposite sides equal in length; etc.)
· Regular figure – a polygon with all side lengths and corners equal
· Irregular figure – a polygon with side lengths and/or corners that are not all equal
· Attributes of two-dimensional figures 
· Side – a straight outer boundary between two vertices (line segment) of a two-dimensional figure 
1. Number of sides
1. Length of sides
. Vertex (vertices) in a two-dimensional figure – the point (corner) where two sides of a two-dimensional figure meet 
2. Number of vertices
. Types of corners 
3. Square corners 
1. Square corners can be determined using the corner of a known square or rectangle (e.g., sticky note, sheet of paper, etc.). 
1. Ex:
[image: http://files5.teksresourcesystem.net/232164130217112174216143198217032150022101160097/Download.ashx?hash=2.2]
1. May have a box in corner to represent square corner 
1. Ex:
[image: http://files5.teksresourcesystem.net/076174066024091221183059046204188157200088064018/Download.ashx?hash=2.2]
1. Not square corners
1. Opposite corners
· Polygon – a closed figure with at least 3 sides, where all sides are straight (no curves) 
. Ex:
[image: http://files5.teksresourcesystem.net/148208013123112020124058129236171206126048142010/Download.ashx?hash=2.2]
. Types of polygons 
. Triangle 
. 3 sides
. 3 vertices
. Ex:
[image: http://files5.teksresourcesystem.net/253169149039149105037049169156048052003150240051/Download.ashx?hash=2.2]
1. Rectangle 
1. 4 sides
1. 4 vertices
1. Opposite sides equal in length
1. 4 square corners
1. Ex:
[image: http://files5.teksresourcesystem.net/039137242082159020228004013171235235118249173077/Download.ashx?hash=2.2]
1. Rhombus 
1. 4 sides
1. 4 vertices
1. All sides equal in length
1. Opposite corners equal
1. Ex:
[image: http://files5.teksresourcesystem.net/051103040170205090237004129196162012016135189197/Download.ashx?hash=2.2]
1. Square (a special type of rectangle and a special type of rhombus) 
1. 4 sides
1. 4 vertices
1. All sides equal in length
1. Opposite sides equal in length
1. 4 square corners
1. Opposite corners equal
1. Ex:
[image: http://files5.teksresourcesystem.net/248105236249213194202191233049040053224074244068/Download.ashx?hash=2.2]
1. Pentagon 
1. 5 sides
1. 5 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/156170144146025187041219234196246255115048116155/Download.ashx?hash=2.2]
1. Hexagon 
1. 6 sides
1. 6 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/131035137236041138189208162033110150218249218034/Download.ashx?hash=2.2]
1. Heptagon or septagon 
1. 7 sides
1. 7 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/131042017190038002021045250002226076018103122096/Download.ashx?hash=2.2]
1. Octagon 
1. 8 sides
1. 8 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/067019064221173007115008147067206006089205144002/Download.ashx?hash=2.2]
1. Nonagon or enneagon 
1. 9 sides
1. 9 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/002246094114033245248003182218044051227112213018/Download.ashx?hash=2.2]
1. Decagon 
1. 10 sides
1. 10 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/008076182212162087105094199027020210191198026092/Download.ashx?hash=2.2]
1. Undecagon or hendecagon 
1. 11 sides
1. 11 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/220012210195178244192017095031034253087157133138/Download.ashx?hash=2.2]
1. Dodecagon 
1. 12 sides
1. 12 vertices
1. Ex:
[image: http://files5.teksresourcesystem.net/125198223044051139204229109206181061253153031032/Download.ashx?hash=2.2]
· Concrete models (e.g., wood or plastic figures, etc.) and pictorial models (e.g., drawings, images, etc.)
· Collection of two-dimensional figures 
· Sort and justify 
1. Rule used for sorting expressed
1. Attributes and properties of geometric figures expressed 
2. Existence (have) and absence (do not have) of attributes and properties expressed (e.g., figures that have “a common attribute” and figures that do not have “a common attribute”)
. Ex:
[image: http://files5.teksresourcesystem.net/022090215149077078097159085203173047129245194184/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 1 classified and sorted regular and irregular two-dimensional shapes based on attributes using informal geometric language.
· Grade 3 will classify and sort two- and three-dimensional figures, including cones, cylinders, spheres, triangular and rectangular prisms, and cubes, based on attributes using formal geometric language.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· III.A. Geometric Reasoning – Figures and their properties
· IX. Communication and Representation


	2.8D
	Compose two-dimensional shapes and three-dimensional solids with given properties or attributes.
Compose two-dimensional shapes and three-dimensional solids with given properties or attributes.
Compose
TWO-DIMENSIONAL SHAPES WITH GIVEN PROPERTIES OR ATTRIBUTES
Including, but not limited to:
· Two-dimensional figure – a figure with two basic units of measure, usually length and width
· Spatial visualization – creation and manipulation of mental representations of shapes
· Compose figures – to combine smaller geometric figures to form a larger geometric figure
· Attributes of two-dimensional figures – characteristics that define a geometric figure (e.g., sides, vertices, etc.)
· Properties of two-dimensional figures – relationship of attributes within a geometric figure (e.g., a square has 4 sides equal in length and 4 square corners, etc.) and between a group of geometric figures (e.g., a square and a rectangle both have 4 sides and 4 square corners; however, a square has 4 sides equal in length but a rectangle has only opposite sides equal in length; etc.)
· Regular figure – a polygon with all side lengths and corners equal
· Irregular figure – a polygon with side lengths and/or corners that are not all equal
· Attributes of two-dimensional figures 
· Side – a straight outer boundary between two vertices (line segment) of a two-dimensional figure 
1. Number of sides
1. Length of sides
. Vertex (vertices) in a two-dimensional figure – the point (corner) where two sides of a two-dimensional figure meet 
2. Number of vertices
. Types of corners 
3. Square corners 
1. Square corners can be determined using the corner of a known square or rectangle (e.g., sticky note, sheet of paper, etc.). 
1. Ex:
[image: http://files5.teksresourcesystem.net/232164130217112174216143198217032150022101160097/Download.ashx?hash=2.2]
1. May have a box in corner to represent square corner 
1. Ex:
[image: http://files5.teksresourcesystem.net/076174066024091221183059046204188157200088064018/Download.ashx?hash=2.2]
1. Not square corners
1. Opposite corners
· Attributes that do not identify a two-dimensional figure 
. Orientation
. Size
. Color
. Texture
· Compose two-dimensional figures using a variety of concrete models. 
. Ex: Color tiles, pattern blocks, tangrams, attribute shapes, etc.
· Compose regular and irregular figures based on attributes. 
. Ex: Compose a two-dimensional figure with square corners when given unit squares.
[image: http://files5.teksresourcesystem.net/059010098120167231069083225036050242072116155245/Download.ashx?hash=2.2]
. Ex: Compose a two-dimensional figure with square corners when given two triangles.
[image: http://files5.teksresourcesystem.net/184076227064148092239078077125086121155193253203/Download.ashx?hash=2.2]
. Ex: Compose a two-dimensional figure with all sides equal in length when given two regular triangles.
[image: http://files5.teksresourcesystem.net/091123079236124011118062064102193118198150057206/Download.ashx?hash=2.2]
. Ex: Compose two-dimensional figure with four vertices and opposite sides equal in length when given four triangles.
[image: http://files5.teksresourcesystem.net/064033094053116251116015052134109104180239139188/Download.ashx?hash=2.2]
. Ex: Compose a six-sided figure when given 3 rhombuses.
[image: http://files5.teksresourcesystem.net/145147076197210142146122010215206174084152110200/Download.ashx?hash=2.2]
. Ex: Compose a six-sided figure when given a square and a rectangle.
[image: http://files5.teksresourcesystem.net/186017063176127178253153141151205035116148095059/Download.ashx?hash=2.2]
. Ex: Compose a six-sided figure when given a square and two triangles.
[image: http://files5.teksresourcesystem.net/203191000055169143195039045001148165243117078138/Download.ashx?hash=2.2]

Compose
THREE-DIMENSIONAL SOLIDS WITH GIVEN PROPERTIES OR ATTRIBUTES
Including, but not limited to:
· Three-dimensional figure – a figure that has measurements including length, width (depth), and height
· Spatial visualization – creation and manipulation of mental representations of shapes
· Compose figures – to combine smaller geometric figures to form a larger geometric figure
· Attributes of three-dimensional figures – characteristics that define a geometric figure (e.g., faces, curved surfaces, edges, vertices, etc.)
· Properties of three-dimensional figures – relationship of attributes within a geometric figure (e.g., a rectangular prism has 6 faces and each pair of opposite faces are the same size and shape, etc.) and between a group of geometric figures (e.g., a cube and a rectangular prism both have 6 faces with opposite faces equal in size and shape; however, a cube has only square faces but a rectangular prism can have square or rectangular faces; etc.)
· Attributes of three-dimensional figures 
· Surfaces 
1. Curved surface
1. Flat surface
. Face of a prism – a polygon that forms a surface of a prism 
2. Number of faces
2. Shape of faces
. Edge – where the sides of two faces meet on a three-dimensional figure 
3. Number of edges
. Vertex (vertices) in a three-dimensional figure – the point (corner) where three or more edges of a three-dimensional figure meet 
4. Number of vertices
· Attributes that do not identify a three-dimensional figure 
. Orientation
. Size
. Color
. Texture
· Compose three-dimensional figures using a variety of concrete models. 
. Ex: Unit cubes, color tiles, pattern blocks, tangrams, attribute shapes, etc.
· Compose three-dimensional figures based on attributes. 
. Ex: Build a three-dimensional solid with 6 faces and 8 vertices when given unit cubes.
[image: http://files5.teksresourcesystem.net/151195085131067120129097211105083239094066133067/Download.ashx?hash=2.2]
. Ex: Compose a three-dimensional solid when given two triangles and three rectangles.
[image: http://files5.teksresourcesystem.net/179241009042054016086176019245129255137058056078/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 composed two-dimensional shapes by joining two, three, or four figures to produce a target shape in more than one way if possible.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· III.A. Geometric Reasoning – Figures and their properties
· IX. Communication and Representation


	2.8E
	Decompose two-dimensional shapes such as cutting out a square from a rectangle, dividing a shape in half, or partitioning a rectangle into identical triangles and identify the resulting geometric parts.
Decompose two-dimensional shapes such as cutting out a square from a rectangle, dividing a shape in half, or partitioning a rectangle into identical triangles and identify the resulting geometric parts.
Decompose
TWO-DIMENSIONAL SHAPES
Including, but not limited to:
· Two-dimensional figure – a figure with two basic units of measure, usually length and width
· Spatial visualization – creation and manipulation of mental representations of shapes
· Decompose figures – to break a geometric figure into two or more smaller geometric figures
· Decompose two-dimensional figures by cutting, dividing, or partitioning. 
· Such as cutting a square from a rectangle
· Such as dividing a shape in half
· Such as partitioning a rectangle into identical triangles
· Resulting shapes equal or not equal 
· Ex:
[image: http://files5.teksresourcesystem.net/216050100128047039042084077172243083255209138232/Download.ashx?hash=2.2]
· Decompose two-dimensional shapes using a variety of concrete models and materials. 
· Ex: Color tiles, pattern blocks, tangrams, attribute shapes, paper, scissors, etc.

Identify
THE RESULTING GEOMETRIC PARTS OF A DECOMPOSED TWO-DIMENSIONAL SHAPE
Including, but not limited to:
· Two-dimensional figure – a figure with two basic units of measure, usually length and width
· Name resulting geometric figures (e.g., a rectangle partitioned into smaller rectangles that may or may not be equal in size or shape; a rectangle partitioned into triangles that may or may not be equal in size or shape; etc.) 
· Ex:
[image: http://files5.teksresourcesystem.net/222092019131025013076048133005085150047173229051/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Applying knowledge of two-dimensional shapes and three-dimensional solids, including exploration of early fraction concepts
· TxCCRS: 
· III.A. Geometric Reasoning – Figures and their properties
· IX. Communication and Representation


	2.9
	Geometry and measurement. The student applies mathematical process standards to select and use units to describe length, area, and time. The student is expected to:

	2.9A
	Find the length of objects using concrete models for standard units of length.
Find the length of objects using concrete models for standard units of length.
Find
THE LENGTH OF OBJECTS USING CONCRETE MODELS FOR STANDARD UNITS OF LENGTH
Including, but not limited to:
· Length – the measurement attribute that describes a continuous distance from end to end
· Unit of length – the object or unit used to measure length
· Concrete models that represent standard units of length 
· Typically used customary units of length 
1. Inch represented by a color tile, etc.
1. Foot represented by a 12 inch ruler as a single unit, etc.
1. Yard represented by a yardstick as a single unit, etc.
. Typically used metric units of length 
2. Centimeter represented by a base-10 unit cube, etc.
2. Decimeter represented by a base-10 long, orange Cuisenaire rod, etc.
2. Meter represented by a meter stick as a single unit, etc.
· Length described to the nearest whole unit using a number and a unit
· Linear measurement – the measurement of length along a continuous line or curve 
. Starting point and ending point defined 
1. Ex:
[image: http://files5.teksresourcesystem.net/129036081021006149077092202232079116035101194133/Download.ashx?hash=2.2]
. Equal sized units of length placed end to end along the distance being measured 
. Ex:
[image: http://files5.teksresourcesystem.net/186156154019051070236218125053205008114047151125/Download.ashx?hash=2.2]
. Equal sized units of length iterated (repeated) with no gaps or overlays 
. Ex:
[image: http://files5.teksresourcesystem.net/006007158183169111137210051200082134178171028187/Download.ashx?hash=2.2]
. Length measured using one-dimensional units of length (e.g., if measuring with a color tile, measure with the edge, not the area of the color tile; if measuring with a color tile, measure with the same dimension of the color tile; etc.)
. Ex:
[image: http://files5.teksresourcesystem.net/049244240059195034207178019098055255071021010044/Download.ashx?hash=2.2]
. Equal sized units of length counted to the nearest whole unit 
. Last unit is not counted if the end point falls less than half-way along the unit.
. Last unit is counted if the end point falls half-way, or more than half-way, along the unit.
. Ex:
[image: http://files5.teksresourcesystem.net/223024062117004012015089091200055063210093222106/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/080020052117009119154238019087041243236247076150/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/171070074143030138131055085233242176139057250174/Download.ashx?hash=2.2]
· Unit of length selected for efficiency 
· Smaller unit of length to measure shorter objects or distances 
1. Ex:
[image: http://files5.teksresourcesystem.net/010226154223233144195167145091140025215158217193/Download.ashx?hash=2.2]
. Larger unit of length to measure longer objects or distances 
. Ex:
[image: http://files5.teksresourcesystem.net/166165165247180093062020231252047088015158168061/Download.ashx?hash=2.2]
· Unit of length selected for precision 
· Smaller unit of length results in a more precise measurement when measuring to the whole unit
· Larger unit of length results in a less precise measurement when measuring to the whole unit

Note(s):
· Grade Level(s): 
· Grade 1 illustrated that the length of an object is the number of same-size units of length that, when laid end-to-end with no gaps or overlaps, reach from one end of the object to the other.
· Grade 1 described a length to the nearest whole unit using a number and a unit.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Measuring length
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· IX. Communication and Representation


	2.9B
	Describe the inverse relationship between the size of the unit and the number of units needed to equal the length of an object.
Describe the inverse relationship between the size of the unit and the number of units needed to equal the length of an object.
Describe
THE INVERSE RELATIONSHIP BETWEEN THE SIZE OF THE UNIT AND THE NUMBER OF UNITS NEEDED TO EQUAL THE LENGTH OF AN OBJECT
Including, but not limited to:
· Length – the measurement attribute that describes a continuous distance from end to end
· Unit of length – the object or unit used to measure length
· Concrete models that represent standard units of length 
· Typically used customary units of length 
1. Inch represented by a color tile, etc.
1. Foot represented by a 12 inch ruler as a single unit, etc.
1. Yard represented by a yardstick as a single unit, etc.
. Typically used metric units of length 
2. Centimeter represented by a base-10 unit cube, etc.
2. Decimeter represented by a base-10 long, orange Cuisenaire rod, etc.
2. Meter represented by a meter stick as a single unit, etc.
· Inverse relationship between the size of the unit and the number of units needed 
. Measure the same object with different sized units of length. 
1. The shorter the unit of length, the more units needed
1. The longer the unit of length, the fewer units needed
1. Ex:
[image: http://files5.teksresourcesystem.net/029143137132204131052228096175168254118022052190/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 measured the same object/distance with units of two different lengths and described how and why the measurements differ.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Measuring length
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· IX. Communication and Representation


	2.9C
	Represent whole numbers as distances from any given location on a number line.
Represent whole numbers as distances from any given location on a number line.
Represent
WHOLE NUMBERS AS DISTANCES FROM ANY GIVEN LOCATION ON A NUMBER LINE
Including, but not limited to:
· Characteristics of a number line 
· A number line begins as a line with predetermined intervals (or tick marks) with positions/numbers labeled. 
1. A minimum of two positions/numbers should be labeled.
. Numbers on a number line represent the distance from zero.
. The distance between the tick marks is counted rather than the tick marks themselves.
. The placement of the labeled positions/numbers on a number line determines the scale of the number line. 
4. Intervals between position/numbers are proportional.
. When reasoning on a number line, the position of zero may or may not be placed. 
. When working with larger numbers, a number line without the constraint of distance from zero allows the ability to “zoom-in” on the relevant section of the number line.
. Number lines extend infinitely in both directions (arrows indicate the number line continues infinitely).
. Numbers increase from left to right on a horizontal number line and from bottom to top on a vertical number line. 
8. Points to the left of a specified point on a horizontal number line are less than points to the right.
8. Points to the right of a specified point on a horizontal number line are greater than points to the left.
8. Points below a specified point on a vertical number line are less than points above.
8. Points above a specified point on a vertical number line are greater than points below.
· Whole numbers represented as equally spaced lengths or distances from zero on a number line 
. Relationship between a whole number represented using a strip diagram to a whole number represented on a number line 
1. Ex:
[image: http://files5.teksresourcesystem.net/225053033154113164063224179054094175143086147077/Download.ashx?hash=2.2]
. Number lines beginning with a number other than zero 
. Distance from zero to first marked increment is assumed even when not visible on the number line.
. Ex:
[image: http://files5.teksresourcesystem.net/033109212132023065042077246015155007217227070125/Download.ashx?hash=2.2]
· Relationship between whole numbers as distances from zero on a number line to whole unit measurements as distances from zero on a customary ruler, yardstick, or measuring tape 
· Ex:
[image: http://files5.teksresourcesystem.net/225138070236100196134072048052230246048235158154/Download.ashx?hash=2.2]
. Measuring a specific length using a distance other than zero on a ruler, yardstick, or measuring tape 
. Distance from zero to first marked increment not counted
. Length determined by number of whole units between starting point and ending point 
. Ex:
[image: http://files5.teksresourcesystem.net/203249037083193079211128109236117226079209003139/Download.ashx?hash=2.2]
· Relationship between distances from zero on a number line, distances from zero on the scale of a bar graph, and heights of the bars within the graph
. Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs
. Ex:
[image: http://files5.teksresourcesystem.net/144236052029195146220223188214233089180139218048/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 3 will represent fractions of halves, fourths, and eighths as distances from zero on a number line.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Measuring length
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· IX. Communication and Representation


	2.9D
	Determine the length of an object to the nearest marked unit using rulers, yardsticks, meter sticks, or measuring tapes.
Determine the length of an object to the nearest marked unit using rulers, yardsticks, meter sticks, or measuring tapes.
Determine
THE LENGTH OF AN OBJECT TO THE NEAREST MARKED UNIT USING RULERS, YARDSTICKS, METER STICKS, OR MEASURING TAPES
Including, but not limited to:
· Length – the measurement attribute that describes a continuous distance from end to end
· Unit of length – the object or unit used to measure length
· Linear measurement – the measurement of length along a continuous line or curve
· Standard linear measurement tools 
· Typically used customary linear measurement tools 
1. Ruler with inches, yardstick, measuring tape
. Typically used metric linear measurement tools 
2. Ruler with centimeters, meter stick, measuring tape
· Standard units of length 
. Typically used customary units of length 
1. Inches, feet, yards
. Typically used metric units of length 
2. Centimeters, meters
· Relationship between finding the length of objects using concrete models for standard units of length to whole unit measurements on a customary ruler, yardstick, or measuring tape 
. Ex:
[image: http://files5.teksresourcesystem.net/219158039027245194169051239255045118177053225021/Download.ashx?hash=2.2]
· Relationship between whole numbers as distances from zero on a number line to whole unit measurements as distances from zero on a customary ruler, yardstick, or measuring tape 
· Ex:
[image: http://files5.teksresourcesystem.net/021058090077244124079111045036061123070079002143/Download.ashx?hash=2.2]
· Determine length to the nearest whole unit. 
· Starting point and ending point defined
· Edge of measuring tool placed along the distance being measured, aligned with the start point of the distance being measured
· Equal sized units of length counted to the nearest whole unit 
3. Last unit is not counted if the end point falls less than half-way along the unit.
3. Last unit is counted if the end point falls half-way, or more than half-way, along the unit.
3. Ex:
[image: http://files5.teksresourcesystem.net/210006096172146154255189009217132111191240233118/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/001109169203067188205137181237233179011119174073/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/111254073084064241229113015175028222076120233037/Download.ashx?hash=2.2]
. Measuring a specific length using a starting point other than zero on a ruler, yardstick, or measuring tape 
. Distance from zero to first marked increment not counted
. Length determined by number of whole units between starting point and ending point 
. Ex:
[image: http://files5.teksresourcesystem.net/022008007052059055076194113064114223115069083024/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 used non-standard measuring tools to measure the length of objects to reinforce the continuous nature of linear measurement.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Measuring length
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· IX. Communication and Representation


	2.9E
	Determine a solution to a problem involving length, including estimating lengths.
Determine a solution to a problem involving length, including estimating lengths.
Determine
A SOLUTION TO A PROBLEM INVOLVING LENGTH, INCLUDING ESTIMATING LENGTHS
Including, but not limited to:
· Length – the measurement attribute that describes a continuous distance from end to end
· Mathematical and real-world problem situations 
· Recognition of attributes of length embedded in mathematical and real-world problem situations (e.g., distance traveled from one place to another, length of an object, perimeter, etc.) 
1. Ex: Robert walked from his house to his friend’s house. How far did he walk? (Solved by measuring the distance from Robert’s house to his friend’s house.)
1. Ex: Sherri bought a giant pencil at the fall festival. Will the giant pencil fit in Sherri’s backpack? (Solved by measuring and comparing the length of the pencil and the length of the backpack.)
1. Ex: Ms. Ricke hung a decorative border along the top edge of her bulletin board. How much decorative border did she use? (Solved by measuring the length of the top edge of the bulletin board.)
. One-step or multi-step problems 
2. Measurement of one or more distances/lengths
. Multiple operations 
3. Addition and/or subtraction of whole unit measurements
. Solutions recorded to the nearest whole unit with a number and a unit label
. Ex:
[image: http://files5.teksresourcesystem.net/239160225205154189211131032245124197053255145130/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/011070012249151037069200237127251200114022123250/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/122157092020121123098064193228238079032162189001/Download.ashx?hash=2.2&w=716]
· Estimation – reasoning to determine an approximate value 
· Estimation prior to solving problem
· Estimation compared to actual measurement
· Benchmarks for units of length 
3. Finger joint (thumb works best) = approximately 1 inch
3. Tip of your finger = approximately 1 centimeter
3. Span of your palm = approximately 1 decimeter
3. Elbow to wrist = approximately 1 foot
3. Nose to fingertip of extended arm = approximately 1 yard
3. Nose to fingertip of extended arm with head turned away = approximately 1 meter
. Language related to estimation 
4. About, a little less than, a little more than, almost, nearly, approximately, etc.

Note(s):
· Grade Level(s): 
· Grade 3 will determine the perimeter of a polygon or a missing length when given perimeter and remaining side lengths in problems.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Measuring length
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· VIII. Problem Solving and Reasoning
· IX. Communication and Representation


	2.9F
	Use concrete models of square units to find the area of a rectangle by covering it with no gaps or overlaps, counting to find the total number of square units, and describing the measurement using a number and the unit.
Use concrete models of square units to find the area of a rectangle by covering it with no gaps or overlaps, counting to find the total number of square units, and describing the measurement using a number and the unit.
Use
CONCRETE MODELS OF SQUARE UNITS TO FIND THE AREA OF A RECTANGLE BY COVERING IT WITH NO GAPS OR OVERLAPS, COUNTING TO FIND THE TOTAL NUMBER OF SQUARE UNITS, AND DESCRIBING THE MEASUREMENT USING A NUMBER AND THE UNIT
Including, but not limited to:
· Area – the measurement attribute that describes the number of square units a figure or region covers
· Square unit – an object or unit, shaped like a square, used to measure area
· Concrete models of non-standard square units 
· Flat surface of color tiles, unit cubes, base-10 flats, square sticky notes, etc.
· Area of a rectangle (including squares as special rectangles) 
· Boundary of rectangle defined
· Equal sized square units iterated (repeated) in rows and columns inside the boundary of the rectangle being measured 
2. Ex:
[image: http://files5.teksresourcesystem.net/047179012000199068085118181038175111218215249207/Download.ashx?hash=2.2]
. Equal sized square units iterated (repeated) in rows and columns with no gaps or overlays 
. Ex:
[image: http://files5.teksresourcesystem.net/042148151185178110058182235216227176057013176124/Download.ashx?hash=2.2]
. Area measured using two-dimensional square units (e.g., if measuring with a color tile, measure with the square surface of the color tile, not the side of the color tile, etc.)
. Equal sized square units counted to the nearest whole unit 
. Last square unit in each row/column is not counted if the boundary of the rectangle falls less than half-way through the square unit(s).
. Last square unit in each row/column is counted if the boundary of the rectangle falls more than half-way through the square unit(s).
· Measurement determined by counting the number of whole units within the defined boundary 
. Determined by counting each whole unit individually
. Determined by counting length of one row and it’s iteration (e.g., skip counting the number of units in each row to the last row such as 3 rows of 5 square units would be 5, 10, 15 or using repeated addition 5 + 5 + 5 = 15, etc.)
· Measurement described using a number and the label square unit(s)
· Ex:
[image: http://files5.teksresourcesystem.net/109128107010010215084099168012004124140185124066/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/134202136066235128189106129119231055115105235138/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/165211178175159000112110241023038149128149003118/Download.ashx?hash=2.2&w=716]
· Appropriate square unit selected 
· Square unit selected for efficiency 
1. Smaller square unit to measure smaller rectangles
1. Larger square unit to measure larger rectangles
. Square unit selected for precision 
2. Smaller square unit results in a more precise measurement when measuring to the whole unit
2. Larger square unit results in a less precise measurement when measuring to the whole unit
· Inverse relationship between the size of the square unit and the number of square units needed 
. Measure a rectangle with a small square unit and then measure the same rectangle with a large square unit 
1. The smaller the square unit, the more square units needed
1. The larger the square unit, the fewer square units needed

Note(s):
· Grade Level(s): 
· Grade 2 introduces using concrete models of square units to find the area of a rectangle by covering it with no gaps or overlaps, counting to find the total number of square units, and describing the measurement using a number and the unit.
· Grade 3 will determine the area of rectangles with whole number side lengths in problems using multiplication related to the number of rows times the number of unit squares in each row.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Grade Level Connections (reinforces previous learning and/or provides development for future learning)
· TxCCRS: 
· IV.A Measurement Reasoning – Measurement involving physical and natural attributes
· IX. Communication and Representation


	2.9G
	Read and write time to the nearest one-minute increment using analog and digital clocks and distinguish between a.m. and p.m.
Read and write time to the nearest one-minute increment using analog and digital clocks and distinguish between a.m. and p.m.
Read, Write
TIME TO THE NEAREST ONE-MINUTE INCREMENT USING ANALOG AND DIGITAL CLOCKS
Including, but not limited to:
· Clocks used to describe the measurement attribute of time
· Analog clock 
· A circular number line representing 12 one-hour increments, labeled 1 – 12 
1. Numbers increase in a clockwise direction (from left to right when starting at the top) around the circle.
1. Each one-hour increment also represents 5 one-minute increments that are not labeled with numbers.
. One full rotation of the face of the clock 
2. One full rotation of the hour hand represents 12 hours.
2. One full rotation of the minute hand represents 60 minutes. 
2. Skip counting by 5 from the 12 all the way around to the 12 equals 60 minutes.
. One full rotation of the second hand represents 60 seconds.
· Hour hand 
. Shorter than the minute hand and second hand
. Moves slower than the minute hand and second hand 
2. One full rotation of the minute hand moves the hour hand to the next labeled hour.
· Minute hand 
. Longer than the hour hand and usually about the same length as, but thicker than, the second hand
. Moves faster than the hour hand but slower than the second hand 
2. One full rotation of the minute hand moves the hour hand to the next labeled hour.
· Second hand 
. Longer than the hour hand and usually about the same length as, but thinner than, the minute hand
. Moves faster than the hour hand and the minute hand 
2. One full rotation of the second hand moves the minute hand to the next minute increment.
. Not all analog clocks include a second hand
· Read and write time to the minute 
. Hour determined by the location of the hour hand 
1. Hour determined by the labeled number when hour hand falls on a marked increment
1. Hour determined by the labeled number just passed when hour hand falls between marked increments, regardless of which increment it is closest to
. Minute determined by the location of the minute hand 
2. Skip count by 5 for each numbered increment, and then count on by 1 for each unmarked minute increment.
. Ex:
[image: http://files5.teksresourcesystem.net/134190232144096246061100040245022150181199109012/Download.ashx?hash=2.2&w=716]
· Digital clock 
· Colon used to separate the hour from the minutes
· Hour (1 – 12) displayed to the left of the colon 
2. Hour increases by 1 for every 60 minutes
. Minutes (00 – 59) displayed to the right of the colon 
3. Minute increases by 1 for every 60 seconds
3. One minute after 59 is displayed as :00
. Read and write time to the minute as displayed.
4. Ex:
[image: http://files5.teksresourcesystem.net/052018107175068061250016132201215000139199150248/Download.ashx?hash=2.2&w=716]
· Parts of hours represented with fraction names 
· 15 minutes read and written as “a quarter past” or “a quarter after” 
30 minutes read and written as “half past”
45 minutes read and written as “a quarter ‘til” or “a quarter to”
· Match time on an analog clock and a digital clock. 
· Ex:
[image: http://files5.teksresourcesystem.net/177207108035157090028044179216114100075154253037/Download.ashx?hash=2.2]
. Ex:
[image: http://files5.teksresourcesystem.net/149118082247031000053025088040175081176206090183/Download.ashx?hash=2.2]

Distinguish
BETWEEN a.m. AND p.m.
Including, but not limited to:
· One day equals 24 hours.
· One 24 hour day is divided into two 12 hour time periods. 
· a.m. – the abbreviation for ante meridiem or ante meridian, meaning before noon or mid-day 
1. Begins at midnight (12:00 a.m.), ends one minute before noon (11:59 a.m.)
1. Possible abbreviations: a.m.; am; A.M.; AM
. p.m. – the abbreviation for post meridiem or post meridian, meaning after noon or mid-day 
2. Begins at noon (12:00 p.m.), ends one minute before midnight (11:59 p.m.)
2. Possible abbreviations: p.m.; pm; P.M.; PM
· One full rotation of hours on the clock equals 12 hours. 
. One full rotation for a.m. and one full rotation for p.m.
· Language related to 12:00 
. 12:00 p.m. is noon or mid-day and occurs in the daylight.
. 12:00 a.m. is midnight and occurs in the dark.
· Language related to a.m. 
. Morning, sunrise, dawn, daybreak, etc.
· Language related to p.m. 
. Afternoon, evening, dusk, sunset, etc.

Note(s):
· Grade Level(s): 
· Grade 1 told time to the hour and half hour using analog and digital clocks.
· Grade 3 will determine the solutions to problems involving addition and subtraction of time intervals in minutes using pictorial models or tools such as a 15-minute event plus a 30-minute event equals 45 minutes.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Grade Level Connections (reinforces previous learning and/or provides development for future learning)
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.10
	Data analysis. The student applies mathematical process standards to organize data to make it useful for interpreting information and solving problems. The student is expected to:

	2.10A
	Explain that the length of a bar in a bar graph or the number of pictures in a pictograph represents the number of data points for a given category.
Explain that the length of a bar in a bar graph or the number of pictures in a pictograph represents the number of data points for a given category.
Explain
THAT THE LENGTH OF A BAR IN A BAR GRAPH OR THE NUMBER OF PICTURES IN A PICTOGRAPH REPRESENTS THE NUMBER OF DATA POINTS FOR A GIVEN CATEGORY
Including, but not limited to:
· Graph – a visual representation of the relationships between data collected 
· Organization of data used to interpret data, draw conclusions, and make comparisons
· Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs 
· Length of the bar in a bar graph represents the number of data points for a given category. 
1. Scale of the axis may be intervals of one or more, and scale intervals are proportionally displayed.
1. Length of the bar represents the distance from zero on the scale of the axis. 
2. The scale of the axis is a number line.
. Value of the data represented by the bar is determined by reading the number associated with its length (distance from zero) on the axis scale.
. Ex: Determine the value of the data in each category.
[image: http://files5.teksresourcesystem.net/056231085007186046108185084137182172014089185226/Download.ashx?hash=2.2&w=716]
· Pictograph – a graphical representation to organize data that uses a picture or symbol, where each picture or symbol may represent one or more than one unit of data, to show the frequency (number of times) that each category occurs 
· Number of pictures or symbols in a pictograph represents the number of data points for a given category. 
1. A key is used to identify the value of each picture or symbol.
1. Value of each picture or symbol may be one or more.
1. Partial symbols represent the fractional value of the whole picture or whole symbol. 
3. Ex:
[image: http://files5.teksresourcesystem.net/156012149029210014237036235023021026222224184144/Download.ashx?hash=2.2]
1. Value of the data in each category is determined by the total value of the pictures or symbols in that category. 
1. Ex: Determine the value of the data in each category. [image: http://files5.teksresourcesystem.net/018151243157029174000212105072070102157031073144/Download.ashx?hash=2.2&w=716]
1. Ex: Determine the value of the symbol based on the given total value for the category.
[image: http://files5.teksresourcesystem.net/180143086093005036151004223165189132240052221031/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 2 introduces bar graphs and pictographs.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS:
. IX. Communication and Representation


	2.10B
	Organize a collection of data with up to four categories using pictographs and bar graphs with intervals of one or more.
Organize a collection of data with up to four categories using pictographs and bar graphs with intervals of one or more.
Organize
A COLLECTION OF DATA WITH UP TO FOUR CATEGORIES USING PICTOGRAPHS AND BAR GRAPHS WITH INTERVALS OF ONE OR MORE
Including, but not limited to:
· Graph – a visual representation of the relationships between data collected 
· Organization of data used to interpret data, draw conclusions, and make comparisons
· Data – information that is collected about people, events, or objects 
· Categorical data – data that represents the attributes of a group of people, events, or objects 
1. Ex: What is your favorite color? Represented on a graph with colors as category labels (e.g., red, yellow, blue, and green)
1. Ex: Do you have a brother? Represented on a graph with yes and no as category labels
1. Ex: Which sporting event do you prefer? Represented on a graph with names of sports as category labels (e.g., basketball, baseball, football, and soccer)
1. Categorical data may represent numbers or ranges of numbers. 
4. Ex: How many pets do you have? Represented on a graph with numbers as category labels (e.g., 0 – 1, 2, 3, and 4 or more)
4. Ex: How many letters are in your name? Represented on a graph with ranges of numbers as category labels (e.g., 1 – 3, 4 – 6, 7 – 9, and 10 or more)
· Data organized into up to four categories
· Pictograph – a graphical representation to organize data that uses a picture or symbol, where each picture or symbol may represent one or more than one unit of data, to show the frequency (number of times) that each category occurs 
· Characteristics of a pictograph 
. Title clarifies the meaning of the data represented.
. Categorical data is represented with labels.
. Horizontal or vertical linear arrangement
. One picture or symbol is used to represent all categories.
. A key is used to identify the value of each picture or symbol.
. Number of pictures and partial-pictures or symbols represents the number of data points for a given category. 
6. Ex:
[image: http://files5.teksresourcesystem.net/134222108115249113176039053133179178101141196057/Download.ashx?hash=2.2]
1. Ex:
[image: http://files5.teksresourcesystem.net/241197121158039151010080112032117215004137172141/Download.ashx?hash=2.2&w=716]
1. Value of the data in each category is determined by the total value of the pictures or symbols in that category.
1. Ex:
[image: http://files5.teksresourcesystem.net/131024092245051121075039194195041216079213037253/Download.ashx?hash=2.2&w=716]
1. Ex:
[image: http://files5.teksresourcesystem.net/061214040079136048021186209200133169112249183252/Download.ashx?hash=2.2&w=716]
· Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs 
· Characteristics of a bar graph 
1. Title clarifies the meaning of the data represented.
1. Subtitles clarify the meaning of the data represented on each axis.
1. Categorical data is represented with labels.
1. Horizontal or vertical linear arrangement
1. Bars are solid.
1. Bars do not touch.
1. Scale of the axis may be intervals of one or more, and scale intervals are proportionally displayed. 
7. The scale of the axis is a number line.
. Length of the bar represents the number of data points for a given category. 
8. Length the bar represents the distance from zero on the scale of the axis.
. Value of the data represented by the bar is determined by reading the number associated with its length (distance from zero) on the axis scale.
. Ex:
[image: http://files5.teksresourcesystem.net/231166034195194102230056240214038243028120018024/Download.ashx?hash=2.2&w=716]
1. Ex:
[image: http://files5.teksresourcesystem.net/177137144181107123142200216096208069055125176188/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 1 used data to create picture and bar-type graphs.
· Graph 3 will summarize a data set with multiple categories using a frequency table, dot plot, pictograph, or bar graph with scaled intervals.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Developing proficiency in the use of place value within the base-10 numeration system
· TxCCRS:
. IX. Communication and Representation


	2.10C
	Write and solve one-step word problems involving addition or subtraction using data represented within pictographs and bar graphs with intervals of one.
Write and solve one-step word problems involving addition or subtraction using data represented within pictographs and bar graphs with intervals of one.
Write, Solve
ONE-STEP WORD PROBLEMS INVOLVING ADDITION OR SUBTRACTION USING DATA REPRESENTED WITHIN PICTOGRAPHS AND BAR GRAPHS WITH INTERVALS OF ONE
Including, but not limited to:
· Graph – a visual representation of the relationships between data collected 
· Organization of data used to interpret data, draw conclusions, and make comparisons
· Data – information that is collected about people, events, or objects 
· Categorical data – data that represents the attributes of a group of people, events, or objects 
1. Ex: What is your favorite color? Represented on a graph with colors as category labels (e.g., red, yellow, blue, and green)
1. Ex: Do you have a brother? Represented on a graph with yes and no as category labels
1. Ex: Which sporting event do you prefer? Represented on a graph with names of sports as category labels (e.g., basketball, baseball, football, and soccer)
1. Categorical data may represent numbers or ranges of numbers. 
4. Ex: How many pets do you have? Represented on a graph with numbers as category labels (e.g., 0 – 1, 2, 3, and 4 or more)
4. Ex: How many letters are in your name? Represented on a graph with ranges of numbers as category labels (e.g., 1 – 3, 4 – 6, 7 – 9, and 10 or more)
· Write and solve mathematical and real-world problems using data represented within pictographs and bar graphs. 
· Pictograph – a graphical representation to organize data that uses a picture or symbol, where each picture or symbol may represent one or more than one unit of data, to show the frequency (number of times) that each category occurs 
. Up to four categories
. Each picture or symbol limited to representing one unit of data
· Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs 
. Up to four categories
. Scale of the axis limited to intervals of one
· One-step problems 
. Addition or subtraction
· Ex:
[image: http://files5.teksresourcesystem.net/125089005085133128233186152049150221132059158172/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/015186194197031243239153228133012173043043099028/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 3 will solve one- and two-step problems using categorical data represented with a frequency table, dot plot, pictograph, or bar graph with scaled intervals.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS: 
· VIII. Problem Solving and Reasoning
· IX. Communication and Representation
· X. Connections


	2.10D
	Draw conclusions and make predictions from information in a graph.
Draw conclusions and make predictions from information in a graph.
Draw
CONCLUSIONS FROM INFORMATION IN A GRAPH
Including, but not limited to:
· Graph – a visual representation of the relationships between data collected 
· Organization of data used to interpret data, draw conclusions, and make comparisons
· Data – information that is collected about people, events, or objects 
· Categorical data – data that represents the attributes of a group of people, events, or objects
· Factual data – actual quantities represented in a graph used to interpret data, draw conclusions, and make comparisons
· Pictograph – a graphical representation to organize data that uses a picture or symbol, where each picture or symbol may represent one or more than one unit of data, to show the frequency (number of times) that each category occurs 
· Up to four categories
· Each picture or symbol represents one or more units of data.
· Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs 
· Up to four categories
· Scale of the axis in intervals of one or more
· Description of data represented 
· Identification of title and category labels
· Explanation of what the graph represents
· Conclusions related to the question that led to the data collection
. Numerical conclusions in the data 
. Quantities represented by the data 
. Number in each category represented 
. Number represented in a category(s) may be zero.
· Combined total represented
· Ex:
[image: http://files5.teksresourcesystem.net/214049217237081207203171071056209074069105012025/Download.ashx?hash=2.2]
. Comparisons of data represented 
. Comparative language used with numbers 
. Ex: 10 more than, 25 greater than, 2 less than, 15 fewer than, etc.
· Comparative language used without numbers 
. Ex: More than, less than, fewer than, the most, the least, the same as, equal to, etc.
· Ex:
[image: http://files5.teksresourcesystem.net/144216053142031028252105237141051095255140140108/Download.ashx?hash=2.2] 
· Changes in orientation do not affect the data. 
· Ex:
[image: http://files5.teksresourcesystem.net/254165036069022021020250212028216058059238060013/Download.ashx?hash=2.2&w=716] 

Make
PREDICTIONS FROM INFORMATION IN A GRAPH
Including, but not limited to:
· Graph – a visual representation of the relationships between data collected 
· Organization of data used to interpret data, draw conclusions, and make comparisons
· Data – information that is collected about people, events, or objects 
· Categorical data – data that represents the attributes of a group of people, events, or objects
· Inferential data – existing data used to make predictions about future data
· Pictograph – a graphical representation to organize data that uses a picture or symbol, where each picture or symbol may represent one or more than one unit of data, to show the frequency (number of times) that each category occurs 
· Up to four categories
· Each picture or symbol represents one or more units of data.
· Bar graph – a graphical representation to organize data that uses solid bars that do not touch each other to show the frequency (number of times) that each category occurs 
· Up to four categories
· Scale of the axis in intervals of one or more
· Make predictions based on patterns in the data collected. 
· Ex:
[image: http://files5.teksresourcesystem.net/208242176186039033237089223209043010207050041079/Download.ashx?hash=2.2&w=716]
· Make predictions based on comparisons of quantities in the data collected. 
· Ex:
[image: http://files5.teksresourcesystem.net/029135116063233087148024248035016231157084238196/Download.ashx?hash=2.2&w=716]
· Make predictions about future actions based on the purpose of the data collection. 
· Ex:
[image: http://files5.teksresourcesystem.net/154151001051019041232130070063053143080023060141/Download.ashx?hash=2.2&w=716] 

Note(s):
· Grade Level(s): 
· Grade 1 drew conclusions and generated and answered questions using information from picture and bar-type graphs.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Using place value and properties of operations to solve problems involving addition and subtraction of whole numbers within 1,000
· TxCCRS:
. IX. Communication and Representation


	2.11
	Personal financial literacy. The student applies mathematical process standards to manage one's financial resources effectively for lifetime financial security. The student is expected to:

	2.11A
	Calculate how money saved can accumulate into a larger amount over time.
Calculate how money saved can accumulate into a larger amount over time.
Calculate
HOW MONEY SAVED CAN ACCUMULATE INTO A LARGER AMOUNT OVER TIME
Including, but not limited to:
· Saving – setting aside money earned or received for future use
· Saving can result in an increase of money over time. 
· Money may be saved in a bank account, piggy bank, etc.
· Money saved in a bank account may earn interest. 
2. Interest earned – money received for saving money in a bank account
· Calculate savings over time. 
. Relationship between saving money and addition 
1. Saving money is equivalent to adding money to a bank account, piggy bank, etc. 
1. Adding money to a bank account or piggy bank will result in a larger amount of money.
1. Adding interest to a bank account will result in a larger amount of money.
· Ex:
[image: http://files5.teksresourcesystem.net/110079237124051004012083027141102249090230076042/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/023235229045088116110190062084004064138049221013/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 1 distinguished between spending and saving.
· Grade 3 will list reasons to save and explain the benefit of a savings plan, including for college.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· I. Numeric Reasoning
· VIII. Problem Solving and Reasoning
· IX. Communication and Representation
· X. Connections


	2.11B
	Explain that saving is an alternative to spending.
Explain that saving is an alternative to spending.
Explain
THAT SAVING IS AN ALTERNATIVE TO SPENDING
Including, but not limited to:
· Money earned may be spent or saved. 
· Spending – purchasing goods and services to satisfy wants and needs 
1. Spending results in a decrease in the amount of money you have.
. Saving – setting aside money earned or received for future use 
2. Saving results in no decrease in the amount of money you have.
2. Saving may result in an increase in the amount of money you have.
2. Money may be saved in a bank account, piggy bank, etc.
· Reasons for spending money earned 
. Meet current wants or needs
. Charitable giving
· Reasons for saving 
. Meet future wants or needs
. Earn additional money through interest
. Possibility of future income decreasing

Note(s):
· Grade Level(s): 
· Grade 1 distinguished between spending and saving.
· Grade 3 will identify the costs and benefits of planned and unplanned spending decisions.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.11C
	Distinguish between a deposit and a withdrawal.
Distinguish between a deposit and a withdrawal.
Distinguish
BETWEEN A DEPOSIT AND A WITHDRAWAL
Including, but not limited to:
· Money may be stored in a bank account. 
· Checking account usually used for frequent transactions
· Savings account usually used for less frequent transactions or for earning interest
· Terminology for bank transactions 
· Deposit – money put into an account 
1. Add to previous balance
. Withdrawal – money taken out of an account 
2. Subtract from previous balance
. Balance – the amount of money that is in a bank account after a deposit or withdrawal 
3. New total after adding or subtracting
· Distinguish between a deposit and a withdrawal in mathematical and real-world problem situations. 
. Ex:
[image: http://files5.teksresourcesystem.net/050008104104018070217071249237098035129086103113/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/070097247117149156238135104210046038071200103113/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/048207041240170150233228233134164186135134244116/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/244125018194003243202227070057233046141166052249/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 2 introduces distinguishing between a deposit and a withdrawal.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.11D
	Identify examples of borrowing and distinguish between responsible and irresponsible borrowing.
Identify examples of borrowing and distinguish between responsible and irresponsible borrowing.
Identify
EXAMPLES OF BORROWING
Including, but not limited to:
· Borrowing – receiving money or goods now that will be returned or paid for in the future
· Examples of borrowing in mathematical and real-world problem situations (e.g., borrowing money, borrowing property or goods, etc.) 
· Ex: Borrowing money from a friend and paying the money back in a month.
· Ex: Borrowing your sister’s shirt and returning it when you are finished wearing it.

Distinguish
BETWEEN RESPONSIBLE AND IRRESPONSIBLE BORROWING
Including, but not limited to: 
· Borrowing – receiving money or goods now that will be returned or paid for in the future
· Responsible borrowing 
· Borrowing only the amount of money you will be able to repay in a given time period
· Maintaining the care of borrowed goods until they are returned
· Irresponsible borrowing 
· Borrowing more than you can pay back in a given time period
· Not maintaining the care of borrowed goods until they are returned
· Distinguish between responsible and irresponsible borrowing in mathematical and real-world problem situations. 
· Ex:
[image: http://files5.teksresourcesystem.net/128037051164206180163173089110105036212131123134/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/248093198064254223195163231028160128052231224175/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 3 will explain that credit is used when wants or needs exceed the ability to pay and that it is the borrower's responsibility to pay it back to the lender, usually with interest.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.11E
	Identify examples of lending and use concepts of benefits and costs to evaluate lending decisions.
Identify examples of lending and use concepts of benefits and costs to evaluate lending decisions.
Identify
EXAMPLES OF LENDING
Including, but not limited to:
· Lending – providing others with money or goods now that will be returned or paid back in the future
· Examples of lending in mathematical and real-world problem situations (e.g., lending money, lending property or goods, etc.) 
· Ex: Lending money to a friend with the expectation that they will repay the money in a month.
· Ex: Allowing your friend to borrow your bicycle until they can get theirs fixed.

Use
CONCEPTS OF BENEFITS AND COSTS TO EVALUATE LENDING DECISIONS
Including, but not limited to:
· Lending – providing others with money or goods now that will be returned or paid back in the future
· Benefits of lending 
· Helping others
· Developing a new relationship
· Possible interest earned
· Costs or risks of lending 
· Borrower not paying the money back
· Borrower damaging or losing goods loaned
· Ruining a relationship
· Not having enough money for your own future needs
· Considerations prior to lending money or goods 
· Benefits vs. costs or risks 
1. Ex: Do you have enough money to lend while still meeting your own needs or wants?
1. Ex: How will it affect you if the money or goods are not returned?
1. Ex: Is the borrower a responsible person?
· Evaluate real-world lending decisions. 
. Ex:
[image: http://files5.teksresourcesystem.net/217118132173209112085151081201125115158240061197/Download.ashx?hash=2.2&w=716]
. Ex:
[image: http://files5.teksresourcesystem.net/236019128109050076075051159179217076043175218176/Download.ashx?hash=2.2&w=716]

Note(s):
· Grade Level(s): 
· Grade 2 introduces identifying examples of lending and using concepts of benefits and costs to evaluate lending decisions.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· IX. Communication and Representation
· X. Connections


	2.11F
	Differentiate between producers and consumers and calculate the cost to produce a simple item.
Differentiate between producers and consumers and calculate the cost to produce a simple item.
Differentiate
BETWEEN PRODUCERS AND CONSUMERS
Including, but not limited to:
· Producers – people who make goods or provide services
· Consumers – people who buy goods and services
· Differentiate between producers and consumers. 
· People can be both producers and consumers. 
1. Ex: A shoe factory is a producer when they make shoes to sell, but is a consumer when they purchase the leather needed to make the shoes.
1. Ex: A policeman is a producer when he is providing security at the football game, but is a consumer when he pays to watch his son play football.

Calculate
THE COST TO PRODUCE A SIMPLE ITEM
Including, but not limited to:
· Produce – to manufacture or create goods or provide services
· Costs of production 
· Materials
· Labor
· Calculate the cost to produce a simple item. 
· Add all costs of production.
· Ex:
[image: http://files5.teksresourcesystem.net/191174117006159188247213141242103191020024241079/Download.ashx?hash=2.2]

Note(s):
· Grade Level(s): 
· Grade 2 introduces differentiating between producers and consumers and calculating the cost to produce a simple item.
· Grade 3 will describe the relationship between the availability or scarcity of resources and how that impacts cost.
· Various mathematical process standards will be applied to this student expectation as appropriate.
· TxRCFP: 
· Financial Literacy
· TxCCRS: 
· IX. Communication and Representation
· X. Connections
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image73.jpeg
15-9

Sample solution

15-9
(5 +1)-(@+1)
16-10
6
Therefore, 15 -9 =

or6=15-9.
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15-9

Sample solution
15-9
15-5-4

Therefore, 15-9 =6 or 6= 15 -9,
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15-9

Sample solution
15-9
(10+5)-9
(10-9)+5
145
6
Therefore, 159 =6 or 6 = 15 9.
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46 +74

Sample solution

Iknow 6 and 4 make 10

or 1ten

1 know that 11 tens and 1 ten
is 12 tens, or 120.
Therefore, 46 + 74 = 120.

1 know that 4 tens and 7 tens
s 11 tens.

Sample solution

Iknow that 4 tens and 7 tens

is 11 tens.

1know that 11 tens and 1 ten
is 12 tens, or 120.
Therefore, 46 + 74 = 120.

1 know 6 and 4 make 10
or 1ten
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25 +71+88 +35
Sample solution

In the ones place,
1 know that 5 and 5 make 10,
and 8 and 1 make 9.
So, 1 have 19 or 1 ten and 9

ones.

Altogether | have 21 tens and
9 ones which s 219.
Therefore,
25+71+88+35=219,

n the tens place,
1 know that 7 and 3 make 10,
and 2 and 8 make 10.

So, | have 20 tens.
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21+27+54
Sample solution

1 know from counting
quarters that 50 + 25 + 25 =
100, and 100 + 2 = 102.
Therefore,
21427+54=102.

I can take 4 from 54 to make
50, and add the 4 to 21 o
make 25.
Now | have 25 + 50.

1 know that 27 is 25 + 2.
Now | have 25 + 50 + 25 + 2
or 50 +25+25+2.
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24 +53+11+33

Sample solution
addthe addthe combine the

tens ones partial sums.
245 20 + 4
53> 5 + 3
15> 10+ 1 110
+385 30 + _3 + 1
10 (i 121

Therefore, 24 +53 + 11 +33 = 121.
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24 +53+11+33

Sample solution

110 add the tens
+ 11 add the ones
121 combine the partial sums

Therefore, 24 +53 + 11 +33 = 121.
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24 +53+11+33

Sample solution

add the ones place add the tens place
1 <—regroup 11 ones 1 4 <—regroup 12 tens to 1
2l4 to1tenand 1one 244  hundred and 2 tens
53 53
1 101
+33 +33
1 20

Therefore, 24 +53 + 11 +33 =121,

add the hundreds place
1.1
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64+21+13

Sample solution
64+21+13
64+ (20+1)+13
(64+20)+ (1+13)
84414
98
Therefore, 64 + 21 + 13 = 98,
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24+53+11+33

Sample solion

2

combine. combine
alltons allones
Thousands Period Units Period
T Ton oo
Thousands Trousands Thousands Hone Mo, i
o o
-
oo
o
@

1 hundred 2tens

Therefore, 24 +53.+ 11+ 33

u

£

£

regroup i
necessary
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24+53+11+33

Sample solion

Roorder the acdends largest o smallost,  Mentaly add the ones laces, 4 + 3+ 3 +
Mk par fo thetare lace f s aodere Vake  ump o 10 and  jomp of 1
P o
5 s w0 o
- =
H 3 W 0 1o 1zo1ar

Therefore, 24 + 53 + 11+ 3

121
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98-25

Sample solution

Altogether | have 7 tens and
3 ones which is 73.
Therefore,
98-25=73

In the ones place, | know that
8 ones minus 5 ones is 3
ones.

In the tens place, | know that
9 tens minus 2 tens is 7 tens.
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92-19

Sample solution

Ican add 1 10 19 to make 20
as long as | also add 1 to 52

to make 53.

I know 53 20 = 33,
Therefore, 52 - 19 = 33,
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55 —47

Sample soldtion

I can combine the amounts |
counted, 3+ 10 +5 = 18.
Therefore, 65 - 47 = 18,

1 can count up from 50 10 60
Thats +10.

can count up from 60 10 65.
Thats +5.
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92-19

Sample solution

subtract the ones, the
Subtract " regrouping If partial
necessary differences
12
52> 50 + 2 30
=195 -10  +"3 + 3
3 33

Py
30
Therefore, 52 — 19 = 33.
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6547

Sample solution
regroup 6 tens to 5
tens and 15 ones.

515

65~
—47

Therefore, 65 — 47 = 18.

sublract the ones
place
515
65~
- 47
-8

sublract the tens
place
515
65~
-47
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100 —47

Sample solution
Subtract 1 from both the minuend and the subtrahend in order to eliminate the need for regrouping.
100-47
(100~ 1)~ (47 - 1)
99-46
53
Therefore, 100 - 47 = 53,
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65 —47
Sample solution
‘Thousands Period Units Period
Handred Ten one
Thousands Thousands Thousands Hundreds Tens ones

R
L | b

1en

regroup if
necessary

remove
tens and

Therefore, 65 - 47 = 18.
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6547

Sample solution

Decompose 7 into § and 2.
Jump back 5, then jump back 2. Jump back 40 from the tens place.

-2 -5 -40

. PO S

T
1820 25 65
Therefore, 65 — 47 = 18,
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Johnsonville Elementary School has two playgrounds. The distance around the larger playgroundis 578 yards. The distance
around the smaller playground is 323 yards. If Robert walks the distance around both playgrounds, how farwould Robert have
walked?

Sample solution
578 yards + 323 yards = _ yards

578+ 323
(500 +300) + (70 + 20) + (8+ 3)
800+90+ 11
800+90+(10+1)
800+ (90 +10) + 1
800+100+1
01

578+ 323 = 901
Robert would have walked 901 yards around both playgrounds.
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‘The Chamber of Commerce is hosting a craft show on Saturday and Sunday. Zack and Samuel made 596 decorated bookmarks

0 sell atthe craft show. They sold 462 bookmarks on Saturday. How many bookmarks did Zack and Samuel have leftto sell on
Sunday?

Sample solution

596 bookmarks — 462 bookmarks =_ bookmarks
Thausands Period Units Perod
] o o
Trovsnds | Thovmands | Thoumands Lo bl el

PP | ©F | oo
EZ el

L

1 hundred 3tens. 4ones.

596 - 462 = 134
Zack and Samuel had 134 bookmarks left to sell on Sunday
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Melissa's softball team had a bake sale to raise money for the team’s new uniforms. They had 82 cookies, 73 cupcakes, and 48
slices of pie to sell. They sold 65 cookies, 69 cupcakes, and 15 sices of pie. Altogether, how many treats were left over after the

bake sale?

Sample solution
Add 82 cookies + 73 cupcakes + 48 slices of pie, then subract 65 cookies + 69 cupcakes + 15 slices of pie

Step 1: Bagin with 80 from the &2,
‘Add on 20 and 50 (he tens from the 73)
‘Add on 40 (ihe tens from the 48)
‘Add on 10 (the ones from the 82 and 48).
‘Add on 3 (the ones from the 73)

- 450 +40 0 4

- >
80 100 150 190 200 203

Stop 2: Bogin at 203.
‘Sublract 3 (some of the ons from 69, leaving 6)
‘Subtract 50 (some of the tans from the 65, leaving 10)
‘Sublract 50 (some of the lens from the 69, leaving 10)
‘Sublract 30 (the remaining tens from the 65, 69, and 15)
‘Sublract 10 (he ones from the 65 and 15).

Sublract 6 (the remaining ones from the 69).

5 10 5 50 50 )

« t
150 200 203

s 60 70 100

82473+ 45=20365+69+15=149> 203149 = 54
There are 54 treats left over after the bake sale.
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Frank collects sports cards. He has 24 football cards, 53 baseball cards, 11 soccer cards, and 33
basketball cards. How many sports cards does Frank have?

Sample solution
24 football cards + 53 baseball cards + 11 soccer cards + 33 basketball cards = _ sports cards

addthe addthe combine the

tens ones partial sums.
245 20 + 4
535 50 + 3
1> 10+ 1 110
+335 30 + _3 + 11
110 (i 121

24453 +11+33 =121
Frank has 121 sports cards.
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Frank collects sports cards. He has 24 football cards, 53 baseball cards, 11 soccer cards, and 33
basketball cards_How many sports cards does Frank have?

Sample solution
24 football cards + 53 baseball cards + 11 soccer cards + 33 basketball cards = _ sports cards

110 add the tens
+ 11 add the ones
721 combine the partial sums

24453 +11+33 =121
Frank has 121 sports cards.
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Frank collects sports cards. He has 24 football cards, 53 baseball cards, 11 soccer cards, and 33
basketball cards_How many sports cards does Frank have?

Sample solution
24 football cards + 53 baseball cards + 11 soccer cards + 33 basketball cards = _ sports cards

add the ones place add the tens place add the hundreds place
1 < regroup 11 ones 1 1 <—regroup 12tens to 1 1
24 toltenand 1one 2i4  hundred and 2 tens 24
53 53 ? %3
11 11
+33 +33 +33
T 2T 2

2445311 +33 =121
Frank has 121 sports cards.
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There are 52 weeks in a year. If 19 weeks have already passed.
how many weeks are leftin the year?

Sample solution

52 weeks — 19 weeks = __ weeks
BT subtract the ones, combine the
regrouping if partial
ARgileis necessary differences
12

25 s+ 2 30

=195 -10 A~ + 3

g 3 3

30

regrouping needed
for the ones comes
from the tens
52-19=33
There are 33 weeks leftin the year.
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Sally’s dad is 65 years old. Vanessa's dad is 47 years old. How much olderis
Sally's dad than Vanessa's dad?

Sample solution
65 years 47 years = _ years

regroup 6tensto 5 sublract the ones  subtract the tens

tens and 15 ones place place

515 si1s shs

B R e

—47 - a7 -a7

—f - 1
65-47=18

Sally's dad is 18 years older than Vanessa's dad.
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Melissa’s softball team had a bake sale to raise money forthe team’s new uniforms. They had 82 cookies, 73

cupcakes, and 48 slices of pie to sell. They sold 65 cookies, 69 cupcakes, and 15 slices of pie. Altogether. how
many treats were left over after the bake sale?

Sample solution
Add 82 cookies + 73 cupcakes + 48 slices of e, then subtract 65 cookies + 69 cupcakes + 15 slices of pie

add o find the total  add to find the total ¢ 1210 find the

number of treats  number of treats. il
available sold
21 11
8i2 65
73 69
+48 +15
203 149

82 +73 +48 =203 > 65+ 69 + 15= 149 > 203 ~ 149 =54
There are 54 treats left over after the bake sale.
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Generate a problem situation forthe number sentence 278 + 121 = 399 and solve the problem.

Sample addition result unknown problem sftuation
The pet store sold 278 bags of hamster food on Monday and 121 bags on Tuesday. How many total
bags were by the pet store sold those two days?

Solution
278 bags + 121 bags =_ bags
278 +121 = 399 The pet store sold 339 bags of hamster food on Monday and Tuesday

Sample addition change unknown problem situation:
The pet store sold 278 bags of hamster food on Monday. They sold some more hamster food on
Tuesday foratotal of 399 bags of food sold on both days. How many bags of hamster food did the store
sell on Tuesday?

Solution
278 bags + _ bags = 399 bags
278 + 121 =399 The pet store sold 121 bags of hamster food on Tuesday

Sample addition start unknown problem situation
The pet store sold some bags of hamster food on Monday. On Tuesday the pet store sold 121 bags of
hamster food for atotal of 339 bags of food sold on both days. How many bags of hamster food didthe
store sell on Monday?

Solution
__bags + 121 bags = 399 bags
278 + 121 = 399: The pet store sold 278 bags of hamster food on Monday
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Generate a problem situation forthe number sentence 98 + 99 = 197 and solve the problem.

Sample part-par-whole result unknown problem sfuation
Larry and Josh are brothers. Larry has 98 stickers. Josh has 99 stickers. How many stickers dothe
brothers have altogether?

Solution
98 stickers + 99 stickers =_ stickers
98 +99 =197, Lanry and Josh have a total of 197 stickers

Sample part-partwhole part Unknown problem sfuation
Joshand Larry are brothers. Together, they have 197 stickers in their collection. Larry has 98 stickers,
and the rest belongto Josh. How many stickers belongto Josh?

Solution
98 stickers + _ stickers = 197 stickers
98 +99 = 197 Ninety-nine stickers belong to Josh.
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Generate a problem situation forthe number sentence 219 + 9 = 228 and solve the problem.

Sample comparison difference unknown problem sfuation
Lake Drive Elementary School has 219 boys and 228 girts enrolled. How many more girs than boys go
are enrolled at Lake Drive Elementary School?

Solution
219 boys +__ more =228 girls
219 +9 = 228 There are 9 more girls than boys enrolled at Lake Drive Elementary School

Sample comparison [arger part unknown problem sfuation
Lake Drive Elementary School has 219 boys enrolled. There are 9 more girls than boys. How many girls
are enrolled at Lake Drive Elementary School?

Solution
219 boys + 9more = _ girls
219 +9 = 228: There are 228 girls at Lake Drive Elementary School.
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Generate a problem situation forthe number sentence __ + 121 = 399 and solve the problem.

Sample addition start unknown problem sftuation
The pet store sold some bags of hamster food on Monday. On Tuesday the pet store sold 121 bags of
hamster food for atotal of 339 bags of food sold on both days. How many bags of hamster food didthe
store sell on Monday?

Solution
__bags + 121 bags = 399 bags
278 + 121 = 399: The pet store sold 278 bags of hamster food on Monday
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Generate a problem situation forthe number sentence 278 + _ = 399 and solve the problem.

Sample addition change unknown problem situation:
The pet store sold 278 bags of hamster food on Monday. They sold some more hamster food on
Tuesday foratotal of 399 bags of food sold on both days. How many bags of hamster food did the store
sell on Tuesday?

Solution
278 bags + _ bags = 399 bags
278 + 121 = 399 The pet store sold 121 bags of hamster food on Tuesday





image107.jpeg
Generate a problem situation forthe number sentence 278 + 121=__ and solve the problem.

Sample addition result unknown problem sftuation
The pet store sold 278 bags of hamster food on Monday and 121 bags on Tuesday. How many total
bags were by the pet store sold those two days?

Solution
278 bags + 121 bags =_ bags
278 + 121 = 399; The pet store sold 399 bags of hamster food on Monday and Tuesday.
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Generate a problem situation forthe number sentence 399 — 278 = 121 and solve the problem.

Sample subtraction result unknown problem situation
The pet store had 399 bags of hamster food to sell during a two day sale. If they sold 278 bags of
hamster food on Monday. how many bags of hamster food are left to sell on Tuesday?

Solution
399 bags - 278 bags =_bags
399 - 278 = 121; There are 121 bags of hamster food left to sell on Tuesday.

Sample sublraction change unknown problem sftuation
The pet store had 399 bags of hamster food to sell during a two day sale_ At the end of the day on
Monday. they only had 121 bags of hamster food left to sell on Tuesday. How many bags of hamster
food didthey sell on Monday?

Solution
399 bags — __bags = 121 bags
399 278 = 121; The pet store sold 278 bags of hamster food on Monday.

Sample sublraction Start unknown problem sftuation
The pet store sold all of their bags of hamster food during atwo day sale. If they sold 278 bags of
hamster food on Monday and 121 bags on Tuesday, how many bags of hamster food didthey start with?

Solution
__bags -278 bags = 121 bags
399 — 278 = 121: The pet store started with 399 bags of hamster food.
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Generate a problem situation forthe number sentence 197 — 98 = 99 and solve the problem.

Sample part-part-whole part Unknown problem sfuation

Joshand Larry are brothers. Together, they have 197 stickers in their collection. Larry has 98 stickers,
and the rest belongto Josh. How many stickers belongto Josh?

Solution
197 stickers - 98 stickers =_ stickers
197 — 98 = 99: Ninety-nine stickers belong to Josh.
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Generate a problem situation forthe number sentence 228 — 219 = 9 and solve the problem.

Sample comparison difference unknown problem sfuation
Lake Drive Elementary School has 219 boys and 228 girls enrolled. How many more girs than boys are
enrolled at Lake Drive Elementary School?

Solution
228 gils - 219 boys=_ more
228 ~ 219 = 9; There are 9 more girls than boys enrolled at Lake Drive Elementary School

Sample comparison smaller part unknown problem stuation
Lake Drive Elementary School has 228 girs enrolled. There are 9 more girls than boys. How many boys
are enrolled at Lake Drive Elementary School?

Solution
228 girls—__boys =9 more
228 219 =9: There are 219 boys at Lake Drive Elementary School.
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Generate a problem situation forthe number sentence __ — 278 = 121 and solve the problem.

Sample subtraction start unknown problem sftuation
The pet store sold all of their bags of hamster food during atwo day sale. If they sold 278 bags of
hamster food on Monday and 121 bags on Tuesday, how many bags of hamster food didthey start with?

Solution
__bags -278 bags = 121 bags
399 — 278 = 121: The pet store started with 399 bags of hamster food.
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Generate a problem situation forthe number sentence 399

=121 and solve the problem.

Sample subtraction change unknown problem sftuation
The pet store had 399 bags of hamster food to sell during a two day sale_ At the end of the day on
Monday. they only had 121 bags of hamster food left to sell on Tuesday. How many bags of hamster
food didthey sell on Monday?

Solution
399 bags — __bags = 121 bags
399 — 278 = 121: The pet store sold 278 bags of hamster food on Monday
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Generate a problem situation forthe number sentence 399 — 278 = __ and solve the problem.

Sample subtraction result unknown problem situation
The pet store had 399 bags of hamster food to sell during a two day sale. If they sold 278 bags of
hamster food on Monday. how many bags of hamster food are left to sell on Tuesday?

Solution
399 bags - 278 bags =_bags
399 _ 278 = 121: There are 121 bags of hamster food left to sell on Tuesday.
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Generate a multi-step problem for the number sentence 447 + 118 — 129 = 436 and solve the problem.

Sample problem situation:
George had 447 rocks in his collection. George collected 118 new rocks on the field trip. George decided to

give 129 rocks to his lttle brother Joe who only had 12 rocks. How many rocks does George have now?

Solution
447 rocks + 118 rocks — 129 rocks = _ racks
447 + 118 = 565 > 565 — 129 = 436 George now has 436 rocks in his collection.
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Marcie has the following coins in her purse.
How much money does Marcie have?

D e €
0 PO

Sample answer.
‘Separate inf lke groups.

Compound count

25,50,60,70, 80, 81,82
Marcie has 82¢ or $0.82

Unitea States cin image(s) s olowing offial quidelines fom the United States M.
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What collection of coins could equal $0.757

Sample answer-

50 pennies and 1 quarter equal $0.75

Sample answer:

3 dimes, 4 nickels, and 25 pennies equal $0.75
Sample answer:

3 quarters equal $0.75
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‘What different collection of coins could equal the coins shown?
%9 @ ©,®
(=N ~)

e ©®

Sample answer.
2.dimes and 5
penries canbe
regroued o
eaua the velue

of 1 quorter

(23 30)

@ cgo & % e
1
@ & -

Sample answer.
1 quartr,2
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What collection of coins could equal $0.75 using the least number of coins?

Answer
One half-dollar and 1 quarter equal $0.75 using only 2 coins.
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Mrs. Jackson wants to give 3 cookies to each of her 4 children.
How many cookies will Mrs. Jackson need?
Model the problem situation using counters and plates

Sample solution

D)

child 1 child 2 child 3 chiga

4 children with 3 cookies for each child equals 12 cookies
4 equal groups of 3 equals 12

3+3+3+3=12

Mrs. Jackson will need 12 cookies.
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Farmer Jones needs to put new horseshoes on 5 of his horses. How
many horseshoes will Farmer Jones need?
Model the problem situation usinglinking cubes

Sample solution
horse 1
horse 2
horse 3

horse 4

horse 5

5 horses with 4 horseshoes on each horse equals 20 horseshoes
5 equal groups of 4 equals 20.
4+4+4+4+4=20

Farmer Jones will need 20 horseshoes.
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Create a problem situation forthe following model.

Sample solution
Monica read 6 pages of her book each day. It took her 3 days to
finish reading the book. How many pages were in Monica's book?

3 days with 6 pages on each day equals 16.
3 equal groups of 6 equals 16.
6+6+6=18

There are 18 pages in Monica's book.
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Create a problem situation forthe foHowmg mode\
5 g% 3 3t 5% 32
HE R R R

Sample Solution:
Lisa is making an art project for some of her friends. Each art project will use 10
beans. If Lisa wants to make enough for 6 friends. how many beans will she need?

6 projects with 10 beans on each project equals 60 beans
6 equal groups of 10 equals 60.

10 +10 +10 +10 +10 +10 =60

Lisa will need 60 beans.
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Twelve children want to ride the roller coaster at the same time. If there are 4 roller coaster
cars, how many children will need to sitin each roller coaster car?
Model the problem situation usinglinking cubes

Sample solution
What is the size of each group when the total of 12is divided into 4 equal groups?
When all 12 linking cubes
have been equally
distributed, count the
Distribute 12 linking cubes number of linking cubes in
4 groups known —»  equally o4 groups.  ——»  each group.

53 [ e
car2 ] car2
car3 ears | [l car3
card4 card - card

12 children separated into 4 equal groups equals 3 children in each roller coaster car
12 separated into 4 equal groups equals groups of 3.

Number sentence to describe the action 12 —4 —4 ~4 =0

Number sentence to describe the model: 123 -3 -3 —
3 children will need to sit in each roller coaster car.

=0
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Jack has 28 balloons at his party. Jack gives 4 balloons to each friend. How many friends
does Jack have at the party?
Model the problem situation using counters and plates

Sample_solution
How many groups with a size of 4 can be made from atotal of 287

Form a known
group of 4

|

Continue to form
groups of 4 unti all
28 counters have
been mstnf«led.
When all 26
counters have
been distrbuted,
count the number

of groups. fiend1 fiend2 fiend3 friend4 friend5 friend6 friend 7

28 balloons separated into equal groups of 4 balloons equals 7 friends

28 separated into groups of 4 equals 7 equal groups

Number sentence to describe the action and model: 28 ~4~4~4 ~4~4-4-4=0
Jack has 7 friends at the party.
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Create a problem situation forthe following model.

Partiive dvision sample answer and descrption
What is the size of each group when the total of 45 s divided into 5 equal groups?

Scott has 45 toy cars. He sorted them into 5 equal groups. How many cars were in each group?

45 cars separated into 5 equal groups equals 9 cars in each group.
45 separated into 5 equal groups equals groups of 9.

Number sentence to describe the action'45 ~5~5-5-5-5-5-5-5-5=0
Number sentence to describe the model: 45— 9-9-9-9-9=0

There are 9 cars in each group.

Quotative dvision (also known as Measurement diision) sample answer and description
How many groups with a size of 9 can be made from atotal of 45?

Scott has 45 toy cars. He sorted them into equal piles with 9 cars in each pile. How many piles did Scott make?

45 cars separated into equal piles of 9 equals 5 piles
45 separated into groups of 9 equals 5 equal groups

Number sentence to describe the action and model: 45 ~9-9-9-9-9=0
Scott can make 5 piles of cars.
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Use colortiles to determine if the number 25 is odd or even.

Sample answer.

Twenty-five color tiles can make 12 pairs. but there is 1 left over. Therefore. the number 25 is odd.

Use beans o determine if the number 36 is 0dd or even.

Sample answer-

Thirty-six beans can make 18 pairs with 0 left over. Therefore, 36 is an even number.
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What number is 10 more than 3237

Answer.

Since the 2 n the tens place.
represents 20, and 20 plus 10 more
is 30, the digitin the tens place
increases by 1.

Therefore, 10 more than 323 is 333.
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‘What number is 10 less than 3237

Answer.

Since the 2 n the tens place.
represents 20, and 20 minus 10 s
10, the digit in the tens place
decreases by 1

3(2)3

20-10=10

¥
3@3 Therelre, 01ess than 323315
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‘What number is 100 more than 1,1567

Answer.

Since the 1 in the hundreds placs’
represents 100, and 100 plus 100
more is 200, the digitin the hundreds
place increases by 1

1,(1)56

100 + 100 = 200

Therefore, 100 more than 1,156
Is 1.256.
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What number is 100 less than 1,1567

Answer.

Since the 1 in the hundreds place’
represents 100, and 100 minus 100
s 0, the digit in the hundreds place

decreases by 1

1,(1)56
100-100 =0

;
1,056

Therefore, 100 less than 1,156 is
1,086,
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The dog showhad 49 dogs signed up to compete. Later in the moming. 36 more dogs were signed up.
How many dogs are signed up to compete now?

Sample solution

1 know the parts but not the total. The total must be larger than the parts, so1 will add.
49 dogs + 36 dogs =_ dogs

Tosands Period Tnis Poriod
e
e 9|t o ones

"
ﬂs?

v38
8ls

2

<t

Tlens Tones
49 +36 =85 There are a total of 85 dogs signed up to compete at the dog show.

When | add 9 ones and 6 ones, | get 15 ones which, after regrouping, is 1 ten and 5 ones. The sum of 4
tens, 3 tens, and the 1 regrouped ten is 8 tens. The sum of Btens and 5 ones is 85. So, 49 + 36 = 85
Since my total 85 is larger than the parts my answer is reasonable.
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There are 49 large dogs and 36 small dogs signed up to compete inthe dog show. How many dogs are
signed up to compete in the pet show?

Sample solution

1 know the parts but not the total. The total must be larger than the parts, so1 will add.
49 dogs + 36 dogs =_ dogs

et 1
o - B 1
+3%6
< N N, > S

49 +36 =85 There are 85 dogs signed upto compete at the dog show.

The sum of 4tens and 3 tens is 70_The sum of 70 plus 9 is 79, and if | add 1 more one, the sum is 80.
The sum of 80 plus the remaining 5 ones is 85. So, 49 + 36 = 85.
Since my total 85 is larger than the parts my answer is reasonable.
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There are 43 large dogs signed up to compete inthe dog show. There are 36 more small dogs than large
dogs signed up to compete_How many small dogs are signed up to compete in the dog show?

Sample solution
The number of small dogs must be larger than the number of large dogs. o Iwill add.
49 dogs + 36 dogs =__ dogs

1
small dogs 4l

o S 25

49 +36 =85 There are 85 small dogs signed up to compete at the dog show.

The sum of 9 ones and 6 ones is 15 ones which, when regrouped, is 1 ten and 5 ones. The sum of 4
tens, 3 tens, and the 1 regrouped ten s 8 tens. The sum of Btens and 5 ones is 85. So, 49 + 36 = 85
Since my number of small dogs is larger than the number of large dogs my answer is reasonable.
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Maria has 43 pencils. She gave 28 pencils to Angela. How many pencils does Maria have now?

Sample solution

The result must be smaller than the original amount because Maria gave pencils away. so1 will subtract
43 pencils - 28 pencils =_ pencils

Tisands Perod Uris Period
e
s 9| Tors Ones
s 8 e 343
5
Ep
[oonnn =
LR LR RY
Toon Tones
43 — 28 = 15; Maria has 15 pencils now.

Eight ones cannot be removed from 3 ones, 50 regroupingis required creating 3 tens and 13 ones. The

difference of 13 ones minus 8 ones is 5 ones. The difference of 3 tens minus 2 tens is 1 ten. The sum of
1'ten and 5 ones is 15. So, 43 - 28 = 15.

Since my answer is smaller than the total number of pencils my answer is reasonable.
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Maria has 43 pencils. Twenty-eight of her pencils are plain yellow. The rest of her pencils have special
designs on them_How many of Maria's pencils have special designs onthem?

Sample solution

The number of pencils with special designs must be smaller than the total number of pencils, so Iwil

subract.
43 pencils - 28 pencils =_ pencils

43 total poncis

28 plin yellow pancls

encis wih designs

43-28=

313
e
8

5

5: Maria has 15 pencils with special designs on them

Eight ones cannot be removed from 3 ones, 50 regroupingis required creating 3 tens and 13 ones. The
difference of 13 ones minus 8 ones s 5 ones. The difference of 3tens minus 2 tens is 1 ten. The sum of

1ten and 5 ones is 15. So, 43 - 28 = 15,

Since my answer is smaller than the total number of pencils my answer is reasonable.
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Maria has 43 pencils. Angela has 28 pencils. How many more pencils does Maria have than Angela?

Sample solution
Maria has the most pencils. My answer will have to be smaller than the number of pencils Maria has, so |
will subtract

43 pencils - 28 pencils =_ pencils

—20

-

15 35
43 - 28 = 15; Maria has 15 more pencils than Angela.

The difference of 43 minus 3 ones is 40. The difference of 40 minus 5 ones is 35. The difference of 35
minus 2 tens is 15. So, 43— 28 = 15,

Since my answer is smaller than the number of pencils that Maria has my answer is reasonable.
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Maria has 43 pencils. She has 28 more pencils than Angela. How many pencils does Angela have?
Sample solution

Maria has the most pencils. My answer will have to be smaller than the number of pencils Maria has, so |
will subtract
43 pencils — 28 pencils = _ pencils

Tusands Period Tnis Poriod
T
e 9|t o i

W [-2-1-]
| a3

Tien Sones
43-28=

5: Angela has 15 pencils

Eight ones cannot be removed from 3 ones, 50 regroupingis required creating 3 tens and 13 ones. The

difference of 13 ones minus 8 ones is 5 ones. The difference of 3 tens minus 2 tens is 1 ten. The sum of
1'ten and 5 ones is 15. So, 43 - 28 = 15.

Since my answer is smaller than the number of pencils that Maria has my answer is reasonable.
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‘The Fun Times Amusement Park counted 567 visitors on Monday before 1:00 p.m. After 1:00 p.m., more

visitors arived at the park. The total number of visitors on Monday was 938. How many visitors arived at
the park after 1:00 p.m ?

Sample solution
1 know the total number. and | know one part. | can add on to find the unknown part, or | know if | have
the total and one number, | can subtract to find the unknown number.

567 visitors + _visitors = 938 visitors or 938 visitors - 567 visitors =_ visitors
adding on OR  sublraction
[isands Period Units Period
e

Ty [ o Tens Ones

i

il

73 hundrads TTlensto T onetomake
make 13 tens, 8ones
then regroup to

leave 3 tens

938 — 567 = 371; 371 visitors arived at the park after 1:00 p.m.

Starting with 5 hundreds, 6 tens, and 7 ones add onto end with 9 hundreds, 3 tens, and 8 ones. Add 1
one to 7 ones to get 8 ones. There are 6 tens, but only 3 tens are needed, 50 add 7 tens to make 13
tens, then regrouped 10 tens to 1 hundred, leaving the 3 tens and 6 hundreds. Add 3 hundreds to make
the 9 hundreds. The total added onis 3 hundreds. 7 tens, and 1 one. The sum of 3 hundreds, 7 tens, and
1 one is 371. So, 567 + 371 = 938 or 938 — 567 = 371

Since my answer is smaller than the total number of visitors my answer is reasonable.
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The Fun Times Amusement Park counted the number of children and adults who visited the park on
Saturday. They counted 567 children. If there was a total of 938 visitors, how many visitors were adults?

Sample solution

1 know the total number. and | know one part. | can add on to find the unknown part, or | knowif | have
the total and one number, | can subtract to find the unknown number.
567 children + _adults = 938 visitors or 938 visitors - 567 children =_ adults

adding on OR  sublraction

300+ (304 30)+ (3+8)
300+ 60+ 11
300+60+ (10 +1)
300+ 60+ 10) + 1
300+70+1
a7
374 added on

<30

w e 0 -

oR

- -
567 570 600 90 930 938
938 - 567 = 371; 371 visitors were adults.

The sum of 567 and 3 ones is 570. The sum of 570 and 3 tens is 600. The sum of 600 and 3 hundreds is
900. The sum of 900 and 3 tens is 930 The sum of 930 and 8 ones s 938. The sum of 3 hundreds, 6
tens, and 11 ones which, when regrouped, becomes 3 hundreds, 7 tens, and 1 one, is 371. So, 567 +
371 =938 or 938 - 567 = 371

Since my answer is smaller than the total number of visitors my answer is reasonable.
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‘The Fun Times Amusement Park counted the number of children and adults who visited the park on

Saturday. They counted 938 children and 567 adults. How many more children than adults visited the.
park?

Sample solution
1 know the total number. and | know one part. | can add on to find the unknown part, or | know if | have
the total and one number. | can subtract to find the unknown number.

567 adults + _ more = 938 children or 938 children — 567 adults

938 chidren
567 adults ———— ®
How many more:
Chidron?

938 — 567 = 371; 371 more children visited the park than adults.

The difference of 8 ones minus 7 ones is 1 one. Six tens cannot be subtracted from 3 tens, 5o regrouping
is required creating 8 hundreds and 13 tens_ The difference of 13 tens minus 6 tens is 7 tens_The
difference of 8 hundreds minus 5 hundreds is 3 hundreds. The sum of 3 hundreds, 7 tens, and 1 one is
371. So, 567 + 371 = 938 or 938 ~ 567 = 371

Since my answer is smaller than the total number of visitors my answer is reasonable.
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Maria has 43 pencils. She gave some pencils to Angela. Now she has 28 pencils left. How many pencils
did Maria give to Angela?

Sample solution

If1 knowthe total, and | knowthe result, | can subtract the result from the total to find the number that
was given away.

43 pencils — __ pencils = 28 pencils or 43 pencils — 28 pencils = __ pencils
Tisands Perod Urits Period
T
s 9| Tors ones

K ¥ & 343
5
28
[oonnn "

LR R R RN

Tien Sones
43-28=

5: Maria gave 15 pencils to Angela.

Eight ones cannot be removed from 3 ones, 50 regroupingis required creating 3 tens and 13 ones. The

difference of 13 ones minus 8 ones s 5 ones. The difference of 3tens minus 2 tens is 1 ten. The sum of
1ten and 5 ones is 15. So, 43 - 15 = 28 or43 - 28 = 15.

Since my answer is smaller than the number of pencils that Maria started with my answer is reasonable.
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Maria had some pencils. Angela gave her 28 more pencils. Now Maria has 43 pencils. How many pencils
did Maria start with?

Sample solution

If1 knowthe total, and | knowthe amount added on, | can subtract the amount added on fromthe totalto
find the number that she started with.

pencils + 28 pencils = 43 pencils or 43 pencils — 28 pencils =__ pencils
Tosands Perod Uris Period
e
s 9| Tors Ones
s 8 e 343
5
Ep
[oonnn =
LR LR RY

Tien Sones
43-28=

5; Maria started with 15 pencils

Eight ones cannot be removed from 3 ones, 50 regroupingis required creating 3 tens and 13 ones. The
difference of 13 ones minus 8 ones s 5 ones. The difference of 3tens minus 2 tens is 1 ten. The sum of
1tenand 5 ones is 15. So, 43~ 15 =28 or43 ~ 28 = 15.

Since my answer is smaller than the number of pencils that Maria has now my answer is reasonable.
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Mr. Ramirez had some money in his checking account. He paid $343 in bills in February. Now he has
§536 left in his checking account. How much money did Mr. Ramirez have in his checking account
before he paid his bills?

Sample solution
If 1 knowthe amount left after subtracting, and | know the amount that was subtracted, | can add the
amount subtracted back to the amount left to find out how much he started with

§_-$349 = $556 or $556 + $349 = §__

sands Period Units Period
T
ovass [t Tens ones

i
556
+ 3008
5055

Thundreds Tlens Sones
556 +349 = 905: Mr. Ramirez had $905 in his checking account before he paid his bills

The sum of 6 ones and 9 ones is 15 ones which, when regrouped, is 1 ten and 5 ones. The sum of 5
tens, 4 tens, and the 1 regrouped ten is 10 tens which, when regrouped, is 1 hundred and 0 tens. The
sum of 5 hundreds, 3 hundreds, and the 1 regrouped hundred is 9 hundreds. The sum of 3 hundreds, 0
tens, and 5 ones is 905. So, 56 + 349 = 905 or 305 ~ 349 = 556.

Since my answer is larger than the other amounts my answer is reasonable.
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George had 447 sea shells in his collection. George collected 129 new sea shells on his trip to the
beach. George decided to give 118 sea shells to his lttle brother Joe who only had 12 sea shells. How
many sea shells does George have now?

Sample solution
I can add the number of new sea shells George found to the number he started with, then subtract the
number of sea shells he gave to his brother Joe to find the number of sea shells he has now.

(447 sea shells + 129 sea shells) ~ 116 sea shells = __ sea shells
s 1
numbor o old shelk plus new shels !
a7
447 oid shells 129 new shells 120,
576
aep2
6116
576 0d shls pus new shels sis
VTG el g number o shels George has now, e
o Joe 458

447 + 129 = 576: 576 — 118 = 458; George now has 458 sea shells in his collection

Step 1: The sum of 7 ones and 9 ones is 16 ones which, when regrouped is 1 ten and 6 ones. The sum
of dtens, 2 tens, and the 1 regrouped ten is 7 tens. The sum of 4 hundreds and 1 hundred is 5
hundreds. The sum of 5 hundreds, 7 tens, and 6 ones is 576

Step 2 Eight ones cannot be subtracted from 6 ones, so regrouping is required, creating 6 tens and 16
ones. The difference of 16 ones minus & ones is 8 ones. The difference of 6 tens minus 1 ten is 5 tens
The difference of 5 hundreds minus 1 hundred is 4 hundreds. The sum of 4 hundreds, 5 tens, and 8
ones is 458 So, (447 + 129) - 118 = 458,

I know George has more sea shells now than the number he started with, so my answer will need to be
larger than the starting number. Since my answer is larger than the starting number my answer is
reasonable.

Sample solution

1 could subtract the number of sea shels he gave to his brother Joe from the number of new sea shells
he found, then add the amount of new shells he kept for himself to the number of sea shells he started
with to find his new total

447 sea shells + (129 sea shells — 118 sea shells) =_ sea shells
w1
129 now shalls Sk
moeoT| -1
118 shalls givon 0 Joo now shols i
Goorgo kept
a2
number o shels George has now, aiai7
+ il
[ e et
447 0 shols P, £

129 - 118 = 11: 447 + 11 = 458; George now has 458 sea shells in his collection

Step 1 The difference of 9 ones minus 8 ones is 1 one. The difference of 2 tens minus 1 ten is 1 ten
The difference of 1 hundred minus 1 hundred is 0 hundreds. The sum of 0 hundreds, 1 ten, and 1 one is
1

Step 2: The sum of 7 ones and 1 one is 8 ones. The sum of 4 tens and 1 ten is 5 tens. The sum of 4
hundreds and 0 hundreds is 4 hundreds. The sum of 4 hundreds, 5 tens, and 8 ones is 458. So, 447 +
129 - 118 = 458

I know George has more sea shells now than the number he started with, so my answer will need to be
larger than the starting number. Since my answer is larger than the starting number my answer is
reasonable.
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Examples of Polygons

Non-examples of Polygons
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The collection of a cone, a cylinder, a sphere, a triangular prism, a rectangular prism, and a cube may be sorted and

classifiedin a variety of ways

h
(1) Flat surfaces shaped like polygons (riangular prism, rectangular prism, and cube): flt surfaces not shaped like

Sample sor and classification
polygons (cone, cylinder, and sphere)

(2) Edges (triangular prism, rectangular prism, and cube); no edges (cone, cylinder, and sphere)

(3) Curved surfaces (cone, cylinder, and sphere): no curved surfaces (triangular prism, rectangular prism, and cube)

(@) Rectangular faces (triangular prism, rectanguiar prism, and cube); no rectangular faces (cone, cylinder. and sphere)
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Examples of Polygons

Non-examples of Polygons
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‘What number is represented by the given base-10 blocks?
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Sample answer. 1,156
1 one thousand, 1 hundred, 5 tens, 6 ones
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Sample answer. 1,156
1 one thousand, 11 tens, 16 ones
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The collection of a regular triangle (A), an irregular triangle (B). a square (C), a rectangle (D). an irregular pentagon (E),
and a regular hexagon (F) may be sorted and classified n a variety of ways

Sample so and classification

(1) Regular figures (riangle A. square C, and hexagon F): iregular figures (triangle B, rectangle D, and pentagon E)

(2) Even number of sides (square C, rectangle D, and hexagon F); Odd number of sides (triangle A, triangle B, and
pentagon E)

(3) Atleast 1 square comer (square C. rectangle D, and pentagon E); 0 square comers (triangle A, tiangle B and
hexagon F)

(@) 2 or more equal length sides (triangle A, square C, rectangle D, and hexagon F): 0 equal length sides (tiangle B and
pentagon E)
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Decompose 1,074 in more than one way.

Sample answer

Thousands Period Unis Period

) o ore
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1 one thousand, 7 tens, 4 ones

Sample answer.
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10 hundreds, 7 tens, 4 ones.
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A ractangle partitoned into two of four smaller rectangles equal in s1z6 and shape.

A ractangle partiioned into two smaller triangles equal in size and shape.

A square partiioned into four smaller triangles equal in size and shape.

A tectangle parlitioned inlo a smaller square and a smaler rectangle not equal i size or shape.

A rectangle pariioned into two o four smaller rectangles not equal in size or shape,

Atectangle partioned into three smaler riangles not equal in size or shape.
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Measure the length of a pencil using colortiles to represent inches.

Sample answer-
start point end paint

" The edges of 8 color ties squals the length of the
penci.

The pencilis about 8 inches in length.





image199.jpeg
Measure the length of a sheet of paper using unit cubes to represent centimeters.

Sample answer-
— — —statpoint

“The edges of 17 whole urit cubes and part o an 18"
unit cube equal the length of the paper.

Since the end paint als less than halt-way along the
edge of the 18" unit cube, the 18" unil cube is not
counted.

The sheet of paper is about 17 unit cubes in length

Th shest of pager is about 17 centimaters n length.

| _ _endpoint
half of e unit cube
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Measure the length of atissue box using base-10 longs to represent decimeters.

Sample answer-

mssanuua ]
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The sdges of 2 whole base-10longs andpart
ol 3 base-10 long qual th engihof e
Sesue o

Sincs the end point falls more than half-way
along the edge of the 3° base-10 long, the. 3°
base-10 ong is counted.

The tissus box Is about 3 base-10 longs in
lengih

The tissus box Is about 3 decimaters in length.
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‘What would be the most efficient unit of length to measure the length of a pencil orthe length
ofabook?

Sample answer-
Colortiles, unit cubes, or base-10 longs could measure the length of a pencil

Auler as a single uni, a yardstick as a single unit, or a meter stick as a single unit would be
00 long.
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Read as: one thousand, one hundred forty-five.
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‘What would be the most efficient unit of length to measure the height of a door orthe width of
the classroom?

Sample answer:

Aruler as a single unit, a yardstick as  single unit, or a meter stick as  single unit could
measure the height of the door or the width of the classroom

Colortiles, unit cubes, or base-10 longs would be too short. It would take too many of these
units of length to measure the height of a door or the width of the classroom.
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Measure the length of a pencil using colortiles to represent inches and unit cubes to represent centimeters.
Describe why the measurements differ.

startpont ont point

The penci s aboul 8 inches ong.

startpoint ond point

e

| The penciis about 20 contmeters long.

It takes about 9 inches to measure a pencil or about 20 centimeters to measure the same pencil
The measurements of the pencil are different because different units of length were used.

The inch s longer than the centimeter. therefore, it takes fewer inches to measure the same distance.

The centimeter is shorter than the inch: therefore, it takes more centimeters to measure the same distance.
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0 200 400 600 800

Each equal sized section of the strip
diagram is equivalent to the same.
distance from zero on the number line.
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3whole units from 1310 16
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Measure the length of a pencilin inches.
start point end point

8 one-inch unis counted to the end paintof  *
the pencil

The penci is 8 inches in length
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Measure the length of a small sheet of paperin centimeters.

start poini_ _

13 whole one-centimeter units and partof the
14" centimetar unit counted

Since the end point fall ess than half-way along
the 14" centimeter uni, the 14" centimeter unit
is not counted.

The shest of paper i about 13 contimeters in
lengih
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Measure the length of atissue box in inches.

l

1

| st

£ B

] i
2 g whole one-nch units and part of the 9" one- H
o wt et H

Since the end point fals more than half-way
along the 9" one-inch unt the 5" one-nch unit
is counted.

The tissus box Is about  inches long,
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3 whole one-inch units from 13 to 16
R The line segment measures 3 inches.
—
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Mary purchased the pencil shown below.

I Mary bought another pencil like the one above, and placed the two pencils end
to end, what would be the length of the two pencils in inches?

Sample solution
1 H

a5 e 7

Flnches’

One pencilis about 8 inches long.
8+8=16
Therefore, two pencils placed end to end would be about 16 inches long.
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Approximately how much shorter is the crayon than the pencilin centimeters?

Sample solution

The pencilis about 20 centimeters long. The crayon is about 11 centimeters long.
0-1=9
Therefore, the crayon is about 9 centimeters shorter than the pencil.





image217.jpeg
)
i (

Ms. Morison has a piece of ribbon that is 51 inches long. She is going to decorate her clipboard by gluing ibbon along the
bottom and both sides of the clipboard. How much ribbon will MsMorrison have left after decorating her clipboard?

Sample solation

s |

The bottom ofthe clipboard is  nches long, and each side of the cipboardis 12
inches long
9412412

3

She has 51 inches of ribbon and will use 33 inches.
51-33=18

Therefore, Ms. Morrison will have 18 inch
clipboard.

of ibbon left after decorating her
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Incorrect — does not extend o the boundary

Incorrect — extends whole square units
beyond the boundary
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Incorrect - square unis placed in rows and
columns with gaps.

Incomact - square unts placed i rows and
columns with overiaps.

Incorrect - square units not placed in rows
and columns. causing gaps and overlaps
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Determine the area of the rectangle above to the near

e

—l—l-l_

i
1

EEEE

st whole square unit

Sample answer

‘Count each square unt

The area of the ractangl i 24 square unls.

Sample answer

Gount the number of square unis n ona
row,6

(Gount the number of ows: 4.
Use repested addiion to fnd the toal

Pumber of square unts
6+6+6+6=20

The ares of e sectangle

24 square units,

e

‘Countihe number of square unis n one
o6,

SKip count for sach row 10 find tha otal
pumber of square unis
6.12,18,24

The area o the rectangle s 24 square unis.
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1
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s

Determine the area of the rectangle above to the nearest whole square unit

ample answer:
el o he square unit

T
Gaaa]
atataataln

AUEiaaL) i
i

Since the boundary of e rectangle fals
less than hai-way through he last column
of square unis, e last column of square
unis s not counted.

Count each square unt

The area of the rectangle s about 20
square uns.

ample answer
T —

TRl

=3

Since the boundary of the rectangle fals
less than haft-uay through te lastcolumn
of square units,the last columi of square
unis s nol counted.

Count the number o sauare unts in one
fow .

Countthe number o rous: 4.
Use repeated acciton {0 find the totsl
number of square unis
5454545220

The area of the rectangie s 20 sauare
unks.

ample amswer
one-hatof the sauare it

Sinca the boundary of the rectangle fals
less than hallway hrough the last column
of square units,the last column of square
it s not countad.

‘Count the number of square unis in one
row 5

SKip countfor each fow 10 find th tok
number of square units
5,10,15,20

“The area of the rectangie s 20 sauare
i,
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e
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Determine the area of the rectangle above to the nearest whole square unit

ample answer:
one-hal o e square unit

EENEICEONC]
T it
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Fih]

Since the boundary o the rectangle alls
more than half-way through th last
Golur ofsquare unis, he st column of
square units s counted.

s
st
e

Count each square unit.

The ares of the rectangle s sbout 24
square unlts.

ample answer.
one-haif o he square unit

pang
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Semdmmy

Countthe number o square unis in one
o .

Countthe number of rows: 4.
Use repeated aditon 10 find the totsl
number of square unis.
6464646224

The area of the rectangle is 24 sauare:
unts,

Sample answer:

‘one-hallofthe squars unt

]

i
St b o h il s
v e

column of square units,the last columi of
Square units s courled.

2
1

‘Gount the number ofsquare units in one
o .

Skip count fo each row o fnd the total
umber of square units
6.12,18.24

“The area of the rectangle is 24 sauare
units
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The hour hand is past the 7. The hour hand is past the 7.
Skip count by 5 one time, and then count on 2 more. Skip count by 5 nine times, and then count on 3 more.
The time s written as 7:07 and read as “seven o’ seven.” | The time is written as 7:48 and read as “seven forty-eight”
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9 hours
12 minutes
The time is written as 9:12 and read
as "nine twelve.”

3 hours
25 minutes
The time is wrtten as 3.25 and read
as three twenty-five *

7 hours
36 minutes
The time written as 7.36 and read as
“seven thiny-six

912

3.25

7:.36
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Which digital clock shows the time represented on the analog clock? Explain.

8:.19

9 &9

The time on the analog clock is 8.19 because the
hour hand is past the 8 and the minute hand is on
the 19t minute increment.

The fime on the analog clock is NOT 919 because.
the hour hand has not yet past the 9.
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Which analog clock shows the time represented on the digital clock?

11:24

The time on this analog clock is NOT 1124 The time on this analog clock is 11.24 because the
because the hour hand is past the 4 and the minute hand is on the 24 minute increment and
minute hand is on the 57" minute increment. The | the hour hand is past the 11

hands are reversed. This clock shows 4:57.
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Fad ot

loan iy Roarn

Numborof St

§ students feed their pets because the Feed Pets
baris the distance from zero to 8 on the scale of the

5 students vacuum because the Vacuum bar is the
distance from zero 1o 5 on the scale of the axis.

7 students do kitchen chores because the Kitchen
Chores bar is the distance from zero to 7 on the
scale of the axis

11 students clean their room because the Clean My
Room baris the distance from zero to 11 on the
scale of the axis
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Favorite Fruit

we OO O
omd OO OO
swarsl O O O 2
s O OO OO

Fruit

O-ssttenss

14 people chose apples because there are 3 symbols representing 4.
each and onehalf of another symbol representing 2.
4+4va2=14

16 people chose oranges because there are 4 symbols representing
4 each and no partal symbols
4+4+4+4=16

14 people chose bananas because there are 3 symbols representing
4 each and one-half of another symbol representing 2.
d+d+d+2=14

20 people chose stranberies because there ars 5 symbols
representing 4 each and no partial symbols
4+4va+4+4=20
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The school principal surveyed students to determine their favorite ice cream for the end of year party. The pictograph represents the
data from the survey. Eighty students voted for chocolate ice cream, 30 students voted for strawbery ice cream, and 50 students

voted forvanillaice cream.

Based on the given information, what key would complete the pictograph?

Favorita Ice Cream Flavor

chocolate | strawberry | vanila

votes

Answer





image231.jpeg
The school principal surveyed students to determine their favorite ice cream for the end of year party. The pictograph

represents the data from the survey. Eighty students voted for chocolate ice cream, 30 students voted for strawbery ice
cream, and 50 students voted for vanillaice cream

Based onthe given information. what key would complste the pictograph?
Favorite Ice Cream Flavor Answer.

9= 10votes

9- o
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A survey was conducted to determine the number of letters in the name of each student in Grade 2.
The results are shown below.
Organize the results in a pictograph

ample piciograph.
Number of Letlers i1 a Nama

ser s [ ]

ocs L ML
sor 4 L L
L

O-sstatens

sl OO
«{0000
«10000°

e OO

seahingit
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Sample TI0+ 3075
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Angie created a pictograph to represent how the students in her second grade class iravel home each day. Angie

realized she forgot to represent the students who walk home.

Ifthere are a total of 22 students in Angie's class. complete the pictograph o represent the students who walk home

How We Get Home

Ho Ho Mo

s | >0 Mo >0 >0 Mo Ho

walk

3
1=
1B

£

P

ample pictograph
How We Get Home

Ho Ho o

bus | 40 >0 >0 o o Ho

5
2
3

i

bicycle

Rnjisene
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A survey was conducted to determine what chores second graders were expected to do at home.
The results are shown below.
Organize the results in a bar graph.

Feed
Pats

Vacum

Kitchen
Chores

Clean My
Room

LSl

i

Il

L B

Sample bar graph
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Ange created a bar graph to represent how the students in her second grade class travel home each day.
Angie realized she forgot to represent the students who walk home
Ifthere are a total of 22 students in Angie's class, complete the bar graph to represent the students who

walk home.

How Wa Get Home

Sample bar graph

How Wa Get Home

Walk
£ e
£ car

Siyce

Walk
f e
£ o

Sirce

0 2 4 & 8 10
Number of Students

T2

T s s 0 1
Number of tudents
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Wite and solve a word problem using the data represented in the pictograph.

Which picnic e do you ke the best?

IS
= OOOOOOO
= | ©©©

1vote

ample problem
How many peaple voted for the park and beach combined?
Solution

5+7=12 12 people voted forthe park and beach combined

Sample problem
How many more people like to picnic at the beach than at the
2007

Solution:

7-3=4: 4 more people preferto picnic at the beach than the
200
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Wite and solve a word problem using the data represented in the bar graph.

Sample problem.
Trent and which other student read the same number of books combined
as Zach.

10 Solution

4+5=9 Trent and Jacob combined readthe same number of books as
Zach

How many books did you read in one month?

Sample problem:
How many fewer books did Kellan read than Zach?
Solution:

9-6=3; Kellan read 3 fewer books than Zach

Number of Books Read

Ketan
Zach

Stucents
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A survey was conducted to determine what type of fruit people preferred. The results are shown below.
What conclusions can be drawn from the data represented in the graph?

Sample conclusions:
35 people voted for apples

60— | 25 people voted for oranges
50 people voted for bananas

Favorite Fruit

g =0 0 people voted for kivi
2 40 75 people combined voted for oranges or bananas: 25 + 50 = 75.
3 60 people combined voted for apples or oranges; 35 + 25 = 60.
5 30 25 people combined voted for oranges or kiwi: 25 + 0 = 25.
£ 110 people are represented by the graph; 35 + 25 +50 +0 = 110.
Z 49

0

apple orange banana  kiwi
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A survey was conducted to determine what type of fruit people preferred. The results are shown below.
What conclusions can be drawn from the data represented in the graph?

apple

Favorite Fruit

orange

banana

Kiwi

10 votes.

Sample conclusions

Apples, oranges, bananas, and kivi are the types of
fruit being considered.

25 more people voted for bananas than oranges

10 fewer people voted for oranges than apples

More people voted for bananas than either oranges or
apples.

Kiws were voted for the least

Bananas were voted forthe most.





image240.jpeg
A survey was conducted to determine what type of fruit people preferred. The results are shown below.
What conclusions can be drawn from the data represented in the graph?

Favorite Fruit
60)

50
40
30|
20|

Number of Votes

10
of

apple orange banana  kiwi

apple

orange|

banana

Kiwi

0

Favorite Fruit

10 20 30 40 50 60
Number of Votes

Sample conclusions:
Both graphs showthe same data.

Both graphs showthat 50 people voted for bananas
Both graphs show that 25 people voted for oranges
Both graphs show that 35 people voted for apples.
Both graphs show that no people voted for kiwis.
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Alex created a bar graph to record the height of a bean plant each week. Based on the pattem represented in the data, what prediction
could Alex make about the height the bean might be by the next wesk?

Height of the Bean Plant

Heightin Inches

Week 1
Week 2|
Wesk 3

Week 4

Sample prediction
Based onthe graph, the bean seems to be growing about 2 inches each week. If
this pattem continues, the bean will be about 8 inches in week 4.
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A classroom created a graph to represent how students travel home each day from school. Based on the data represented, predict
what data might be represented if a different classroomin the same school created a similar graph.

How We Get Homa

Sample predictions.
Based onthe graph, more students in another class might also ids the bus
home.

Based onthe graph, riding a bicycle home might have the least number of
students in another class
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A restaurant surveyed its customers about their favonte kind of food in order to change their menu or to decide on daily specials. Based on
the data represented, predict how the restaurant might change from their menu

Favore Vo Sample predictions
Based onthe graph, the restaurant might remove chil from the menu because
chil was voted for the least.

Based onthe graph, the restaurant might lower th cost for the chilito
Hanbuger encourage more customers to purchase the chillbecause chi was voted forthe
least

Based onthe graph, therestaurant might offer mre varieties of hamburgers

because customers seem to ike their hamburgers

- Based onthe graph, the restaurant might have a daly special on hamburgers on

T T their slowest day of the week to encourage more customers (o eat at the
i mitamin | o et ey bakiaataa s e ha ot gl e
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Stey

in eams $5 each week for completing his household chores. Steven wants to purchase a new book that costs $20.

T Steven saves §3 each week. how long wil i fake Steven 1o
save enough money to purchase the book?

TFSteven saves S each wesk_ how long wil i take St
save enough money to purchase the book?

o

Sample solufion

We

1

2
Week 3
Week 4
Week 5
Week 6:
Week 7

Steven will have saved enough money alter 7 weeks.

Sample solufion

Week 1:0+
Week 24 +
Week 3:8 +

Steven will have saved enough money after 5 wesks.
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In January, Pablo put $30 in a bank account for saving. He will eam $1 interest on his savings for each month after January.
If Pablo does not add or remove any additional money from his savings. how much money wil he have in July?

Sample solution

January: 50
February. 50 +1=51
March: 51+ 1=52

April 52 +1
May: 53+ 1
June: 54 +1
July: 55 +1=56

Pablo will have $56 in Jul
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Riley eamed $30 for babysitting her neighbor's children. She decided to save the money in her savings account. Would Riley
be making  deposit or withdrawal?

nswer.
Deposit
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Mr. Hanshaw needs to pay his monthly electncity bill. He goes to his bank to get the money to pay the electric company.
Would Mr_ Hanshaw be making a deposit or  withdravial?

Answer:
Withdrawal
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Before visiting the bank, Delinda had a balance of $300 in her savings account. After visiting the bank, her balance was $330.
Did Delinda make a deposit ora vithdrawal during her visit 1o the bank?

nswer.
Deposit
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Before visiting the bank, Trevor had a balance of $300 in his savings account. After visiting the bank, his balance was $250.
Did Trevor make a deposit or a withdrawal during his visitto the bank?

Answer:
Withdrawal
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Ramona eams $10 every Saturday for mowing the lawn. On Wednesday, Ramona wanted 1o purchase a new game that cost
$10, but she only had §5. Ramona asked her mother to lend her $5 and promised to pay it back on Saturday.
Is this an example of responsible or imesponsible borrowing? Explain.

Answer.
Thiis is responsible borrowing because Ramona will have enough money to pay her mother when she gets paid on Saturda
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Ramona eams $10 every Saturday for mowing the lawn. On Wednesday, Ramona wanted 1o purchase a new game that cost
§25, but she only had §5. Ramona asked her mother to lend her $20 and promised to pay it back on Saturday
Is this an example of responsible or imesponsible borrowing? Explain

Answer:

Thiis is irresponsible borowing because Ramona will not receive enough money on Saturday 10 pay back her mother.
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‘The school cafetena sells ice cream as an extra choice on Fridays. Andi wants an ice cream but doesn't have any extra
money, so she asked her friend Wendy f she could borrow some money force cream
What should Wendy consider prior to making this lending decision?

ample answers
Will Wendy have enough money 10 buy herself ice cream if she lends some money to Andi?
Does Wendy need her extra money for something else?

Where will Andi et the money to repay Wendy?

Has Andi borrowed money before? If 5o, has she repaid the money before?

What vill happen to their friendship if Wendy does not lend Andithe money?

What will happen to their friendship if Anci does not repay the money?
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Robert received a new remote controlled car for his birthday. His friend Clayton asked if he could borrow the car to play with
over the weekend.
What should Robert consider priorto making this lending decision?

Sample answers
Wil Clayton be able to replace the cost of the car if he damages it over the weekend?
Is Clayton responsible and careful with his own toys?
What will happen to their friendship if Robert does not lend Clayton the toy car?
What will happen to their frisndship if Clayton damages or doss not rtum the toy car?
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Ann is wants to make beaded necklaces to sell at the local craft show. Each necklace will need 12

inches of elastic string and 20 beads. Using the price list below, calculate the cost to produce one
necklace.

Price List Answer.
Costto produce one necklace:

Elastic string - 50¢ for 12 inches

50 12inches of elastic string
Beads - 25¢ for 10 beads 30 oo

+25  10beads
100¢

It will cost $1.00 to produce one necklace.

The craft shows only T day away_ Ann needs 1o make 10 necklaces butwon have fime to fiish
them all. Ann offers to pay her friend Leslie $10 to help her finish making the necklaces
Using the same information from above, calculate the cost to produce 10 necklaces

Answer:
Costto produce one necklace = $1.00
Costto pay Leslie for her service = $10.00

cost of materials

——
Cost to produce ten necklaces =1+ 1+ 1+ 1+1+1+1+1+1+1+10=20

cost of labor

It will cost Ann $20.00 to produce 10 necklaces for the craft show.
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Compare 650 and 560.

Answer.
Thousands Units
Fundred | Ten One Fundred| Ten | One

[Thousand|Thousand| Thousand | 5
5 5 0
5 5 0

650 is 6 hundreds, 5 tens, 0 ones.
560 is 5 hundreds, 6 tens, 0 ones.

6 hundreds is greater than 5 hundreds.

Therefore, 650 > 560 or 560 < 650.
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Compare 325 and 235.

Answer.
Thousands Units
Fundred | Ten One Fundred| Ten | One

[Thousand|Thousand| Thousand | 5
3 g2 5
7 3 5

325 is 3 hundreds, 2 tens, 5 ones.
235 is 2 hundreds, 3 tens, 5 ones.

2 hundreds is less than 3 hundreds.

Therefore, 235 < 325: 235 is less than 325: 325 > 235: or 325 is greater than 235.
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Compare 1,017 and 496.

Answer.
Thousands Units
Fundred | Ten One Fundred| Ten | One

[Thousand|Thousand| Thousand | 5
il 0 7 7
3 £l 5

1,017 is 1 one thousand, 0 hundreds, 1 ten, 7 ones.
496 is 0 one thousand, 4 hundreds, 9 tens, 6 ones.

1 thousand is greater than 0 thousands.

Therefore, 1,017 > 496: 1,017 is greater than 496: 496 < 1,017: or 496 is less than 1,017,
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Compare 1,123 and 980 using a number line.
Sample answer.

PR |

900 1,000

980 is closerto 0 on a number line than 1,123.

Therefore, 980 < 1,123 or 1,123 > 980.
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Order the numbers 593, 1,118, and 771 on the number line below.

~-—+ + + + +
500 600 700 8O0 900 1,000

Answer.

~-—+H —++ + + +—>
500 600 700 80 900 1000 1,100 1200
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Order the numbers 593, 1,118, and 771 on the open number line below.

- -

Sample answer using zero

) + + — Tt —
0 20 40 600 80 1000 1200
Sample answer without zero (zooms i on the refative portion of the number Tine)
- +—t + + +

500 600 700 800 900 1,000 1,100
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Farmer Johansen bought three new cows for his farm. The black cow weighed
1,170 pounds_ The brown cowweighed 1,071 pounds. The spotted cow
weighed 1,017 pounds. List the weights in order from heaviest to lightest.

Answer.
1,170 > 1,071 > 1017

Listthe cows in order from ightestto heaviest

Answer
Spotted cow, brown cow, black cow
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‘Which of the following numbers is between 976 and 9677
A 917

B 966

C 952

D.975

Explain your answer.

Answer.

975 i between 976 and 967 because 975 is greater than 967 but less than 976.
The other choices are not between 976 and 967 because 977 is greater than
976, and 966 and 952 are both less than 967.
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Locate the position of the number 293 on the open number line below.

- -

Sample answer using zero

| 205

- 4 4 -
o 100 200 300

Sample answer without zero (zooms i onthe refative portion of the number )
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Locate the position of the number 1,118 onthe open number line below.

- -

Sample answer using zero

Lt

i ' 4 ' ' ' -
0 20 400 60 80 1000 1200

Sample answer without zero (zooms i on the refative portion of the number Tine)

1118

-t
1,100 1105 1110 1115 1120
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Determine the number that corresponds with point A on the number line.

G+ttt
0 80

>

Answer.
Point A corresponds with the number 30.
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Determine the number that corresponds with point A on the number line.

« + + + 4 + >
67 7 87 o7 17127

Answer.
Point A corresponds with the number 107.
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‘Which letter corresponds with the number 180 on the number line?
A B C D E F G H I

G————————>
150 190

Answer.
Point G corresponds with the number 180.
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Determine the number that corresponds with point A on the number line.

A
- . | -
< 2
g e
s 35
Answer:

Point A corresponds with the number 1,050.

>
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Four red rods equal one whole; thersfore,
four red rods represent four-fourths or 1

one whole.
one-fourth | one-fourth | one-fourth | one-fourth
one-fourth | one-fourth | one-fourth '

one-fourth | one-fourth '

one-fourth '

Four red rods equal one whole; therefore,
three red rods represent three-fourtns.

Four red rods equal one whole; therefore,
two red rods represent two-fourths.

Four red rods equal one whole; therefore,
one red rod represents one-fourth
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Ona whole dofined:

One whole can be parttioned into eight equa parts:
theretore, eight parts represent eight-eighths or 1

‘One whole can be partiioned ito eight equal pa
therstore, soven parts reprusent seven-ighs.

One whole can be paritioned into eight equal parts:
thersfore, six parts epresent sx-eighis.

‘On whole can be paritioned ito elght equal parts;
herefore, five parts represent fve-eighths.

‘One whole can be paroned ito elght equal pars;
herefore, four part represent four-eighihs.

(One whole can be partfioned into sight equal parts;
theretore, hres parts represent vse-sighths.

‘One whole can be paritioned into eight equal parts:
thersfore, two paris represent two-sghtns.

O whole can be partiioned into sight equal parts;
therefore, on part reprasents one-eighih
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A train of 8 linking cubes defined as one whole:

$4

"One train of eight inking cubes can be parttioned into elght
equal linking cubes: therefore, each linking cube
represents one-eighth of the linking cube train.

One train of eight nking cubes can paritioned qually into
four colors; therefore, the red linking cubes represent one-
fourth of the linking cube train.
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A folded paper strip defined as one whole:

EEE

One strip of paper can be folded into two equal parts; therefore,
each folded part represents one-half of the paper strip





image39.jpeg
One square defined as one whole:

One circle defined as one whole:

OR

One whole can ba partitioried into two equal parts; One whole can be partitioned into two equal parts;
therefore; each part represents one-half of the circle. therefore; each part represents one-half of the square.
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Two connected hexagons defined as one whole:
Four trapezoids will cover the two hexagons;
therefore, four trapezoids represent four-fourths or 1.

Four trapezoids will cover the two hexagons;
therefore, three trapezoids represent three-fourths.

Four trapezoids will cover the two hexagons;
therefore, two trapezoids represent two-fourths.

Four trapezoids will cover the two hexagons;
therefore, one trapezoid represents one-fourth.
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A rectangle on a geoboard defined as one whole:

Alarge rectangle on a geoboard can be partitioned into 8 smaller, equal rectangles;
therefore, each smaller rectangle represents ane-eighth of large rectangle.
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w0 equal Sze parls four equal size pars  elght equal size parls

One-half s greater than one-fourth and one-eighth.
‘One-fourth s greater than one-eighth.
With fewer parts, aach part s larger.
Wih more parts, each partis smaler.
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There are 3
stars.

Three-
fourths of
the circle is
shaded.
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One hexagon defined as one whole:

Counted as:  one-half, ~two-halves
or one whole
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Brown rod defined as one whole:

Counted as:  one-fourth,  tworfourths,  three-fourths,  four-fourihs o
e one whole

Counted as:  one-quarter,  two-quarters, ~three-quarters,  four-quarters
or one whole
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A folded paper strip defined as one whole:
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Counted 3
Countad as

Countad a5

Countod ax

‘Brown rog defined as ons whole:

Oneourth,  two-louths, vas-fourhs, fourfourhs,  five-ourthe,  scouths,  saven-fours, eght-ourts,  nioe-fourhe
onefouth, tolourrs, Wresdourhs, cnewhole,  Gesnd  oneand  oneand  twowhols, two and
onefourh,  two-fourths, v fours, onefourtn

one-quarer, bo-quartor, (hroequarters,fourquarirs, fve-cuarers, 8-quarters, seven-quarters, igh-quarers,  ine-quariers

one-quarer, o-quarers, (hree-quarers, cnewhole,  oneand  oneand  oneand wo wholes, wo and
one-quarer, oquarers, thee-guartes, one-quarter
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If one hexagon equals one whole, how
many trapezoids does it ake 1o equal

the whole?

A rapezold squals one-tall o the whole.

Two rapezoids eaual the whole.

172 hexagons equal one whole, how
many trapezoids does I take 0 equal
the whole?

A trapezoid equals ono-fourth of the whole.

Four irapezoids equal the whole

1f 4 connected hexagons equal one
whole. how many trapezoids will equal
the whole?

A rapezoid wil cover one-sighth of the whole.

Eight rapezoids equal the whole.
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If given 5 trapezoids with one hexagon
defined as one whole, how many
trapezoids does it take to equal the.

whole? ' ' ' ' '

A trapezoid equals one-half of the whole.

Two of the five trapezoids equal the whole.

Five trapezoids equals two and one-half
hexagons.

If given 5 trapezoids with 2 hexagons
defined as one whole, how many
trapezolds does i take (o equal the
whole?

A rapezoid equals one-fourth of the whole.

Four of the five trapezoids equal the whole.

Five trapezoids equals one and one-fourth
hexagons.
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example of halves
two equal size parts; same length as given whole

example of fourths.
four equal size parts; same length as given whole

‘example of eighths
eight equal size parts; same length as given whole
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non-example of halves
two unequal sized parls; same length as given whole

non-example of fourths
four unequal sized parts; same length as given whole

non-example of sighths
sight unequal sized paris; same length as given whole
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on-example of halves.
w0 equal parts; shorter than the given whole

on-example of fourths.
four unequal parts; shorter than the given whole

ion-example of eighths
elght equal parts; shorter than the given whole.
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non-example of halves
two equal parts; longer than the given whole

non-example of fourths
four unequal parts; longer than the given whole

non-example of sighths.
eight equal parts; longer than the given whole
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6+8

Sample solution

6+8
6+(4+4) Decompose 8into4 +4,
(6+4)+4  Make 10with 6+4.
10+4
14
Therefore, 6+ 8 = 14 or 14 =

+8.
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4+9

Sample solution

4+9

4+(10-1)

@+10)-1
14

13
Therefore, 4 +9 =13 0r 13=4 +9,
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4+10

Sample solution
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1+41=2 | even
2+2=4 | even
3+3=6 | even

even

odd + odd = even
even + even = even
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4+5

Sample solution
Double the smaller addend and add 1, or double the larger addend and subtract 1
4+5 4+5
4x(ae) (5-1)+5
@+t O (5+5)-1
841 10-1
] 9
Therefore, 4 +5=90r9=4+5
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1+2=3 odd
2+3=5 odd
3+4=7 odd
3+5-9 odd

odd + eve
even + od
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6+8

Sample solution
6+8
6+(6+2)
(6+6)+2
12+2
14
Therefore, 6+ 8= 14 0r 14.= 6+ 8
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4+6

Sample solution

5 is between 4 and 6. Double 5 is 10.
Therefore, 4+ 6=10 or 10 =4 +6.
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4+3

Sample solution
1f7-4=3 thend +

7. orif

_ 4, then
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LR

Sample solution
1f4+7=11 then7+4

1, orif 11

+7.then 11=T7+4.
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LR

Sample solution
7589101
Therefore, 4+ 7 =11.
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T4

Sample solution
756543
Therefore, 7—4 = 3.
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T4

Sample solution
45567

3 numbers were added on
Therefore, 74 = 3.
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i

Sample solution
1f4+3=7 then 7—
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even —odd = odd

even —even = even

even —odd = odd

even —even = even
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odd - even = odd
odd - odd = even

odd
ven
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